1+2+3+ - - - © -+ + 78+79+80
=(1+80)+(2+79)+ - - - + (39 +42) + (40 + 41)
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freurer forgr. fcwepiaes We gt S8 TR g o forar,

[EHTaR TS ARG SITom=aT fehel X & Y 3T&THT SEUIT=AT 191 Bided al =meiet. |
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. ToerenTft feaielt samar faawor aroft Sorester Excel sheet A% AR U, <1 GROMEEA
RERAT S84 9 TA9TeR@ Excel A& TR .
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%Erl
o T TATdI LT THIHT0 FISavT=aT EeKdl — TToRg Yeud, shat= Jeem.
o T TATAI L1 HHIRTOTT FITAE hLuITSIT HH IR0l

o THUTHRS THIeROTE IS,

(Eﬁ? TATAA 3 et (Linear equation in two Variables))
T GHIROUTHS 9 I dTRe] Sdid ST I STEAedT Ycdeh Y= shidd 1 3T9d
1 FHIHWAT S IATdial {6 FHIeR0T 318 T8Urdid, 8 3799 AT $¥cdd ST de 3778,

ax + by + ¢ = 0 3 3F JANA W GO 9EET IR, I q, b, ¢ A
e H&AT I a M b g THME dbl A FHdd gal oAl " ITg.

3. 3x = 4y - 12 91 @R 3x - 4y + 12 = 0 @ 9HEY IR,
Tl : Qe dReft qof .

AT gHteRtor 9 T W g AR skl A ?
1 4m + 3n = 12 .

2 3x* - 7y = 13

3 V2x-5y=16

4 Ox + 6y -3 =0

5 0.3x + 0Oy -36 = 0

4
6 —+£:4
X ¥y
7 4y - 5 -8 =0
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@aﬁamﬁzs Y gl (Simultaneous linear equations))

JegT IV TH T e 1T THiehuI=T Tehld dadl T shidl degl o1 HHIhLoTHET

ThHAHReh THeR0l FgurdTd.

rfidl $cdd Tl IAtal @Y e THIHTl TSl YeHdien AT SATI0T Shefl

IR, Il ASHATd IABU Fe

3. (1) Wi TohamRes THiso drgd.

Sx -3y =8;3x +y =2
3Jhed
Jal: sx -3y =38... ()
x +y=2... ()
TRt (1) <A gregt STt 3 3 L
% + 3y =6 ... ()
Sx -3y =8 ... (D
a7 gt (1) 9 (1) F= sl .
5x - 3y =8

Tox +3y =6
l4x = 14

Sox =1
x = 1 g fohAa afieRtor (1) wed 39,
3 +y =2
33Xl +y =2
L3+ y=2
y = -1
x =1,y =-17% 3Iha .
& 36 (X, y) = (1, -1) il fetfeara.

fa (1)
sx -3y =8... (I
x +y=2... ()

et (1) a%A y A1 A= TohAd X
1 =T w9 g,

y=2-3x (IIT)

smar y =t & fhwa @l (1) A=
39,

5x -3y =38

" 5x - 32 - 3x) =8

5% -6+ 9% =38

o l4x - 6 = 8

o l4x =8 + 6

o 1l4x = 14

S x =1

x = 1 & fohma gieo (1) 78 39,
2 - 3x

=
I

Ty =2 - 3xl1
T y=2-3

= -1

= -1 & Il .

Sy
x=1,p
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3q. (2) ®rEan: 3x + 2y = 29; Sx -y = 18
IHA : 3X + 2y =29.. . (D)ewr Sx -y=18 ... ()
feoielt Tientol y a1 I AW HEA Hied, EE! Wield dihdld A g foE.
TRt () & 2 3 T
LSk x [ -y x [ ]=18x[_]
Ll -2y = ]. .. (D)
TR (1) Aed |ie (1) fiesq,

3x + 2y = 29
+ - =01
L =0 Lox =[]
x = 5 g forma wfleo (1) A= 39,
3x + 2y = 29
L3 x [+ 2y =29
S+ 2y =29
: 2y =29 -]
2y =[] oy= ]

(x, y) = (L], ) & 3%t a1
3. (3) 15x + 17y = 21; 17x + 15y = 11
Ihet : 15x + 17y = 21. . . ()

17x + 15y =11 ... (I)

1 S HHIRUId X ST ) I HEUehiE! HACATSGe I8, 3T YhRe! TehHTHIIH
R0l Gigadd T a1 Clal THRUN=] ois 101 Ieierehl gdelt 3Edl e Adie 9
TRt fiesara. f SRt diggd iRl I Wes fHed.

R (1) 9 geffeor (1) a=1 s &,

15x + 17y = 21

+
17x + 15y = 11

32x + 32y = 32
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TR gieal SIS 32 | W

x+y=1... ()
iRt (1) Ay oA (1) =S .
_15x + 17y = 21
C17x + 15y = _11
-2x + 2y = 10
TR Sal ST9E 2 A 9T,
X +y=5... (IV)
gt (1) o g (V) I s .
x+ypy =1
+—x+y:5
2y =6 ooy =3
y = 3 g fhma st (1) 7 39,
xX+y=1
X+ 3 =1
Sox=1-3 SoXx o= -2

(x, y) = (-2, 3) & T I%a 2.

TrEEd 1.1
1. G el U7 HE ThAHRS THIHE! Hiedl.
5 + 3y =9 ———-- (D)
2 - 3y = 12 -——-- (I1) x = 3 &f.(]) 7 39,
wh. (1) 7 wh (1) A=A A Fw sx [ J+3y=09
Sx + 3y =9 3y =9 - [_]
+2x—3y:12 3y = [
x =] e |
xz% x=L y=|:3l

(x, y) = (], L)) & wfeporh set a2,
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2. Wil TshEMRe THieRl Eigdl.
(1) 3a + 5b = 26; a + 5b = 22 (2) x + 7y = 10; 3x - 2y =7
(3) 2x -3y =9; 2x + y = 13 (4) Sm - 3n = 19; m - 6n = -7
1 11

1 10
5) 5x + 2y = -3; x + 5y =4 6) — =—; Zyp==
(5) 5x + 2y X + 5y ()3X+y 2 2x+4y Z

(7) 99x + 101y = 499; 101x + 99y = 501
(8) 49x - 57y = 172; 57x - 49y = 252

(@ﬂ TATA I TfieRtuen 3@ (Graph of a linear equation in two variables))

ATl $cdd, e Il W THIRUET ATeg & Ush O 18] 3T@d 3™ 90
I 3R, St b el feciean oo gaa™ i @ Sl <1 gHieur=l 3ol
YA, qHE ol SRl S 1 FHIRUTA ATHEEd T foig gRie.

IEEWT 2X - Y = 4 I GHREET ARG HeEl.
IHRA : 2X - Y = 4 I GHIRUIET R HIRUIATER! (X, V) AT 4 hHiHd Siedl Heq,

X 0 2 3 -1 wiyd  Sien  fiesaar  nofia
Y 4 0 2 _6 | crEdcEyEml x & y AR A A
o, ») |0, -4)| (2,00 | (3, 2) |(-1, -6)| TAa =0 @ s
Ty gt B o e
2 (3—2)—1-Hl=—1 T

(_17 _6>

Y\

v
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AT HIEER X- AT 9 Y- 37
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T foig THE At @ fogd
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o

IR foige Fewes Hedmr ST TH
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= g v e, e 9%

SUC IR G RO )

fréeer o0 fRam 3.

0x + y = 2 g Tl FREl y = 2 W fAlgad. o1 giertum=n Aor@ X - STefTe

AT 3!, HRU X FGereh HiordrEl et o g% fogEn y fdws 2 g .

X

4

-3

Y

2

2

2

(x, ¥)

(1, 2)

(4, 2)

(_37 2)

TE X + 0y = 2 8 G0 x = 2 oW fdifgard 9 <M= Tc@ Y- 38wl
AR 3TEl.

Y b pe 1 R e R o
i g 1 9 = | THH
3 (2,3)
(-3,2) 5| (1,2) (4,2) y =2
1 (2,1)
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™
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TR FEaUETE T UgHd

( Solution of simultaneous equations by Graphical methodJ

XxX+y=4
X -1 4 1 6
Y 5 0 3 -2
X, ) |(=1,5) [(4,0) |(1,3) [(6,-2)

X+ y =430 2x -y = 2 A GHRUIE A0 higd A HOET HE.

2 -y =2
X 0 1 3 -1
y | -2 0 4 ~4
(X,y) (Oa _2) (170) (374) (_17_4)
AcEreld Yk foig

Al qal I qTET (2, 2)
1 foigd Bedrd.

w/E (2, 2) & wd S,
RUSE X = 2 ATy = 2
a1 fRudt, x + y = 4 oM
2x - y = 2 91 gl GHiRmn=
UM AT,

BN

-Y\

v

T S feRAdit feeten
THAMRS  THROE FHEN
B4, o feudt wue @
iR kel 7.

X+ y=43702x -y =2
qT THAMRE THEROTE Ik
X =2 My = 2 IR,

B TRl fREe ueEdH diggd A1 el TSdTs] w.
Tt () wed x = 2 & fohma 39,

x+y=4... () E
X -y =2... (I :
wfr (1) 9 (1) ah 3 wed,
3x =6 .. x =2 :

XxX+y=4
T2+y =4
Ty =2
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FAtl:x - y=1;5x -3y =17 THamRH FHHU TG TegdH AIsavamdmd!

et foetean anven qui e e fresan.
x-y=1 5x - 3y =1
X 0 3 X 2 -4
Y 0 -3 y 8 | -2
(x, ¥) (x, ¥)

o T feweh ugudien alie MowehigER fog e .
o TR 3T HIEl.
o (Al BeAfge Gk dral. cHe% UhHMINH GHIsR= Il forat.

St 11 : R feoielt Twamiies Tl FRea gy diggd, STcraesd Hare
EENICIREECICIIRI R

P

(T e wea
N

5x - 3y = 1 =1 AE FHIRUIHEE! Eieildl dRuid higl Hesreh higd foel 31med,
d e

X

0

!
5

Y

!
3

0

3

(x, »)

(0, -5)

(1.0)

(%)

o foig T FAEE! 7 Fewe HisH AR H?
o TIcv s WMYAMT Sl Hiess =, U foig T O "YU I5a ?

TEEd 1.2
1. Geiiel THAMR FHRU AEH FSauamad! drofl qul .
X+y=3;x-y=4

XxX+y=3 X -y=4
X 3 ]| [ X [] -1 0
y | [ 5 3 y o | [ -4
2. Wi ThEMRh THieu e digdl.
()x+y=6;x-y=4 2)x+y=5;x-y=3
B)x+y=0;2x-y=9 (4)3x-y=2;2x-y=3

(5) 3x - 4y = -7 ; 5x - 2y = 0 (6)2x -3y =4 ;3 -x =4
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X + 2y =4 ;3x + 6y = 12 & vHAMRIS gHeRw fooe oed, @ oTe@
U< Argauarardl ffvad holean el shitd e WieeTy= o 31T8d.

X+ 2y =4

3x + 6y = 12

X

-2

0

X

4

1

8

Y

3

2

Y

4

1.5

-2

(x, ¥)

(_27 3)

(0, 2)

(2, 1)

(x, »)

(_47 4)

(1, 1.5)

(8’ _2)

1 hifd SISl LA hed hiedddl JAToid Tl fear 8. @ Fheo s afur
fediean ggarer == .

A N
Y AT Gleel SIRTieR

6 1 1 &fi = 1| THh

h 4

(1) I8 el THTUE AToi@ Tehd 3TT8d ol 9= 3T18d 7

(2) X + 2y = 4 300 3x + 6y = 12 A1 UhAMIH GHIHUNAT Ihail IV ?
o1 TRt amRa?

(3) i gl FHIROTAT x = TEUeh, Y @ GV AT feeRue AHed hivra
ey fega Aar?

(4) SF wcridiel gF 1 el feeft srdr o ot STerg € T 1T Sheal
I B B IfEdl IS ?
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X -2y = 430 2x - 4y = 12 A FHIRONE 0@ STATHUE ThiE Heerepaegdiat
HET. Ao HOE S x - 2y = 4; 2x - 4y = 12 I THAMRS GHROTAT
Ihettal fomm 0. x Tl y 3 wEeh, dHE fRRue JreaTdia FegrEn foeR wEd e

<hlal.
[ii[-;ﬁ ICT Tools or Links

Geogebra software =1 WedH X-3&, Y-31&1 el fafay
THATRS THIRUTE TG higd el Iehall quTEl.

(ﬁﬁ'ﬂiﬁ (Determinant))
o 4| T geehel Hvedes 3. I (a, b), (¢, d) a1 Aesu A

a b

s, wia (), (4] % @ (3% =i arin, 1 Frrwerh <t 2 or, wron

o~

S 9 TOHId 2 Uk 3Td. g Hy=eh ol Teddrdl fafgen Sl & 9= ad-be

7.
j}é ‘ = ad-bc

TEUTS
a b ,
ad-bc S'T‘C d‘mﬁmaﬂ%ﬁmﬁw%’.

e A9 QoIETEt gamyeMy A, B, C, D, ......... 7ef SISl hivea 31
JMLdId.
SBAA dreaee s|Em BB
IO @l et foendt e
5 3 8 -3 243 9
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(1)A:§z‘ = (5% 9) - (3x7)=45-21 =24
on-=|, j‘ = [(-8) x (®] - [(-3) x 2] = =32 - (-6)
= -32 4+ 6 = -26
243 9
(3) B ) 13 =23 x 3331 -[2x91=18-18 =0

SLUGRCER

Ak,

@W Uegrt (ARt ugydt)Determinant method (Crammer's MethodD

feetel wshamie wHfiehtl Hica yeudie o shia wHl S arae ResEstea areaH
Argadm Jard. AT ThHMHRS FHR Hieauare Hyeseh qeud! U, & uegdt Tfsee
R a1 e TREe wiyT sieell v A1 ueudian et ugud SrEl TR,

a1 eudia fetell wehamRes @il ax + by = ¢ A ax + by = c
areft ferfeama.

oI, ax+by=c ... (I

1

foT ax +by=c ... (I

2

Wa,b,cd a,b,c o % T k.
AU & THEAMRG TR A ugud |ied,
gt (1) @1 b 3 o

a1b2x+b1b2y:clb2... (1I1)
gefteRer (1) & b 4 UM
abx+bby=cb ... (IV)
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gHiehtar (1) Ay (IV) ST hed
abx+bby=chb,

abx+bby=cb

- 2 1

(a b,-ab)x=cb-cb
Cle_ C2b1
x:albz—azbl o (V)
alc2_ aZCl
wamx%ﬁwqw,y:albfazbl (VD)

it Sshettmelied ¢ b- ¢ b, a b -ab,a c- aQClaTTrSﬁEW%GIW

2 71 2 1

foT Uie Sra Sateda fafgvamardt fFeaessa ' .
Gefiel FHRTdIA Tgureh a9 ferue uTal.

ax+by=c
At a x + by =c,
et (V) @ gl (VI) adfid x 9y Irean formet Fe=mehrean &umd fofg.

(2, (7). (0] 2 i

Cl bl
Cl b2_ CZ bl Cz bz
X = =
al b2_ Cl2 bl al b1
b
aZ 2
al Cl
ac-a.c a c
aTﬁTy:12 L (@b -ab)+0
a b -ab a, b,
b
a2 2
a a bl Cl bl al Cl
SEIREELRIEIC S b| = D, ¢, b * D_, a c| = D, 318 fog.
D D,
TRUSl UIeHITd X = D—x Ty =5

a: b C
D, D, D, 3 Tveas fafgoam (aj, (bz), [cj I7 TAYTET SHH AT 3dl.
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* DHdl D #fie [ZJ@xW%ﬂWWWN@Wﬁ@RW

b . :
°D, gél D mefia Ebj T Y = FEUhE Y TSl g, IS R g

}ﬁ%a&m@.

O ueHdt e hEmRe Tl argguar
(ﬁﬁaﬁwﬁwﬁax+by=cmwm)

(D, Danymﬁmaﬁwﬁmaﬁm.)
A\4
D Dy
X=D ay=3

4 )
Tifsret iR (Gabriel Cramer)
(31 91, 1704 @ 4 SHa, 1752)

37 feam nifvrasmen S fifiegr 99 wren. nfve fawama
SIS ST S0 Bid. ST 313U T T St
B gedt fiesTett. o ffegt 39 wmemss 2.
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D404 2 demeret samm B4
3q1. SRRl YU @lefiel UshHTHReh EHieRol |,
5x + 3y = -11 ; 2x + 4y = -10
Ik : foorelt T
5x + 3y = -11

2x + 4y = -10

5 3
D=|, ,/ =(5x4) -(2x3)=20-6=14
“11 3
Dx: -10 4 = (-11) X 4 - (-10) x 3 = -44 -(-30)
= 44 + 30 = -14
5 11
D, =1, _jo|=5x (-10) - 2 x (-11) = =50 -(-22)
= -50 4+ 22 = -28
D _14 Dy
x:—x=_=_1 y=_y=_=_2
D 14 D 14

oY) = (-1, -2) & fediem whamfes @i Sea oTR.
w1 : Tvoes degdy fooel thamie gl deauamEnd @refla dfehd! ol &,

<

y+2x-19=0,;2x -3y +3 =0

3%t : foorelt @fiel ax + by = ¢ o1 w=EIE fog.

X +y =19

2x - 3y = -3
1]

R et [ e T S PO s O ey Y
=L _ - 1=[""]

o R e O e R
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b, = |55 = [ED) « €1 - 1D = (C]
=L JI-L_J1=0L_1

D D
“Fx )

x = - I

= - y==-m

L ) = ([ @ oo ushEmies wHiehm=l S%hal 3T

i 2 ¢ wreler St ot .

.

{ !

]
XE:D y:%:D

L, ) = (L, ) & soa o
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S~ foam s

* ST, D = 0 3T, W Iholld TET HE HA?

* gMSH bl T A8, d oI FHIHON=AT W &Y HE 3TEA 7

e 1.3
3 2
L, o|=3x[J1-[_1x¢4 = 1-8 =[_]
2. @ieltea fAv=err=an fopadl el 75
3 3
-1 7 3
A P @17 o S ER
2 2

3. Wielld THamReh T shutedl gedi- drga.
(1) 3x -4y =10 ; 4x + 3y =5 (2)4x +3y-4=0;6x=28~-75y

(3) x + 2y = -1 ;2x—3y:12(4)6x—4y:—12;8x—3y:—2
1
(5) 4m + 6n =54 ;3m +2n =28 (6) 2x+3y=2;Xx- 5 =
Eﬁwﬁw
T TATIA [ THISRUTT EAIR hIUaTSit THIROT
(Equations reducible to a pair of linear equations in two variables)
Tl : @Iella JRof quf .
TR AT T W 31 i AT
3.4 _ g 2 EI|
X Y
6 3 _
1t y2 =0
7 13
el T 5,2 =0
14 3
x+y + X—y >
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¥y,
& B
D™ foem ===,

Fd GROA F TdATdd gl qHiehEl foofl ed. o W 9r@da; W o
gtertor= W gHiRNd A0 HidT s hI 7

E%ﬁ%aw%w.

eI IAmesy A q1 ded e AU A Tt [ v wehdl. &
T I IIET 99 GHIRET [ e ®9d foifgdr 9. ivcaE

m

— T STV BC I 3T Iehd T4l 7 fod& Tl
4 Y wreerett sqwem 4.4
4 5 3 4
331(1)1:!‘133”:;+;:7;;+;:5
4 .03 03 4
3he x+y—7;x+y—5

4@ + 5@] -7 ... D)
3@ + 4@ =5 ...

wﬁw(l)a(ﬂ)mﬁ(i]:ma(ij:nmﬂm@?ﬁaaﬁwﬁﬁm.
dm + Sn =7 ... ()

3m + 4n =5 ... (IV)

EGLIESUIEC

m =3, n=-1 % 3Ipd Head.

a@%r,n=i .'.—lzi Sy o= -1

1 .
S ) = (3, -1 g fedean wwmamties gHiRn=l Iha TR.
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w(z)aﬁw:xy+x+y—3,x_y—x+y:5
4 L 2 3
Senct x—y+x+y_3’x—y_x+y_5
SRR =)
4{x_y + 1 ,) =3 (I)
5] -l
2(x_y -3%,) =5 .. (M
1
aﬁw(l)a(ﬂ)mﬁ(j}:aa(ﬁy]:bé%gaﬁawﬁaaﬁﬁm.
4a + b =3 ... (I
2a -3b=5... (IV)

R () & (IV) |iegqd a = 1 371 b = -1 91 Ieholl THesam.

™ a = [xiyj ab - [xiyj
)=o) - -

x-y=1... (V)
x+y=-1... (VD)
gt (V) @ FeffeRtor (VI) |iggd x = 0 701 y = -1 A1 Iehet! fHesdra.

So(x y) = (0, -1) & Tooien TR S%A TR,

L
E‘: " foem ==

b B
=

el IS T UTARA e ATelel! ThaTdRes il e ugerdy
qieacll oTgd. o Tl hiteal UeHdH fohal oToi@ UewdH Higac

YAl FE Iohed! USdIA T d HEA TTaT.
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Tl @ Rl HHIRUTE] Ihdd HIQUATETS! @It Sl .

5 B 6 3
o T2 Ty y2 =
1 =)
x—1 =md L y_2 :né%,
It Gt 6m - 3n =1
TR e, |
m=0Llan=0»1]

m a n = fed S e wsE

]

x:|:|\?=ry:|:|

e y) = (0, )| @ fedea twamiie arfier Shd SR,

e 1.4
1. Wl ThARe THiR Hied.

(1) 2355 ; 8 v 3.7
x oy Xy

) 20 2, B 5,
xX+y xX—y xX+y xX—=y

(3) 27 +i285; 31 +i:89
x=2 y+3 x=2 y+3

1 1
+
3x+y 3x—y

1 1 1

3
47 2Gx+y)  20x-y) 8

(4)
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(QEFHWEEB iR SUA Application of simultaneous equations )

ferar.

|

grefers 99 giefi=ar A=A
guduE 8 Uil wHl TR,

[

< [t Tmeies. LEIEIEEIRR S
T X 99 IR, T
4aufc@°fmaﬁ%‘aa O mefes 9 et w
ardeRuET 3 ANl y & am. W W | | g w0
Fi g, 25 9Y TR.

3q1. (1) U1 AT gRidt 40 Tt 318, SATdTEl el & wEreAT queiiE 2 H e
AR, T A el o & HIEl.

SRSl : THS, AT @l x W 9 &y IR
ufeean SEER -

2(x + y) = 40

x+y=20... ()

GE STER -

X =2+ 12

Lx -2y =2... ()
gt (1) 3 (1) feees geudy |ied.

X +y =20

X -2 =2
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1
‘=[1><(—2)]—(1><1)=—2—1=—3

1 -2
20 1

Dx=2 _2=[2O><(—2)]_(1X2)=_4O_2=_42
1 20

Dy=1 2=(1X2)_(20X1)=2_20:_18

X =149y =6

S, AT Ael 14 g 9 w67 6 T TR,

. (2
= () Id | TA I TA ! B o fead
HIEAThHS HIEl I IHAA! M el fefiied e’ aRd.
Hl gaddi=a etd faeumr 1.
gfgean feaamh fosht a1 feaarh fosht
HI¢ Il SIS = 11 Fe A =S = 22
fefttea o=’ =6 feforea o= =5
e Tt 4330 3. T s 7330 %.

W M fosrdiedt g% Y= gl fohaa ferdl ?
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IhA : TES, HIE AT Uehl HUSIISBME] fhAd = X 3.
9 e fefSed oerer=h fhrd = y =.

feean SR,
11x + 6y = 4330 . . . (I)
g SRR,
22x + 5y = 7330 ... (II)
gt (1) & 2 9 T,
22x + 12y = 8660 . . . (II)

geteRor (1) weE gt (1) =SS .
22x + 5y = 7330

_22x + 12y= 8660

-7y = -1330
Sy =190
y = 190 & forma wfehor (1) A=Y <4,
11x + 6y = 4330
4330

. 1lx + 6(190)
11x + 1140 = 4330

11x = 3190
S X = 290
S, I IEACH] Ukl gl fhad 290 . 9

ThT fefSed Tsgmesr fohma 190 ®. 3TT.
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3q. (3)

Th A6 6 I FererAr faegy = 9| 13 qEa Jargre foeey
fem 16 fomft o o fesm feRr 36 foprt amfor wamer=an fesm
24 Tt 9. 48 foreft Sd.

e S} AT Y YT 9 o YaTgrET o fohdl ?
Shel : HE, JEl Y g o = x foRrfl/am, 9 vargEn 9n =y fohdfl/ae
c. AT yargren fEn an = (x + p) fodft/am

=T arere fagey fgom o = (x - p) TRdft/am

. A
3@?—-%“)(&@ . éa —jg;

A yargre fagey fem 16 fortft smoamm @mom de = %?ﬂ“&

24
xX+y

et aTer=AT feeid 24 ol Soamg @rong 98 =
qfgedl FEIER,

16 24
— +
xX—y xX+y
36 48
+
X—=y xX+y

Eﬂﬁw(l)a(ﬂ)q‘éﬁizma
16m + 24n =6 . . . (1)

=6 ... (I

=13 ... ()

1
x+y

= 1 3 WA gH FHIREl fHesard.

36m + 48n = 13 . .. (IV)
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e () @ (V) @8 m = ~, n = —

47 12
m d n = foadt g1 390 @ielia aviel fiyesdrd.
xX-y=4... (V)
X +y=12... (VD)

TRt (V) 9 (VI) Higadl! 3l x = 8, y = 4 31 fopdt fiyesara.
. JTeET B 9ot o9t = 8 ToRt/arE 1ot Jemen 9 = 4 et /A
3q1. (4) FIE WHA HE TAFT TRE! dreel. SX 10 ol S T X JehE 2 ¥
i fiasiel 3@ oMo SR 15 gt it o7&t @ Teh! 6 ¥ Jed fasier 97,
T TR WY TRl Bt e off @Ry foRdt gern arecti?
IHA : AT &N X HF 9 TR WSk WehH Y T A,
S, TRU Xy €9 9.
Jfeea SFETER,
(x +10) (y - 2) =xp
Xy - 2x + 10y - 20 = xy
. - 2x + 10y = 20
So-x+5y=10... ()
qEA SFEER,
(x = 15) (v + 6) = xy
Xy + 6x - 15y - 90 = Xxy

6x - 15y = 90
2x -5y =30... (I)
TR (1) wed gt (1) firesq,
- X + 5y =10
T oox - sy =30
x =40
X = 40 g fhma Rt (1) A 39,
-x + 5y =10
=40 + 5y = 10
5y = 50
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y =10
THU WHA = Xy = 40 X 10 = 400 &.
40 AT 400 T93 OR@ dred.

341, (5) T o 3T e fa=an ST il 17 U2 IR, oI §dd 198 fHesacad
T 3 3T M AT T esd, U Teheh o Ideh TAMTAT bl
SO & Huear FHMUT 1 7 HH IR, a i dF 3Tl @A M.

IR : IAREIMAT b X A 9 ThhedH =T 3eh ) A,

ceh TAMET (HEAT) b = 2Iehl=dT hi=al siolua 1 3 Hial.
NGED Th THF
X X +y+1 Yy
S T SR @ = 100x + 10(x + y + 1) + y

= 100x + 10x + 10y + 10 + y = 110x + 11y + 10

I T SRR SRS = x + (x + y + 1) +y = 2x + 2y + 1
;. digedn STEgER,

d R T = 17 x (3ThE 90)

110 + 11y + 10 = 17 x (2x + 2y + 1)

o 110x + 11y + 10 = 34x + 34y + 17
T76x - 23y =7 ... (D)

feciedn i o7 Iaedl huH fogd el et s

= 100y + 10(x + y + 1) + x = 110y + 11x + 10
feoielt w=am = 110x + 11y + 10
feciean ga=an figEn, fodieh d@am + 198 = 37 3oic AW Higd fHeswie we.
110x + 11y + 10 + 198 = 110y + 1lx + 10
99 - 99y = -198
S X -y = -2
weE x =y -2 ... (1)
TRt (1) "= festeredt x <t fhwa oot (1) 7 o,
76(y - 2) - 23y =7
So76y - 152 - 23y = 7
53y = 159
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y =3 . Weheh TYEET 3 = 3
y = 3 @ forda g (1) 78 39,
xX=y-2
x=3-2 =1
x =1 . WAk TYEET 3 = 1
TIH TYEAT Ik = WHA b = X + y + 1 =1+ 3 + 1 =735
feorefl @9 ofht W& = 153.
EEd 1.5
1. 3 FEmHid W 3 I Hie e fave i e s e A s 19
M. T AT T M.

2. ot i+,

2x +y + 8

-
2y ST TR, X + 4 x for y = fopedi

-

4x-y

N
( IS Behes o aRfirdt et )

3. dfedr=a AWM A=Al g gUe H@eed® SiW 70 Id I goAreAr qumed
gisar=ar s A=l goae fHesaearE sfs 95 Ad. @ JE=T 99 el

4. TH JYUIHTET BG N SARTSAT GUEUET 4 4 HIST 3@, T I A0 DG q=al 6 F HHl
%ol T DG 7 AT 12 9 Brdl, X dql UMk I,

5. 10 AN &HAT STEUTT HIGEE ghAS A 3T B M g fafimse aSman de
AT ARd. SR A ThR=aT 150 U1 9 B Y=l 100 U e ol gehel 10
A &HaT QU Bd. SR A TR 260 eI WieAT R a1 geh o=l 10 A=A U
FHAA WOIH B THhR=AT 40 Yed ARTA. W Todsh Yehreedl Ueie o fehd ?

6. e 1900 Forrl STl BT S SE W SO FaU REET q el sEe
TuEdl 91 60 Tt @ @ oy, w fommmn wEd 9w 700 fei/am M. SR owmn
YaTE S qEd U ohall 38 A oo s foRdt Rt SemE ket ¢
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TehIUT TgEwE 1

1. Geia JemEme! feetedn qaimiehl e e fHaer.

(1) 4x + 5y = 19 =1 @ HEWERI x = | 3FaHT y = fohma foret ?
(A) 4 (B) 3 (C) 2 (D) -3

(2)xayﬁaﬁmﬁwwﬁmaﬁwmm1ﬁme:49,Dy:—63a
D =7 3@A ®x = fhdl?

1 _
(A) 7 (B) -7 © > ) =

(3) f7 _i a1 TvemehrE fohra fodi 7
(A) -1 (B) -41 (C) 41 (D) 1

(4) X +y =3 ;3x -2y - 4 =0 F THamRH qHwl HegwEmEEt D =t
fehHa foett ?
(A) 5 (B) 1 (C) -5 (D) -1

(5) ax + by = ¢ ; @ mx + ny = d I THAARG THROIHE K
an # bm W fediean gt -

(A) TH el T (B) 3d Fo.
(C) 378 3ohedl TEAIA. (D) Wed T Ihadl AT,
2. 2x - 6y = 3 I FHIRWMET ICE HEIME! @iea areft quf .
x S5

y [ ] 0
(x, ) [ ] [ ]
3. Wielld THamRe aHiehml ATog Teedi- dredl.

(1) 2x + 3y =12 ; x -y =1

(2) x =3y =1;3x -2y +4=0

(3) 5x - 6y +30 =0 ; 5x + 4y - 20 =0

(4)3x -y -2=0;2x +y =38

(5)3x +y =10 ; x -y =2

4. @refte fveeerren fradt wrel.

(1) (4 3 (2)‘5 —2‘ (3)‘3 —1‘

-3 1

27 1 4
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5. @ielldl ThHMReh AHiehl shATEAT USHdM Hial.
(1) 6x - 3y = -10 ; 3x + 5y - 8 =0

(2) 4m - 2n = -4 ; 4m + 3n = 16

5 1 4
(3)3x—2y:5;§x+3y:—§

(4) 7x + 3y =15 ; 12y - 5x = 39

) X+y-8 x+2y-14 3x-y
2 3 4
6. Wefid THaMRes THieRl digal.

2 2 1 3 2 7 13 13+7

(5

1 T*5,76 ¢ 7570 2) 52 i+l y42
(3) 148+231:527 : 231+148:610 (4) 7x—2y:5 : 8x+7y:15
x oy X x oy x xy xy

U S 5. 2 3
(5) 2Gx+4y) 502x-3y) 4 ° (x+dy) (2x-3y) 2

7. Wil wfecsh 3eTEW0 i,
(1) Teh CF 3Th! &I 9 fa=a1 Tl Aedded wed IR T I <9 143
AR, T fecican T&diel Usheh TUM= 3Tk &1 b LAH=AT 3T 3 F Hidl

IHA T eiell Yosel HE&A HIUC! 7 Ical HIEUATEIR! @iefd el 01 .

TOST Tehh TAHAT 3 = X

T TYEE b = Y
Lo EEn = |y + x
SFH TeAEEd HEd e wem = | | x o+
e e,

T 3Thl U1 + ITHNE] ITcATEed hed HUI F&aT = 143

10y + x|+ [ | =143
[ lx +[ ]y =143
x+y=[1..... (I)

:
ﬁ
%.
:
ﬁ
%

)
1
=+
w

=p3papapapapapapapapadapapadal 25 K EEECEEEGE



(D) 9 (1) It s e,

2x:|:| Sox =8
x = 8§ gt (1) A8 o,
X +y =13
8§ + [ | =
y =[]
A g1 = 10 y + x
=[] +8 =58

(2) HAETEHT GHMATT SIS Thal =81 9 U= Tohdll TR HATUTCH. MG ST ATATETS!
AT 50 ¥ NqWE G drel. IEel e TR 700 ¥ @9 Sl T
T 318 TuSicl, hl AT T AT AT Ay I - wu= Hesad. e
nfg=rmd < 2 foheuim =@t o 7 fohelii| ETER AHATET ATTEe, deal o=l 880
T @9 AT, aX gl ST GEl A= Gidfhalilid €t hial.

(3) ISR 100 TRl A2 X |9 50 wwRreAn e [y ]

v
' ,
ISHIAT e Tl e e faett e g ITeaTsed
wurd feotefl @em 2500 T9d e 98 fod 3@a @ @ WA 500
““““ T | el

THeRtyl diggqd 3cal foTal.

100 ®q@re diersn @@ [ | 50 wwEteAn dwerh wem [

(4) w1 i wfedm e TSl ST SRS 31 99 oM. 3 aNigel WA a9
GidT=aT o1 Jes<al IATHT dUS 8ld, al oI Qi A=l 9F el

(s;wwwmawaﬂﬁmawmwﬁwrﬁm 5:3 Q. Wl
I AT TehT THIA ST Thl feadm=T THUT TSR 720 T AR,
TIeh P HITTRIET AT FHIA ST ISR HIel.

(6) U s T A S B & G fhml ea. wide sit 30 Fet o, wi
HCRAER A I B =1 f@H Svam feadl. @ 9 SE% HieRARehaH
B o A =1 fesm soam freer. 9 e 20 fafer 3
T Hedld. SHG U care gl Tee foey fez
AT STEAT, T AT §HIE diF drE=T Hedl 3T9dn, @X ] _
T YeTETET A fhdt B 000 46PBEG _
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PR

e,
o FGHIHI : 3MBE e FITEHIRTOT HISavaT=AT Uged!
o FHHFUTA o= W&~ © b I TV A §aYl

foreameff o, SacaT Tad el STl 95U fiehall STTaId. ATHE SEUCI SIdiae BIUR SR
VT STV Tehl AT ST SgUGr= hidl Teh 378, faar T sguet smfor f=ht et gH
315, ot ant sigudl weuram.

el : WTefiel Sgudi= {19 Sgudl ST i SIguel 378 sfientor .

5x + 9, x* + 3x -5, 3x -7, 3x*-5x,  5x°

JTIUT T 7 gUere! fohAd 0 T 51 HHiehtl fiiesd I S1vaTH . TSI THTehtuTalt
IEHISRTOT TEUTATA. STTIUT GHfeH SHaATa 3THeh oedT IT S e eRLuT=T TR Shidl.
IGTENUT : FehaH 200 SH! §ABeET= Teh STIAThd! @S TG hall. YESTE ATel &l A=A &¢rug
10 Te SITEd Bieft, T e sp@eTeh et o &t fercft et 2
AT EeT= €61 X Wt 3R,
oAl = (x + 10) W
STRIATRd! WS &Ahes = TS X &I
S.200=(x+10) X x
C.200=x"+10Xx
wRueE X2 + 10x = 200
X'+ 10x-200=0
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3T X2 + 10X - 200 = 0 g SHTEHIRT HIged 0T @S &¢1 9 TATel 31q IIehdl.
FIHHIHT el FISTE I ATV JRATH Hh.

et : X2+ 3x -5, 3x% - Sx, Sx?; AT AGIG! HAREATA [Tg cATdiie G Heurehi=
Treqor v 9 feprea SieRdia T wehR forar.

X*+3x -5, 3x*-5x+0, 5x*+0x+0
+ CImgpemagHE (1], [3] 3 [5]smd. w0 .
+ x3wmEpsmagEa 3, [ | 3 [ ]ema.

+ fermeemwn [, [ ] 9 [ ]ema.
Y gH=T 9 fae= sguemed frTg 0 31T

(@hﬁﬂo‘{mﬁ ¥ €4 (Standard form of quadratic equation) )

ST Toh! Il HIRLOTT € =Tdieh U1 §&AT 3T FATa AieTd HisT =Tdieh 2 3THal, o
IferHeRToT ST

TAE &G ax’ + bx + ¢ = 0 @ TARATId. ax? + bx +¢c =0, IMH q, b 9 c IEd
T 3T @ B Y HEAT 3T,

ax? + bx + ¢ = 0 I THEATAA THIRLOTH SHTEHHRIIT HIHT-T €9 TgUTdTd.
el : @A o o7 .

et G &Y a b @
X'-4=0 X*+0x-4=0 1 0 -4
V=2 =T |
X*+2x=0 |.........
04,0404 Hreaeieh e 04,04 04
3. (1) Wieiieshl hIvTdt FHTH STaHIRTO 3TTEd d 3T,
(1)3x*-5x+3=0 (2) 9" +5=0
(3)ym*-5m* +4=0 4)d+2)(-5=0
Shet: (1) 3x2 - 5x + 3 = 0 IWE X g Uohd I T A= Faid HIST 9Tdeh 2 3Tz,
. 3 OHieRtoT arteieRtor oT1R.

spapapapapapapapapapapapapaps SO D R



(2) 9% + 5= 09meA [ | =t 31T I Hald Hial °1dih || 378,
M :ticouichiticoul IR
(3) m® - 5m* + 4 = 0 IHA Tehd 9 TTA a1 IAT= ald HiST =Tdieh 2 Tl
M :ticouichiticoul IR
4)U+2)(-5)=0
SAI-5+2(-5)=0
SoP=-5l+20-10=0
SoP-30-10=0 IMA[ |2 UHT = G AT TEid HIST AR | | IR,

AU TS

K]
(w’raﬁwun%ﬁ & (IFett) (Roots of a quadratic equation) )
39T 3T ST Uifee TR ol x < ¢ & fohma e Sgud=h fohda I 3a 318d, ™
(x-a) B < IgUCET STaId STEA! U p(x) & TgUeH 3T MM p(a) = 0 38A W (x—a) &
p(x) =1 TFE Al A1 FRuedid a & p(x) = 0 < Teh Iohad T8 fohdll @ 8 p(xx) = 0 = T HeB 3R

3TY U,
EERSUIRH

|
|
X+ 5x -6 AMEGIS x = -6 3, |
|
X*+5x-6=(-6)"+5%x(-6)-6 |
|

=36-30-6 =0 | =4+10-6
|
|
|
|
|
|

x? + 5x - 6 IATFEIEH x = 2 3,

X+5x-6=22+5%x2-6

Jox = -6 X2+ 5x - 6 1 THRE Th =8 #0
Ihel TR, TN -6 8 X% + 5X - 6 =0 Cx=2B®XX 4+ 5x -6=0 =A@
T FHhIUTT Teh 5 3TTR. GHiRTOTT=N e TRl
B4 dreaeet sqrm B85

3. 2x2 - Tx + 6 = 0 I gHRwom=AT (i) x = % ATfOT (ii) x = -2 AT 3okl AT T B 3T,
3et: (i) 2x - 7x + 6 I FFIGId x = %gﬁﬁﬁqﬂéﬁls@l‘qﬁ%ﬁﬁmﬂm

3\ 3
2x2—7x+6=2(5j —7(5j+6

=p3papapapapapapapapadapapada 3 K EECEEE GG



U9 2
—2XZ—?+6
9 21 12
:E——2+—2 =0

~. 1 TR X = %gﬁwmaﬁ.
(i) 2x* - 7x + 6 1 9gUEH x = -2 & fhAa 397 Igud=h foha wrg.
2XF = Ix + 6= 2(=2)* - 7(-2) + 6
=2X4+14+6

=28 #0
Sox=-2 82X - 7X + 6 1 GHIRTTEI Ished ATEI.
Tl s SRX = 5B AX? - 14x - 5 = 0 7 FHlRLoTT=! Ueh Hgs 3T8d, T k =i fohrd shrevamanet
QT e i .
SheA:  kx? - 14x - 5= 0 I FEHRTTE Th GBS [ | 3R,
coox = [ | @ fohwa st anteieRtona 39,
g k|:|2— 14 _]-5=0
5. 25k-70-5=0
so25k-[]=0
o2sk=[ ]

k==
[

=3

T 2 e
(1) ax® + bx + ¢ = 0 g THHHWM GH= €Y 3Hd. I1d ¢, b 9 ¢ 9&qa

T 3T @ & YA ST ST
(2) T s fRudiAT SrTEERTRAT giRel ST 99 g, (FUSE

TR G Bid) oI fRAdiAT SEHIRT=AT Ihell  fehaT
FIEHIRTUTT=N eb TEUTaTd.

spapapapapapapapapapapapapaps SO D R



e 2.1

1. HITTE! G et forar.

2. QeAie THieRTuTeh! STEHTeRTol Shivd! o STET.
(1)Xx*+5x-2=0 (2)y*=5y-10 (3)y2+l=2
(4)x+§=—2 (5)(m+2)(m-5)=0 (6)m3+);m2—2=3m3

3. @l @il ax? + bx + ¢ = 0 I TwuId foTgl. Y& a, b, ¢ = fermd 3.
(1) 2y =10 - y? (2)(x-1)?=2x+3 (3)x*+5x =-(3-x)
(4)3m* = 2m* -9 (S)p(3+6p)=-5 (6)x*-9=13

4. FEHROTEAR foorea Sar=a fohrd! T FHehtuT=N §e 3Td i ATal d 3.
(1)x*+4x-5=0,x=1, -1 (2)2m2—5m=0,m=2,§

5. SRx =3% kx? - 10x + 3 = 0 1 Trfiehvr Ueh g3 318 X k =t fohmra fomeft 2

=)

. Sm? + 2m + k = 0 1 FEHRTE T 4B _?7 318 W k = fohma revamEe! @refie sl

907 .
IHEA: Sm+2m + k= 0 T aEHETTR S | IR,

som = | = et 3,

5><|:|2+2><|:|+k=0

S+ |+k=0

S ]+ k=0
f=

31oT ARt ot Siguet A Fehma X2 - 4x - 5, 2m? - 5m, a® - 25 I Segud TauE

TTSTATAT FEH ST HTad. WITHd | e ATel ISTeUT Hal.

el : Wil aegIeid 3T qTel.

()x*-4x-5 (2)2m*-5m (3) a* - 25

=x'-5x+1x-5 = =a’-5

=x(....)+1(....) =(C...) (....)

=(CG...) (....)
=p3pIpapapapapapIpIpIpapapaIps S LSS S SIS S S S S S L




K]

AU S

(mmwmmﬁg@m

(Solution of a quadratic equation by factorisation}

JTHUT TATAT ATTeRTSSAT TehHdT CH FTHHIhIUT=N He3 Siaei!, W & GU ded AR Jead
TR, FEUT SATIT AT WA SHTEHIRL0TT= Gob 3Tad UGH ShIGUATHT ST¥ITH FHIUTR 8.

X*-4x-5=x-5)(x+1)

Y (x - 5) T (x + 1) TTEGIGI X2 - 4 X — 5 GH T TIS ATed. T X2 - 4 X - 5
T UG WS X2 - 4 X - 5 = 0 g SHIEHIRT @I TayH T folfgan J5d.

x-5x+1)=0

IR g TN TUITERR I ST, T 1 g SEAiieh! [hHTH Ush ST I 319,

. x-5=0fFIx+1=0
x=5 fparx = -1

. Teciean enfaietom=h ge8 5 amfor -1 1A,
7 3SR HigadH1 A9V JoH Fiaguerd ¢F WM fadd esaa. a1 {diar arieient

ST TFd TeHd 34 T,

2408 04 wreaeredt e 28 04 04

31, Wele STEHIeRTl e eHd - diedT.
(1)ym?>-14m+13=0
(3)3y*=15y

(1)m>*-14m + 13 =0
Somr-13m-1m+ 13 =0
.. m(m-13) -1 (m-13) =0
Sm-13) (m-1)=0
m-13=0frTm-1=0

m=13 fharm =1
. feciean arferfieRtom=h g& 13 amfor
1 3.

(2)3x*-x-10=0
(4)x*=3

(5)63x*+7x =3

(2) 3x*-x-10=0
So3xP-6x +5x -10=0
S (x-2)+5(x-2)=0
SBx+5)(x-2)=0
s 3x+5_omx 2=0

" x:—— fparx =2
ﬁéwaﬁwﬂww@@—— afor
2 TR

=papapapapapapapapapapapapaps SO D R



(3) 3y =15y (4) x*=3
530 -15y=0 SLXP-3=0
L3y (y-5)=0 Sxt - (3)P=0
L 3y=0fkaT y-5 =0 S+ 3)(x-43)=0
woy=0fRay=>5 X+ 3 =0fRETx - 3 =0
. TR ged 0 37T 5 . Soox=-43 TeEx =3

. Tecreon arfadierto=h g8 - 3 stifor 3
(5) 6\3x*+7x =3

6B+ TIx-3=0 L 643 x=3 = -18
I -18

6B XT+9x -2x - 3=0 ! 9/\2

S3Bx(2x +B3)-1(2x+3)=0 E 9=33 x3

(2 +V3)(3VBx-1)=0
2+ B =0fF3Bx-1=0
So2x=-3 S 3Bx=1
—? %ﬂx=%

. V3 i
. IO g3 —734TFJT N

X =

e 2.2
1. QA SrTEHieRl Te=E Ugediy |l
(1)X*-15x+54=0 (2)X*+ x-20=0 (3)2)*+27y +13=0

(@) sm=2m+15 (5 -2x+5 =0 (6)6x-
(7) V2X* + 7x + 52 =0 g TaHIh Jaaaueed- HeauaTard! @iefiel shil guf .
IhA(7) L2X2+7x+542 =0
LR+ |+ | +542=0
Sox(Coa. . Y+ 2 (... =0
Ep3PpIP3PpIpIpIpapIpIPpaPpIPpaps S S S S S S S S S S L




(connn )=0 R (x+ 2) =0

ox=[ |fRex=-
;. e g | | enfir - 2
8132 - 2d6 x+2=0  (9)2m (m - 24) = 50

(10) 25m* =9 (11) 7m* =21m (12)m*-11=0

AU A

al;

g - J

ot
@Solution of a quadratic equation by completing the square

Teremes

RN

Teremes

aut

Teremes

T

X2+ 10X + 2 = 0 g THHRT 3778 <hl T8 ?

cBNEL BT A ax? + bx + ¢ = 0 IJTEIM 372, AY X AT I ST SITEd =TdTeh 2 312,

a = Tohwa I 8.
g HYeRTuT JrTel TreadT IS <l ?

. TR B, T 2 T G Y I A8 AT A, hl A= s 10 As.

TRV 3TRT 3TEL0l HISavaTHIS! JmTes! {id aawrelt rTd. & {d JHed ¥9s.
X% + 10 x 31 Tefid I ug fiesed weh qut st firesy,
X+ 10x+k=(x+a)

X2+ 10x +hk=x*+2ax + &

. TEUTRTE ol A, 10 = 2g 3T k = o
a=S5AMTELk=a’=(5)=

A, X*+10x+2=(x+5)?-25 +2 =(x+5)*-

X+ 10 X + 2 = 0 g THIR0T TAT grel IS TehTe ohi ?

: B O, GHRTuTT=N STE 19 §F STi=a STTaTeh <A ST STeA fo= 3Te=d shiedT el

(x+5)"-(423)=0
Sox+S5+ 3)x+5-23)=0
LX+S5+ 3 =0fRaTx+5- /23 =0
SLox =-5-23 fhatx =-5+ 3

spapapapapapapapapapapapapaps SO D R



g @ WX, Iohall HIQUATHT SRIeM et € 7t gl o1Ts.
(x+5)*-(J23)’=0
S+ 5)=(V23)°
LX+5= 3R+ 5=-23
X =-5+ 23 FRaix =-5- 3
b4 L dreaerett sawm B4 H
31 (1) dr=ar: Sx*-4x-3=0
Shel : GHIRITA FIRie SR, GH STl ISTaTeh<T 9T TUTIETE! X2 = HETureh 1
0T T BISA. TV feeiedn FHientona 5 3 9,
4 3

X-—-x-=-=0
5 5

4 4
31IEIIG|Ix2—§x+k=(x—a)2?ltx2—§x+k= x2-2ax + a’.

4
X - 3 X = g X% - 2ax 2 HEA,

1 4 2 2 —
—2ax=—§x na=yxi=s qHIRtT X2 + b x + ¢ = 0 I &I
L (2 37, el .
k:a: g = — b2 b
25 X*+bx+ || -|5] +c=0
4 3 2 2
A, X - 5 X - = DIRCIn
5 ) . .
4 3 X+— | = (_]—
x2—§x+%—%-§=o g|§|5|( 2} 2 c =
) wa7q feafgan .
x_z _(i é)—o
5 25 57
2V 19
5) ~(35)=0
2y 19
*7s <25)
2 V19 o 2 19
S5y WEa-g =
. 2 19 o 2 19
.X—5+T1%h_°ﬂ =35 5
2+\/E . _
Lx= Fm'_onx-zg/ﬁ
2+\/E _
. TTEH R b — 3@2!@

=p3papapapapapapapapadapapadal 35 KA EEECEEEGE




3. (2)dEd: 2+ 8x - 48 =0

a1 - qof o gt a 11 : 37 !
X'+ 8x-48=0 X*+8x-48=0
X'+ 8x+16-16-48=0 CoxXP+12x-4x-48=0
(X +4)?-64=0 X (x+12)-4(x+12)=0
(X +4)’ =64 (X +12)(x-4)=0
“X+4=8fRaTx +4=-8 SX+12=0TRaTx-4=0
x= 4fFETx=-12 Sox= -12 Tkt x =4
", IIEHIRTOTTE ged 4 i - 12.
e 2.3
GTefiel areeieRtor quf gt qgud Grea.
(HX*+x-20=0 (2)Xx*+2x-5=0 B)Ym*-5m=-3

(4)9*-12y+2=0 (5)2°+9y+10=0 (6)5x*= 4x +7

(mﬁqfﬂw "rgauara 97 (Formula for solving a quadratic equation) )

ax’ + bx + ¢ MMM a F97[ (" a #0) x2+§x+§ﬁrﬁﬁﬁaﬁ.

b c . A . b c
X2+ X+ 2 eft S aTian StTaehi=a ®Td Higd X2 + X+ = 0 3T GHteRuTT=AT,

RS ax® + bx + ¢ = 0 I1 GRS | 3l fohall Yob HesaaT Jara.

ax’*+bx +c=0... ()

spapapapapapapapapapapapapaps SO D R




b b2 4ac b* —4ac
x+2—— fepar x+—— “\ a2
b b2 4ac b b* —4ac

—b +b* —4ac —b++b* —4ac

A fohem x =
2a 2a
~b+~b* —4
I Il e x = > % e fafgama snfor @ o (e, P (er) W
—b +/b* —4dac —b+b* —4dac
ST eIaard. . % T B = g e (1)

. ~b+b*—4
ax® + bx + ¢ = 0 a1 gfRTd a, b, ¢ T > € 1 i forem

Tefter |1 &9 fowt, i gl shel fresdd. wUE x = _bi“§;_4ac Tl SR
TISIvAT G FUIATA. AT G Iehciideh! SHIUTTa! Iehel hivTcTa! ST rEae! Tl dTerd

—bh—~Jb*—4 ~b+~/b* —4ac
Ram (D st o = y < T B = > STTE [T Id.
—b+~b* —4dac —b—~b*—4dac
o = 0 Ro>P,a = > W< 37 eI 4.
A28 04 wreaerett e 28,044
AT 3TN h& GletTel SrTeHehl drgdT. m = —bENb’ —4ac
| - 2a
I}qA(1) m -14m+13=0 ! _ —(-14)£+/144
ShA: mP-14m+13=0 l 2x1
ax® + bx + ¢ = 0 3 g FE, ! _ laxiz
. 2
a=1, b=-14, c =13, ! 14412 14-12
. Som= ; fparm = —
b -4ac=(-14)2-4x1x13 | 2% . 2
L om=" TRim=3
=196 -52 : 2
= 144 : m = 13 ﬁl’Tcle =1
: arteTfieRToTTe ge3 13 ATfUT 1 37Ted.

->=>=>=>=>=>=»»»n»n»»»»-««««««««««««««-



&L (2) X2+ 10x+2=0
IhA: X1+ 10X + 2 =0
ax® + bx + ¢ = 0 2 =1 &,
a=1, b=10, c=2,

SobP-4ac=(102-4x1x%x2
=100 -8
=92

—b+b* —4ac

2a
~10++/92

2x1

-10++/4x23

2

~10+223
2

2(-5++23)
2

ox=-5+V23
X = —5+23 fhax = 5423
. SigHiRTeR ge —5++/23 amfor —5-423

3@ (3) x*-2x-3=0
I&heA: ax’ + bx + ¢ = 0 2l o1 A,
a=1, b=-2, c=-3,
b -d4ac=(-2)-4x1x(-3)=4+12=16

SoX= 416 fopar x = —_(_2)2_\/%

3
_ 244 o 274
=5

=3 foRar -1

spapapapapapapapapapapapapaps SO D R



Aferer AifedETst
X? - 2x - 3 = 0 &9 FGHIR @iel! ATT@H digad 317, 1 FHsd =41

XP-2x-3=0TNE x2=2x + 3
x == 52 feraet X2 = 2x + 3 31 iR HHT Bise, < fenmdt I THteRtom=A Sehdd!
IR, Y =x7=2X + 3, y = X2 AMI Y = 2x + 3 AT AHIHEN A HIG,

y=x
X 2 1 0 -1 -2 -3
% 9 1 0 1 4 9
y=2x+3
X -1 0 1 -2
y 1 3 5 -1
A
104 3 e 9 (-1, 1)
(3o 4 AT 30T (3, 9) = foig Beam.
: Jo X =2X + 3 T H IR,
TBUeE X2 - 2x - 3 = 0 =0
i IheAl x = -1 fohar x = 3 @
6 1 TR,
51 HEd=AT TR Y = x* 07
(=2, 4) 4] (2. 4) Y =2x + 3 AT EHREIE Aer@
; HIE TR, AT S SIgoe
x? = 2x + 3 31 GHRT=A,
il TBUeE X2 - 2x - 3 = 0 =0
REEDE T (NHE i AT T8 Il e fesdm, @ wHSE
T T T e S e T e s Al
14
_24

upapapapapapapapapapapapapa): S S B S L S U DS S S DL



34 (4) 252 +30x +9=0 I (5) XX+X+5=0
IhA:  25x7+ 30x + 9 =0 IRA: XP+ X+ S=0=
ax* + bx + ¢ = 0 3N g1 FEA, ax* + bx + ¢ = 0 3 g &,
a=25 b=30, c=9, a=1,b=1, c=5,
“b*-4ac=(30)-4%x25%9 b -4ac=(1)'-4x1x5
=900 -900 =0 =1-20
x:—bim =-19
—30;/% x=_bi\/§2_m
= a
2% 25 =T
- . ~30-0 =
r= 320+0 fearx = —; —1i2\X/iT9
30 . 30 =
X = g Fr =g T S —e——
x:_gﬁ,—,ﬂx:_g et ge3 sredd e T
AqdTT =T, H 25x% 4+ 30x + 9 = 0 A
Rt gl Job |0 37Te.
TaF 25x2+ 30x + 9 = 0.
U (5X + 3)2 = 0 8 SIHd =

el : 207 + 13X + 15 = 0 2 FGHintvl STagaded!, Iul ardeedt o sHTgsTaT 9T
HEA TSN, Ieck ARG AT AT TSATeST 1.

aEd 2.4
1. Qi SrTEHTeRuT= |maT— Ul ga1 &8 a, b, ¢ =31 fepuedt fotar.
(HDX*-7x+5=0 (2)2m*=5m -5 (3)y* =17y
2. QTS SRTEHTRT0] FETE 9T Shed Hiedl.
(DX*+6x+5=0 (2)x*-3x-2=0 3)3m*+2m-7=0
(4)Sm*-4m-2=0 (5)y2+%y:2 (6) 5x*+ 13x +8=0

p3papapapapapapapdpapapaPa 3 GGG EEEC




3. X7+ 23X + 3 = 0 g TIEHRT AT AR e QAT YaTg AThdid feeiedt AigdeaT
EIRIICEI

S 2 Bx+3=09 b - dqc FIEHTRTI TS
ax’ + bx +c = 0 M I [ |fpqq e, | Teawd | fepwd! ared
w84 a, b, c <A1 Tt 3. T forn. 3Ihel FIE.

(wfatﬁmw & @& (Nature of roots of a quadratic equation))
—b+ b’

“HC oft ST, 3 SO STTE

TR ax? + bx +¢c =0 gB x =

2a
IR,
_h+ —bH+0 A~ -b—-0
(1)SRD? - 4ac = 0 WA, WX = b0 X = fepam x =
2a 2a 2a
. HTEH IO Yo oTEqd o G0 STEdTd.
~b+ b -4
(2) ST B* - 4ac > 0 3T, WX = > “
—b+b* —4dac —b—b* —4dac
]%'U]ﬁ%[ X = 3:|-|-FUT X =
2a 2a
. STEHTRUTTE g aread o ST ST,

—b+\b* -4 .
(3)SRh? - 4ac <O VAT = o Y 1 TS T TEATd,, TRV S R
o3 e AT,

TR ax? + bx + ¢ = 0 =N BN WEY b - 4ac =0 feadiasa fafgad g
/U b? - 4ac A1 SEgHeRET fag=eh (discriminant) FUAE. @ A (SeeT) AT o™
SIfeard. (A 7 I 38R 3T1R.)

et : @iell fooredn Aidie® Fepm ST .

(1) 50 — | |
(2) -30 — | |
(3) 0 — | |

2D2p3pappapapapIpaPapapIP 41 AL



A8 et serm 6.8,

3. (1)
3hdA
a=1,b=10, c=-7,

bP-4ac=10"-4x1x%x(-7)
100 + 28
= 128

X2 + 10x - 7 = 0 I JnEHRwmaey fad=errl fhad el
XX+ 10x - 7 =0t ol ax® + bx + ¢ =

0 3ff =&,

31, (2) Tocmhas TriaHR =1 g3 T 3.

(i)2x*-5x+7=0

IRA : 2X7 - 5X + 7 = 0= g
ax® + bx + ¢ = 0 3 +&A,
a=2,b=-5,c=17

obP-4ac= (-5 -4x2x%x 17

A= 25 - 56
= =31
Sb*-4ac<0

(i) 3X*+2B3x+ 3 =0
IHA : B+ 23X+ B =0 ga
ax? + bx + ¢ = 0 3 +&A,

W a=B,b=2HB,c= 3,

() x*+2x-9=0
IHA : X2+ 2X - 9 = 0= o
ax® + bx + ¢ = 0 3 +&A,

a=[_1,b=2¢=[_]
b -dac= 2 -4x| x|
A=4 + |:|
= 40
b -4ac>0
. IR Jeb aTead d STFHH 3TTed.

Lb-dac= 2B)Y-4x B3 X B
= 4X3-4X3
= 12-12
=0
. IR Hob aTead 9 HHH TR,

spapapapapapapapapapapapapaps SO D R



Relation between roots and coefficients of a quadratic equation)

(m’mtﬁawn%ﬁg% ST TEUTE A HeH j
(

SR ax? + bx + ¢ = 0 I FEHRETET oL 9 3 g3 ST @

T
e ame | —b+bdac b b dac b dac
a+p= + 5 oxf= X o
2a a 2a
_ —b~P* —dac —b—~Ib* —4ac (—b+\/b2—4ac)><(—b—\/b2—4ac)
- 2a = 44>
_ 2b bz—(b2—4ac)
T 2a =T il
La+p= -2 dac
4 = 44’
_ ¢
. C
"aB= P
et : @iell fooiean =ehdla I TET WL
10x* + 10x + 1 =0Rat o + B = aTfoT
o X B =
DBA A dreaerett e BAA
3. (1) o 3T BE 2x% + 6x - 5 = 0 AT FEAHHLUM Heb 3TMRd, qX oL + 3T o0 X B =
fepmrelt whrar.

Sehet : 2x% + 6X - 5 = 0 < g ax’ + bx + ¢ = 0 ¥ HEA,
~a=2,b=6,c=-5

b 6
OL+B= . =3 =-3
-5
T o X B = 2=?

2Dap3pappapapapIpapapapIPR 45 KA AAAAACEACGC



3. (2) x? - 13x + k = 0 =1 srfeietom=an Yesmefia wieh 7 3718, X A <t fhmd e,

et x? - 13x + k = 0 i gemr ax® + bx + ¢ = 0 3 gt e,

a=1,b=-13,c=k

AT, o AT 3 & Teetes arfawientom= ge o1red 11l oL > 3 eI u&d

..........

oooooooo

Soo=10
L1104+ B =13
.'.[3:13—10
.'.B=3
. c
q'{@(xxB =7

. _k
..10><3_1

......

S k=30

=13... ()

(feet =1mR) (1)
(TR (1) & (11) Ir=ht ST )

3. (3) o T B & X% + 5x - 1 = 0 37 IR Geb 3R, T

(i) o + B (ii) o + B* =1 TehHlt el
X’+5x-1=0

Iag=1,b=5, c=-1
b _ -5
a 1

3Ihed :

a+fP=- -5

-1
1

= -1

axfP =

(i) o’ +p=(a+P)-30p (a+p)
=(=5)*=3x(-1)x(-5)
=-125-15

o’ + = -140

(i) o + B* = (a+ B)*- 203
=(-5)"-2x(-1)
= 25+2

o’ + 2= 27
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o faetl STHar S eIl (Heaul
(To obtain a quadratic equation having given roots)

TESAT, o T B & x AT TATHS SHTEH R Fed 37T,
Sox=afRaix =

Sx-o=0fRTx-B =0

- a)x-B) =0

X -ax-PBx+af=0
Sxt-(a+B)x+af=0
FEUTSTE oL I 3 & Hod STEUR sHieHTeRtor
x? - (g3l 9) X + Y3t TUIMehR = 0 1 I fHesaran Iga.
et (1) : GoaTeit skt 10 37T GoaT= TUITeh™ 9 AU eriehor forar.
Feme e - Jx+ [ ]=[ |

et (I1) : o0 = 2 AT B = 5 &1 Yob STHUIR FIEHTRIT 10T ?
= 1+ Dx+[ | x[ |=0c@fakmm.
roe x2- [ x+[ ]=0

I FHIHTOTAT HIUTCATE AR T Toieard fHesom=a wefisho=i g o 37for 3 &=
STEATd, 8 ST &4

B4 drememt samm BA5.H
3q1. ST FHHROT Geb -3 9 -7 3T 3T FIFH IR TR .
IHA: EHST QL= -3 30 = -7
Lo+ B=(-3)+ (-7) =10 axPB = (-3) x (-7) =21
. Thresom artedisstr, x2 - (o + B)x + aff = 0
SoXP-(-10)x+21=0

SXE+10x+21=0
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(1) ax* + bx + ¢ = 0 I FEHHTMN g o 21f7 P srErediet, @

—b++b* —4ac —b++b* —4ac
(o = 2a i = 2a

(i) o0 + B = —gawﬁn axpB =
(2) ax® + bx + ¢ = 0 I FEHRWTA GBS W& p? - dgc A1 W= fhueiter Taersd
31T TEU A1 Tefiett fore=rh (discriminant) FgurdTd. foa=es A = 1fies s1er gefedra.
(3) SRA = 0 78, T THHHLM Slal o3 THH I TEdm.
SRA > 0 378, T ek eb i aredesen s1Eard.
A < 0 T8, T STEHHT Job TRATHET FHdTd.
(4) ST S oL 9 B 3T, o avEHRw X2 - (o0 + B) x + o = 0 3T,

TaEd 2.5
1. G RehTeT =iehdl 9.
e T - | A
v ax* +bx +c=0 [ ZI; 44ac—55 . e T
= -4ac=- v
(2)| g oS = -7 <> __ G < HBE SR = 5
(3) SR o 9 & @refia Frasiw= g Tadid, ™
Ja+pB=.....
2X*-4x-3=0 ]
laxXB=.....
2. WTeftet srtatisRoardt faa=err= fohma e,
(X*+7x-1=0 (2)2)-5y+10=0 (3)2x*+4x+2J2 =0
3. foeaehrean fopmdiaer @Teiiel araHIshun=aT G Ta&Y 3.
(H)X*-4x+4=0 (2)2y* -7y +2=0 BYm*+2m+9=0
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4. ST STEHTRTUTTEN Yo WICHAIHTO! ATed T2 S TeHTehol qam .
(1) 09 4 (2)39-10 (3) % % (4) 25, 2++/5
2 - akx + k + 3 = 0 =1 StEHROTET HeaTel SIS &1 <A Ueh A e 317, aX K =f
o whTe.
&S o = B - 2y - 7 = 0w entaETEh ge s, @
(1) a2 + B (2) o + [3° =1 Terwrcht <hreet.

7. @I Scdieh STEHIRTE Jeb aread d I0H T8l ok & =i fohua e,
(1)3y*+ky+12=0 (2)kx (x-2)+6=0

(m’ratﬁwn% 3uae (Application of quadratic equation))
feq SfeaTdia 319k STl Iohcl AT EHISHIO ITAT ISdrd. s S1" 3997 A7
T STYATHUR TR
3ar. (1) foaan Jefict oft. TRt A= AT hieshi= HehiThd! higraTes < Tt ATell &
wdiuer 7 Wit STEd 3A1R, 0T Ul g1 arsiue 1 Hiel Sed 1R, 9 o1 hieTs=al
IeheT : THSI, I AThIMTRd] hICHTe AT qe3Te &41 x Hiet 3117,
LA = (x+ 7)), F = x4+ 7+ 1= (x + 8) Hie
JREIHTTRET THY 9%,
X2+ (x+7)=(x+8)?
X'+ xP+ 14x+49= x>+ 16x + 64
SXP+ 14x - 16X +49-64=0
LXP-2x-15=0

N
SoxX2-5x+3x-15=0 m
Sox(x-5)+3(x-5)=0
So(x=-5)(x+3)=0 %
Sox-5=0fFaTx+3=0 1] LU
Sox=5TRaTx = -3 TS
g & B/ AAA. S X £ =3
Sox=53T x+7=54+7=12
', HICTIATSI=AT deaT=i ATel 12 Hiet 31T %1 5 Hiex.
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3q1. (2) T ATTE THATE AT (IMef) 360 fobt STar rd; wig fo=m am arsft 5 fordf
ATededTd foel dag= 3T STuATETd! 48 fifae st ArTaTd, X Mk geardi=n 97 el
Sohel : THST, STTTTEIET Geardta 97 arsht x fore) 312,

.. 97 IIeacIHdt M= arRfl o (x +5) for) o189 .

. 3R 360
360 TRt ST HTITATHTST ARV FeaTd=n 9e3 = =——= — a™

X

S FTGICITeR o ST SITUATHTST AN 93 = %
feetean e,

360 360 48 - _ 48
x+5—7—60 _____ (.48ﬁ|ﬁ%—60?ﬂ'§)

. 360 360 _ 48

X x+5 60

48 .
E i - ﬁ = 60x360 T (G781 ST 360 3 T
. o x+5-x_ 4
ox(x+5)  5%x360
5 1

. x2+5x:5x90

51
X +5x 450

X+ 5x =2250

LOXT+5x-2250 =0

JoXP 4+ 50x - 45x -2250=0 i AN
“ X(x + 50) 45 (x + 50) = 0
T (x+50)(x-45)=0
X+ 50=0TfRaTx -45=0
Sox = =50 fRat x = 45
TG A /O AL L X~ =50
Jox =45
. SIS GeaTdi=n o arsft 45 fepdt.
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TEEd 2.6
1. ST 2 auiqeli=an 7T 3 auiatea S R 84 31Te, T fa< 31 9 wier.
2. TF SHATTA TH H [T Tl = st 244 377, a8 o1 H&IT e,
3. #ff. HYEEA A=A FAENIA ST WA SIS TEAT, IWT AT FTST=a1 TEAUET S = 3Tee
318, SR HATERIG THUT 150 TS STEATA X STSHT q8= I¥1 Wi FrST=ht T fehet ? @refiat

TATE3Th =T STH IETEL0T Higal.
O, 3WAT A HTSSAT I T T =
TR X e = ... g T
s e o foe 7| |X 7 P | (et |
R[] qIAT R

\/
TS WIS oS fehe ?
4. Tades, 71 foReTituEn 5 Sl WIST THI A=A FATAT UMThR ST IS —~ 311% T =

AT o e

5. QAT IO Uigedn Araviid fiesTeiea umie ga=an =m=oftd 10 07 3Af4eh e, ga=
FTFuicie U= 5 9 Bl Uigean Araviidiel UM aTigdent 3118, AR o<l diges ==l 701
ot ?

6~ oft. srEm FieT AT Widt SeuET FER ISAN TR, d TS SUETh TEATIE! TTE! TR
HLATA. Tceh W= MHHHed, TR sholed HISHT=a1 T@&= 10 9e 3% 40 &, 37Hd. SN
e feamTdiel WieaT= i ed 600 T 38|, T Jcieh Wisar= HiHfaqed 9 wehr fgaam

7#ch| TEHd, S Jargren fowey 36 fohtft ST Wa oI STt AvATE Yeiiehall 8 A8 AT,
I 9 0T o Tl 12 fortft sTeeamg Iéi=a1 YaTgT=i a1 shiel.

g* fiizet T m Fvarard! frepien 6 feaw st amTaTa. Qi fire wm e d b
°h{U¢4|{‘II6I T 4 T8 ANTATA. TR d 1T Tehed T IUT ShiUTH TR fohd! fGad QNI ?

g 460 I TEAAT ThT G iTeh TEI- WITCATH WTThR HISThTAT 5 TEUETT 6 - 3TTeeh A ST STeh!
1 Id. T AR & HTSTeh fohdl ?

1(’)*. A X B
o= @Hes LIABCD 53 AB || CD 315 ==
(x - 4) (x -2) &Fhes 33 <ATHHT 3117, T AR Tqeie HTfgd o
Seh T IRE! STl el @efid el qul &
HIaT.
=

D™ v+ )—©
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S (3x +10)(----) =0
SoGBx+10)=0fRar [ ] =0

et : OABCD ®Hais =1ehiH 3TR. AB || CD

A (OABCD) = %(AB +CD)x[ ]

. 1 |
..33=E(x+2x+1)><|:| E _ _?mlezl
S EICE SN L TR el 3T
S+ ]-[ ]=0 i X # —? X =
L3 (. ) +10(...) =0 AB= -—-,CD=---,AD=BC = -—-
HRIOT TEIE 2
1. ETEfd SRAT=AT calr= 3T T et
(1) WTefieTdeh! hIvTd SHHHIERTIT 37T ?

A2 -3=x B)xx+5)=2 (On-1=2n (D)5 (x+2)=x
(2) {gm{;aqa ehIUTd STEH TR ATET ? '
(A) X*+4x=11+x* B)x*=4x (C)5x*=90 D) 2x-x*= x*+5
(3) x> + kx + k = 0 =t 4e e 9 99 318, @€ k < fohud @iefierdehl hiord ?
(A)O (B) 4 (C) 0 fehar 4 (D) 2
(4) J2X2 = 5x + 2 = 0 itar faa=ehrh fohmd @reficrtshl o ?
(A) -5 (B) 17 (C) V2 (D)2+2 -5
(5) ETeiieTdeh! ShivTeaT FHIRT= g 3 9 5 3T ?
(A)x*-15x+8=0 (B)x*-8x+15=0
CO)x*+3x+5=0 (D)x*+8x-15=0
(6) ETCAcTdh! hIvTeAT FHTHUTAT GeaTe! sl -5 378 ?
(A)3x*-15x+3=0 B)x*-5x+3=0
(C)x*+3x-5=0 (D)3x*+15x+3=0
(7) 5m? = 5m + 5 = 0 A1 @ieiiadshl HIvd g™ dr] 9ed ?
(A) 9TEqd 9 3TFUH b (B) 9T @ A9 g3
(C) o3 =T T e (D) & ga3.
(8) x> + mx - 5 = 0 3T FTEHHM Teh Ye3 2 38, T m =t feoha @refierdehl shivr ?
(A) -2 ®) -1 (© 3 (D) 2
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2. GIATAdeh! v HHHT! SEHTRT 3TTad ?

(1) m*+2m+11=0 () x*-2x+5=x° (3) (x +2)* =2x?
3. Wrclicrueh! Ycdeh THieRm=aT faa=en=i fhrd hrel.
(1) 2’ -y +2=0 (2)5m*-m=0 (3)5x*-x-5=0

4. 2x* +kx - 2 = 0 I FEHRM Th qed -2 T8, T k =t foha foheft ?
5. T8 SHTEHTRT TAR U, hl AT Teb WIeTTTHTol TTed.

(1) 10 37T -10 (2) 1-3+/5 3T 1+3+/5  (3) 0 3o 7
6. el feiedT S eHThu=aT Yot Ta&d 3.
(1) 3x*-5x+7=0 (2) 3x2+ 2x-2V3 =0 (3Ym*-2m +1 =0
7. @?ﬁaaﬁaﬁ}wgﬁw
N ) 3x 1 _ ) _
(1) Tiss — (x#0,x+5#0) (2) x? 0 E_O (3) (2x + 3)* =25

4) m*+Sm+5=0 (S)Ssm*+2m+1=0 (6)x*-4x-3=0

¥ om - 12)x2 + 2(m - 12) X + 2 = 0 I FriEHieRTon=l Geb dredel o HHH STt Ot 71 = fehwd
<hlal.

9* U1 HIEHISHIUIT=AT SF JoaTeit skt 5 101 et weT=ht SIS 35 3118, X o SieHiehtuT shivrd ?

10f34ﬁa1’raﬁ1wa€rr{wa%?aﬂ%ga‘ 27+ 2(p + q) x + p* + ¢* = 0 31 TefieRT=AT geTeA
ST o1 & ISTeTeh = o STEd .

117 Gehesiaes BIRIET 50 T3 S STRd. AreATaeicl T OHR 15000 3, T T
BECINECELRET K

127 3 TieTea AL Hieh 120 TR, TEH S o a1 Hig e g 31T, T o S
RIDI

13" {omTen arefeaEified 540 G5t el et G SR SRd. ST 30 e sred sEd @
TcIehTeAT 3 Tt it fHeaTelt 3T, aX foresmet=il e e

14, ezt defer St o e aren 3+|qd|ehd|‘\ﬁ?l1%ﬁc1|mﬁbc;|w|§qz‘ﬁm 10 Hew 31fe IR
T T AT e Wmﬁﬁmﬁﬂw 3 T ST S <@l IadesaT=
TfHcht <heft. ToaT 7o AT &t § ade=Ta zﬂ:mooblceu 20 < BId,, T T IaT=h et AT &t

add lddoes=Ail=H] QINL‘CII C'H@II °rlel.

157 Teh TTeh! T o511 HTETEATH 2 ATETd q0F Wid. AT e % e Fe3H
TTehl YUATH ATV e, Whekd HIGeT T3 STeh! SUSTH AR
TSI 3 TTE I 3THal. T I TS3H ot Zrehl W ferddt 9 @mmai 2 000 un

upapapapapapapapapapapapapap: GGG



3 STRITTOTC et

o HivT o ITHIUT ASiieA 7 A U2
o ITHITUTAT ot o ITHIUTA ASTeieT 71 U=l S

(EB&IEFI (Sequence) )

AT 1, 2, 3, 4, ... I EEA HAM fdfedl. g S qifetert 318, 37 Aifclehd i Shivdial
AT fehdea TATTER 3118 @ 31901 I Wehdl. S 13 B §AT 13 ST ShuThler 3178, H&AT= gadl
ofeAshT 1, 4, 9, 16, 25, 36, 49, . . . 9Tal. a1 &1 fofsrse shum fofgean smed. 99 16 = 42 &
TIT ST ShHTRIET, ¥ 25 = 52 & BT 5 31 M 3718, 49 = 77 & T3] 9rqedn TR
TR TEUIS IT&! HIfcTohd ehIUTdTa! HET fehdedT TR 3118, 8 HITdT Id.

g fieh TR fafirse ShHTH ATSTie TET<T TUgIell Shiteht FgUIdTd.

shitehae ferfirse TUTer fafire gen fofeedt Sid. @@ a , a, a,a, ..., a 30
HU SiEe hl B leell, o @ gEd, . . . A g & p o HEA AT 7 T BN TN
HHT [, £, [y - - . ST AT geiered! 1. fereara fHizera sham e fafgean simed 3
U,

TETE S Gl SaTIdiare! HeMTeR TedTal Uehl SAiesia 3w Tgdrd. I shH 3Teiel]

3TEAT, TG AT SR TR 1. el ShiHhHE [oIlRISe ST ITHAl & IV IFHa TR,
el : EId STThIaaY qo1 .

sty |O 8O§OO§OOO

g

e

1 3 S 7
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Ay | AA AAA AAAA

A A A
AA A A
AAA A
AAAA
Breptor=h 5 8 11

&1

G TIR I STh{dee 1. ST Teas Yl Sl Hesauar faw st a1

o : o o
Al Yozl Hiles]l Hied] [cdladl ddld.

e Y@l Arfetet 9ret. 2, 11, -6, 0, 5, -37, 8, 2, 61

Wa=2a=11,a,=-6,... 8 GCIH ACCEA hHiFh 3, Tg fofeme ge @
TSR o1 3ATed @ FTAT Ad ATel, T8 ShAaR qeiiiel Teeg! fHfeaduu ST a Al

IR ST ShHhAE Jao Ug Sadl J5at 3191 3| 37eal, 3791 Shiteh! fo=ma erden
ST

3. (1)4,8,12,16,... (2)2,4,8,16,32,...

1 1 1 1
(3)§’E,E,2_0,...

( Shitiehdiet U2 (Terms in a sequence) )

shitiehdiel hHEIR TS £, £, 1, ... ¢ .. 1 JehiEl ceierdrd. W=l shitht & {7 } 3rfi
fIfgaTa. shivent 3Ta /@, T Yis 94 Ul 71, Ar=ameh Ffea o1l v g ot o™ e
e ST,
it 1 2 Wreftet shive! UTel. ATdiiet Tere shHieh £ , £, ¢, . . . = S,

(1)9,15,21,27,... ¥¢=9, =15, t=21,...

(2)7,7,7,7, ... W=7, t2=| | z3=| ...

(3) -2,-6,-10, -14, .. .3 r=-2, (=1 =01 ...
L iedl A i Taent s, e i ) B s A e
ShitehTT et TTeT ST,

SR UEME gl HIT 3TEe3dl I § IguaHTe! e featel! HTgull uTel 3T geial

CIEICAGRECA I I RCICTAR TR
(1)1,4,7,10,13, ... (2)6,12,18,24, ... (3)3,3,3,3, ...
(4) 4, 16, 64, . . . (5) -1, -1.5, =2, =2.5, ... (6) 1%, 2%, 3%, 4°, ...
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T SHiRMET HaY 3MY, ST shetell fo=R UTg.
(1)1 4 :| ...

\/\/\/\ \_/

10@ ]
(2) 6 12

\/\/\ /\/\,/
6+6 12+6 18+ 6 [ ] [ ]

[ ]
AN N N
3+0 3+0 3+0 [ ] [ ]

(4) 4 16

WO

4x4 16xX4 64x4

,...

><4

(5) -1 -1.5 -2 2.5 C1...
NN AN N

(-1)+(-0.5) -1.5+(-0.5) -2+ (-0.5) -2.5+ (-0.5)

(6) 13, 2%, 3, ...

A% B0 (1), (2), (3), (5) ATeame snHfi=an Tem ot Se e qes ve firesd, 3
T TR, AT ThIEAT SHIHHIT SR St Tgurard.

T (4) 21 shitrept STeRTTOTC St AT, =1 shftehued amefi=an UgreT SEieh T M Jed
Ye firesd. I Teh=at shifenl ‘{&I?ﬁ g (Geometric Progression) ¥gurdid.

U (6) B ShiHehT STRITOT ST T2, a8 fHd! Jeie! gl

T STHOT ST SIS STHITH SHTUTR TR,

@ismfﬁl?ﬁ & (Arithmetic Progression))
el el shitrent feea 3TRd. e shitehdiet gaiet o ue forer.

(1) 100, 70, 40, 10, . .. (2)-7,-4,-1,2, ... (3)4,4,4,...
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fecren shftrpmefiet Ieliet Ue SIeuamdTat ™ hat o dTal.
TediTe  gElue ﬁuiqa

(1) 100 70 [-20 | [-50]
\100+(/3‘0) \70+(/3‘0) \ 40+(/30\)‘ 104{ 3>; (- 20{+( 30)
(2) -7 2 [s]  [8] .
WAWAWANNAY.
(3) 4 4 4 4 4
\4+o/ \4+0/ \4+0/\4+0/\

T T Tcdeh AT Tcdeh Ug A= qerd fafree s fisad a9r 3 31e. aF
SHATTA TeTHee Thish R 3118,

. (1) T ek I, (2) T %k 99 0T (3) Hefied ik 0 TR,

THATTA YemEe ®ieh R @A T ATl AR Wleh fohal @RS Wk (Common
difference) T8UIATd. &1 Bl 3T 318 cadd.

feciea shitrehdiel hIvreaTel G shATTA qemeied ®th (1 - ¢ ) TR o1fid ot o shitiehd
FRTITC ST TEUdTd. A K ¢~ ¢ = d B HHI] Bleh Il

TR IS Ufeed U ¢ STIOT | ®ieh o 3T,

@t =a, t2=a+d ,t3=(a+d)+d=a+2d

ufgel U ¢ ATIVT =T BTk o 1A TR St

a,(a+d), (a+2d),(a+3d),..... & 378,
31, (1) AHH  9f=Ten 100 FUAT= S=a shefl. Tl Tuidial Sceh A= Tl s<d
GTCATTIHT 78
afgn I I a | 1v V | VI | VII | VIIl | IX X XI XII
EELIE 100 | 200 | 300 | 400 | 500 [ 600 | 700 | 800 [ 900 | 1000 | 1100 | 1200

Seleh Alg-Td el ThUT SId GREFUIT=IT HE&AT STehTITd] Heia Ted.
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(2) worE fiEmeRg 10000 ¥ 3 et ST e 1000 9= ATIHT0 BRI 3, at T

Tfg=ard wer Ulgadll T@eohl WA agHT 3T8d.
HigHT . 1 2 3 4 5
e Ulgeiel!

RT3
(3) 5 =1 UTeT, T 5 3 forars s urer.

5,10, 15,20, ... 50,55,60, ... .. HEEEINCIR eI

A (1) T (2) 31 SR S A1d 8. 7 (3) & TR Jet 3a et 3712,

10,000 9,000 | 8,000 | 7,000 | ... ... 12,000|1,000| O

—Q{‘f’ﬁr%ﬁaﬁ%@l
- tn)awﬁna@amwﬁwmﬁrﬁﬁ%

(1) SR shtahmed (1,
TEUTATd.

(2) STRITOT Si=ar 9 shATT Temeiel fRR weh d 31 318U estedrd.
(3) d &1 G, 0T fohal I 379 I1ehal.

(4) TR A ufged 9e @, AT 9 Bl d 3T8A @ oI I
R a,(a+d), (a+2d), ... =0rEd..

+1

B4 0 drsaerett st 4.8,
341, (1) WieieAtehl BT shitehT SR St 31 § sfesEn. S ald a€ fo=h gdiar 9 ue
<hlcl.
(i) s, 12,19, 26, . . . (i) 2, -2, -6, -10, . . .
Gi) 1,1,2,2,3,3, . .. (W)%,%,-%,H.
Iwa: (1) 5,12, 19, 26, . . . 3T Shitehd,
uedue =1=5, =12, =19, ...

t-t=12-5=7
t-t= 19-12=7
A Ufge Ug = 5 9 AHRI Bk = = 7 TR, fOr 318,
. T ShTHERT TRV SIET 3178, T Jekdidl Jeidt g Ue.
26 + 7 =133, 33+ 7=40.

9 33 9 40 § foeren el g g ue o1me.
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(i) 2, -2, -6, =10, . . . 3T sHithd,

t-t=-2-2=-4
t-t=-6-(-2)=-6+2=-4

t-t=-10-(-6)=-10+ 6 = -4

T Tcdeh CIF ShATTd YeTHEiel %ish, Feursl t . =1 =-4 MR, .". d = -4 BT HHSH Bleh
1 Jd GEA TS (-10) + (-4) = —14 M7 (~14) + (-4) = -18 & 7&a.

(i) 1, 1, 2,2, 3, 3, . .. 3T shiHehd,

1

t-t=1-1=0, t-t=2-1=1
t-t=2-2=0, -t #Ft-t
T ShiHehd el T Ta=d1 eiF Termeicl Bieh feR AmE. .- fecichl shiwrent stermfurdt St ard.
.31 1 3
(1V)2,5,—2,—2,...?3IT%&|%,
3 1 3
L=5, L=5,4=77, =73
t—t—l—g —z——l
2 1T 2 27 27
11 2
mth=-5 -5 =73 =-1
3 1 3] 2
e R T T
JY FHT ok d = -1 71 fr 3118,
T IS S U¢ WY,
3 _ 3 S _ 7
TS, T AT T -y ~l=-3

2D2p3pappapapapIpapapapIPR 61 FAAAAAAAACCAAGC



3. (2) Ufedl 98 ¢ 9 S Bl Wil foul 3TTed. I{aR ufgell 9r ue shigd STehTiord! et

ferat.
(i)a=-3, d=4 (ii) a =200, d=7
1
(i) a=-1, dz—z (iv) a=8, d=-5
IHA : (1) a = -3, d = 4 I9&A, (ii) a =200,d =17
a=t= -3 a=t= 200
t=t+d=-3+4=1 t=t+d=200+7=207
t=t+d=1+4=5 t=t+d=207+7=214
t=t+d=5+4=9 t=t+d=214+7=221
. TR Ot -3, 1, 5,9, ... . IR S1dt 200, 207, 214, 221, . .
1 1 = = -
(111) a= —1,d= _E (1V) a S,d 5
a=t1=—1 a=t1=8
1 3
t=t+d=—1+(—5)=—5 t=t+d=8+(-5)=3
_ _ 3 Lo 4 t=t+d=3+(-5)=-2
t—t2+d——5+(—5) -5 =-2 3= Y
1 t=t+d=-2+(-5)= -7
t=td=-2+(-7) v
1 5 . TR 9 8, 3, -2, -7, ...
:—2——:——
2 2
. 3 5
.'.wﬁrﬁﬁéﬁ—l,—i,—z,—a,

aEEw 3.1
1. WTclcTdeh! ShIvTeAT ShitiehT STSHITTOTAT Sl ST ? ST TR0 Sl STEdTA, el Teehr=

TS Bleh hIal.

(1)2,4,6,8, . .. (2)2,%,3,%,... (3) 10, =6, -2, 2, . . .
(4)0.3,0.33,.0333, ... (5)0, -4, -8, -12, . .. (6)—%,—%,—%,...
(7)3,3+2,3+22,3+32,... (8) 127, 132,137, . ..

2. S TR IR Ifeed Ue ¢ 9 "THT= Bleh d 318 aX STRiurd! 2t forar.
()a=10,d =5 (2) a=-3,d=0  (3)a=-7,d=1

(4)a=-1.25,d=3 (5) a=6,d=-3 (6) a=-19,d = -4

spapapapapapapapapapapapapaps SO D R



3. WA Ycdeh TR ISt ufeed Ue ST1fUT ATH= Wleh shial.

(1)5,1,-3,-7,... (2)0.6,0.9,1.2,1.5, ...
1 3 57
(3) 127, 135, 143, 151, . . . (4>Z’ IRV
L
| = . foum wem

©5 8, 11,14, ... B TR & 318 1?7 T 378 X fa= 100 9 9 hivrd
ITTA ? IT UL 92 B AT A HI1? 61 & HTIT 3THA 1 7

(aiwﬁlﬁﬁﬁ%naqa (n™ term of an A. P.D
5,8, 11, 14, ... ¥ 3h{ehd gH SHATTA TG Heh 3 3118 TV &l ShiehT STRTITUNT et
TS
I gt G S TR, S A 3 THeserearar 8 3 gat ug fiasd. A1 YR 100 o v fHeseavamamdt
T TS AT ?

qfeet ue LI fore 7g
e s, 54+43=8, 8+ 3=11,
1 gegd= 100 S YeRid SUTEre! @9 9% Anie. el TEre ¥ e @ d g,
S 8 11 14
5 [5+1x3|54+42%X3[5+3x3| ... 5+(n-1) 5+nx3
X 3
ufed | g LGSR =Yy nd9g n+ 199
uq g g qq
t1 tz l‘3 t4 tn tn+1

HEWRTO; 1, 8, 8, . .. F1 SISt dfeet Te ¢ 0T Ao Beh o 3THe, T

t1=a
t=t+d=a+d=a+2-1)d
t3:t2+d:a+d+d=a+2d:a+(3—l)d

t=t+d=a+2d+d=a+3d=a+(4-1)d

=p3papapapapapapapapadadapadal ) KA ECEEEGE



t=a+(n-1)d &g .
STAT AT T STA & 5, 8, 11, 14, . . . AT R0 JE 100 S TG HIG. A% @ = 5
3T d = 3 31TR.

t=a+(n- 1)d
L ot,=5+(100-1) x 3

=5+4+99x%x3

=5+ 297

=302

T IR JE= 100 o 95 302 37Tz,
T 61 B TEAT AT AEId 3778 1 ? AT el HSITATETS 5 FF A0E.

t=a+(n- 1d
t=5+(n-1)x3
S 61 8 n ™ U FEUS ¢ ITHWA, T
61 =5+3n-3
=3n+2
. 3n =59
_ >

S 3
g 71§ i T e
S 61 B EE A1 9did e

Waﬁwmmﬁaﬂm;ﬂﬁ%ﬁﬁawﬁﬁ1mw%@aﬁﬁ
70 Gt Biet. 2 I ST degl df 80 THY I BT, 3 A9l STl deal A=t 3=t 90 Tt
319 feud oTme.” d Téa g foe SellX 15 aui=n g gareld e, i = 3=t fohet /8
TS, foe smre=raten ereRT SHe. JrEE et e sTeRiTdt Svfia ared ? e Tea
al 15 aui=n Searar = 3= fohdt 3/ e o s,

spapapapapapapapapapapapapaps SO D R



DB A wremeiett sqem 5.8,

3. (1) Eiefler stepTiod! St ¢ el
I TS 1 A& 30 9 UE HIal.
3,8,13,18,...

Sehed : feorel! STeRTTiordt 91€t 3, 8, 13, 18, . . .
AW =3, 1=8,1=13,1=18,...
d=1t-t=8-3=5, n=30

Wﬁ'&[ﬂ'l’&ﬁﬁiﬂ'l%@tn:a+(n—l)d
St=3+(n-1)x5a=3,d=5

S1=3451-5

Sot=5n-12

5.30dTg =1, =530 -2
=150 -2 =148

3a1. (2) Tiefia STRKdt S fohdd ug 560
A ?
2,11,20,29, ...
3ok : feareft stehTfuTe 91et 2, 11, 20, 29, . .
AV g=2,d=11-2=9
1 e 19 9E 560 AR, £ = 560
tn=a+(n— 1)d
S.560=24+(m-1)%x9
=2+91-9
91 = 567
567

I’Z—T=63

.. Teciean steiurdt 9= 63 9 Ue 560 1R,

3a1. (3) fewreft sfwemt 5, 11, 17, 23, . .
3TTR. 3T shitiehd 301 & HEAT 3718 I ?
5,11, 17,23, . . . 31 shitiehd
t=5, t=11,1=17,1=123, ...
t-t=11-5=6
t-t=17-11=6
. B ShitrehT STRTITUT 31t 3R,
T ISR uEA UG g = 5 AT d = 6
SR 301 ® 11 9 UE 31,
t=a+(n-1)d=301
5301=5+(n-1)x6
=5+6n-6
S 61m =301+ 1 =302
302

e 7,@%%?@.
e fededn shftehd 301 & @
STHUIR ATa.

3hd :

341, (4) 4 3 9N SO S 3Teh! AT fehd
ST ?
Iehed : 4 = YT SAT0T=AT §H 37eh! T AT
12, 16, 20, 24, . . . 96 & 3.
379 | fohell 3TTRd o g,
t=96,a=12,d=4,n=7
;. e,
96=12+(n-1)x4
=12+4n -4
c.o4n = 88
Son=122
4 3 9T ST §F 3Thl T 22

3TE.
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341, (5) SR TehT STRIMUET IS 10 9 9 25 30T 18 o IS 41 T8 a1 A< 38 o US Me.
qEE, 719 9E 99 T8 T 71 <t fehAd hial.
Fohed : Teetea STeRTIivrdt SIfimesl ¢ = 259 ¢ = 41 3TTR.
SATITAT HTEId a%aﬁ,tnz a+(n-1)d
t,= a+(10-1)d

25=a+9d ......... (I)
et = a+ (18-1)d
4l=a+17d ......... (1)
25=a+9d......... (I) o6
a =25-9d.
7l fohma TeieRon [ 7edl 3,

gt (1) a+ 17d = 41 318,
. 25-9d +17d =41
8d =41 -25=16

.o d=2
d = 2% fom wfern [ w3, ] T, = a+(n - Dd
a+9d =125 o 1,=T7+(38-1) %2
La+9x2=25 =7 +37x2
a+18=25 =7 +74
Soa=T i = 81
719 9g 99 ITEA T 1 = Tehwd e 3R,

tn=a+(n—1)d
9=7+(n-1)x2
9=7T+2n-2
9 =5 +2n
2n = 94
n=47
. fecrem 9= 38 9 ug 81 311R 3fT 99 7 47 A Ug 37T,

p3papapapapapapapppaPapapa 65 GGG EEECE



EEd 3.2

6
7.
8
9

@Al fededn STt Adiae Aiehdia I g forar.
(1)1, 8,15,22, ...

W oa=01 (=] =01 =1 ...

t-t=L -1 I=L|

t-t=L1-1L 1= | d=["]
(2)3,6,9,12, ...

a o=l | =L ] z}:|:|, t4:|:|,...

tz—t1=|:|, t - t2=|:| sod=[]
(3) -3, -8, -13, -18, . ..

¥ =L o=l =l =0 oL

tz—t1=|:|,t3—12=|:| a=L1,d=[
(4) 70, 60, 50, 40, . ..

qY t1=| | t2=| | 13:|:|,...

R a==[::],6i=:[:]
WA ShitehT STERTTIUTAT It 378 ol o 3LaT; T8 a1 I fodTe e e
-12, -5,2,9, 16, 23, 30, . ..
faerett TR 9@t 12, 16, 20, 24, . . . 38, AT IS 24 3 U¢ el
Qeflal AT = 19 3 g el
7,13,19,25,. ..
QTeilal AR 2=l 27 3 ¢ el
9,4,-1,-6,-11, ...
I 7RI A fiTeh TEATEHETA 5 = W SIvr=a1 S fohdt 31rad d o
TehT TR € 11 9 9 16 37701 21 o U€ 29 377, o 1 e 41 9 IS hial.
11,8, 5,2, ... I SAHOT Jid —151 & T fohdd ug 318 ?
10 9TET 250 =T TEieh TEATIh! fohd! T&AT 4+ v 31m2d ?

10. Tehl TR A= 17 9 92 10 =31 YSH&T 7 3 STEd TR ¥, FTHT Hieh hlal.
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R forteremt

Teh BraT TSI, T Jarst d e AT e AT SISt fRehauadrdt STshd arl d
Hi 2 fRrfegent=h “HUh hefl. T Qrefi-T SUNTETS! fohel! TR goITal ATeegd fo=me.

qr TEUITe!, el dfged Aig=amen TR 100 9180 emel 9 9aX Jeid Jcdeh Afg=ma 100
HrgUrt aTe gadl. Wi Teurel!, < Tel ufges afg=ana 10 Higl TR S A7 At Jeid Jcdieh
Hig=Te sTefi=an Aig=arean TR goue R fiesrer.”
TERISTT o O hal, o O I9east e Sfgufien rgunet, “uref frfees qeen
TarferchuaT SITEd gRIR aTed, fo SITed WTR | Tael o1Tg.”” TfidTee Feuneft,  Hell JoW T8 .
TRud Hi HRrare foamergedt, Tt Hl WIR 1 HIRE ¢, @ g ] "I hl ‘3T
g T9a fe8e, quTer.” i 3Teea Hig=am= TR higd diieal. q G shigd ural.”

afer | 1 2 3 4 5 6 7 8 9 10 | 11 | 12
qrRE=T | 100 | 200 | 300 | 400 | 500 | 600 | 700 | 800 | 900 | - - -

Hi=m | 10 | 20 | 40 80 | 160 | 320 | 640 | 1280|2560 | - - -
RIS

T & |roft Ut .
AR IR 100, 200, 300, 400, . .. & TR S TR, ST hl AL ?
t =100, t=200,¢=300,... t-t=100=d

BT YT B 100 373,
=T IR 10, 20, 40, 80, . . . & ST Sl A8l sror 20 - 10 = 10, 40 - 20 = 20,
80 - 40 = 40 TEUS ShHAN H&ATdId Hleh TR T4,

A AT HETd Tedeh UG =1 9gT=A1 g BId ST

t 20 t 40 4 80
W E=0=2, Peor=2, o

Z 10 i 20 y t3:E=2

%,W@Hg@%%& e UE AT TUITCcR, T TR, AT TehrTe Seia i et
T, Lot Toited | e S o7, o i ) € siemii) S ST ared S
%a@m.t"

SR g TUTTeaR 1 9T ShHt S78e L o el heft Sgetd SITd @ STwET.

JATYUT TR ek TRV SIS STETH HL0TR TR, STSHITUI ST 72 o UG il hIerEa
B I UTfEed 3TTR. 3T Ufgea 12 uera st haft shier=h 7 39U UTguir 3178,

p3papapapapapapapapapapapapa 67 GGG EEEC




e A
Tt autyef=f mte o118, e At (Buttner) STETT Tosii= UhivTersh! ITTest g, 1
T&STiT SHTET HIfed Seetd g1 UehHTA Hea-Td gidl. T shiH Taulel Gl GealeR f3rehal oIt
TGUAT & Ul S AT ST heh R gld. SR ool -1 Teh ¥ U1 I BId. FAA
ST, I GAT Fiffaed, 1T 100 T e ffgT & et s sl Tosii-1 =l hiH & hal.

gt G forgrerett geard ohefl. qra firfiera s ardt urereft e e STTar. et i

MSEHhe Uliget ST o=, <5 @ ? H el 1 1 100 T TTg=iet Jd =i sSistg! shisel
T 3118, UTet ITereft o1 eTeheli| ? Al Shral= U= T8l 17’

I MY Fguredt, “HY s hedl TR,

oS! TEUITCH, “hT 7 ST SIceh SIS SITei e 3] 7 TEATR! felfged Tadia. Ieal fehd! 37Tl ?

ehTel MY FEUITEAT, * T §olR 9.

TTesl! AT ohd $Tel & FUIT, *‘Thdl hlee Scak 7
HTC TMHH F1eoh SIS HUATH qeddl:
AT SHHT HET 2. 3 e e 100
DI Dt >

JACshHH AT 100 99 98 |
CIE] 101 101 101 101 101

T SIS Jeart sis 101 Id. & s’s 100 9e31 37eft U 100 X 101 7T OmehR
ST, T 10100 ST, A 1 7 100 F&AT ST To=RId erden. T 10100 =1 1 et o 5050
A, TUE 1, 2,3, ..., 100 I A= SIS 5050 TR, st caTal Imameeh fee.

STAT e A= ST HIOAT= T ATTE STRIUI] HE=aT 71 TeT=l SIS ShIevaTe I

firezq,

g efa o mew 8 h
30 T 1777 - 23 Hgarl 1855.

IS MHH g AR THA TR Bid. T T SIS TS
I TehT AN FgaTd Q1. S JTAT AMedd A AT
JEdeh TSy ohl. STEAEH Ml W geefl sTshi=a
FoRET S T, ~ =

1D1papapapapapapIPIpaPaPPT 65 KA




(Wﬁﬁﬁ%ﬁ?ﬁﬁq{%’mnmaﬂﬁ (Sum of first 7 terms of an A. P.D

FARMdt S a, a+d,a+2d,a+3d,... a+(n-1)d

1 9EId a & Ufeed 9e 318 AT d &1 HHT GToh AR, AT ALIdie diges 7 Ger=fl silist S
EUCER

S = [a] + [a+d] + ..+ [a+(n-2)d] + [a+(n-1)d]
&1 e 3 S Hig,

S = [a+(n-1)d] + [a+(n-2)d] + .+ [a+d] + [a]

S e,

2S = [a+a+(n-1)d] + [a + d+a+(n-2)d]+ . .. + [a+(n-2)d+ a + d]+ [a+(n-1)d+a]
2S = [2a+(n-1)d] +[2a+(n-1)d] + ...+ [2a+(n-1)d] ... ndaeI.
2S =n [2a+(n-1)d]

S =5 [2a+(n-1)d] FT S = na+ ”("2_1)41

3qTEwNY, 14, 16, 18, . . . AT IR SE=AT digean 100 T sl g,
IYa=14, d=2,n =100

S = g [2a+(n-1)d]

100
58S, = 5 [2X 14+(100-1) X 2]

2
=50[28 + 198]

=50 % 226=11,300
o, e s ufgean 100 9er=ht s 11,300

ELm 2
"

ﬁ@wmﬁrﬁr%ﬁ%qﬁﬁqﬁaaﬂﬁwwdm,m

t = a+(n-1)d

n(n—1)
2

d

S =5 [2a+(n-1)d] = na+

=D2p1papapapapapIPIPPPRT 6 KA O



a,a+d,a+2d,a+3d, ...

S = % [a+a+(n-1)d]

LS = g [t+1t]= g [ufget Te + Tere= ue]

[a +(n - 1)d] =1 sremfordt sdtdtet
UiE UG = t = q I8 A 1 A9 [a +(n - 1)d] 3R,

4 S wrsaereh sammt 8.8,

341, (1) 9feean n A9t e s .
It : UgeaT n Ao g@aT 1,2,3,...,1
AYg=1, d=1,

S=1+2+3+...

nadve =n

+n

S, = 5 [4fetwg + Fazd )

n [1+n] _ n(n+1)
n(n+1)
H%Wnﬁqﬁfaaa@mﬁﬁa 3.
3a. (Z)W%anﬁaﬁma@ﬁéﬂaw.
IR : UlEedT 1 TH Al 9@ 2, 4, 6,8, ..., 20,
t=dedUe=2,t = WA UE = 21
fal fa Il
Snzg[tl-i-tn] S=2+4+6... +2n
:§[2+2n] =2(1+2+3+....+n)
n 2 1
= x2(1+n) - Al
=n (1+n) =n (1+n)
=n (n+1) =n (n+1)

. UigedT n TH YAt g oS 71 (n41) 39 .
=p3papapapapapapapapapapaPpa 1) R EEEEEEEEGEE

i I
= 3 [2a+(n-1)d]

:£[2x2+M—Uﬂ

RIS oS IS

" la+2n-2]

[2+ 2n]

X 2(1+n)

=n(l+n)=n(n+1)



3a1. (3) e n fawg A= T s Srer.
Iohed ; Ufgea n faum Jafies g

1,3,5,7,...,02n-1).
a=t =13t =(2n-1),d=2
Tal a1l Ja 11
n n
S, =7 t+tl S, =75 [2a+(n-1)d] S =1+3+...+(2n-1)
n n
=5 [1+(2n-1)] =5 [2x1+(n-1) x 2] =(1+2+3+...+2n)
n n
=5[1+27’l—1] =5[2+21’l—2] -2+4+6+...+2n)
n n _ 2nQ2n+1) _ 2n(n+1)
=5 X 2n =5 X 2n > 5
:nz =n2 :(2n2+ I’Z)-(l’l2+ l’l)
= n?
. Ufgean n foww Jafile geam=h <6 n? 19q.

3. (4) 1 IR 150 Tia= 94 fown gear=h s 4.

1 9Ed 150 WHaen g6 famaen 1, 3,5, 7, ..., 149,

Bl STRITUT St 3R,

YU g=1 IO d =2, 949 1 d 150 wia forem T fohelt 0 g, T80 72 < Tehwd FIg.
tn=a+(n— d
149=14+(n-1)2

Jhd :

So149=1+2n-2
Son=75

A1 +345+...+ 149 75 9= 99 +&.
a=13mid=2,n=75

a1 S = 5 [2a+(n-1)d] IS =5 [t,+1]

o=

s =| | 5,= 2 [1+149]
Sn:|:|><|:| E Sn:|:|><|:|
s =[] s =[]

spapapapapapapapapapapapapaps SO D R



WEEd 3.3
1. TSR TRV AEE Ufeed U2 6 o ETHT Bleh 3 318 0T S, .

a=6,d=3,8 =7

S =5 [0+ (n-1)d]

S = 277 [12 + (27-1) O]

27

—EXEI
2

=27x45 =[]

2. ufgean 123 wn Jafis geam= siis wel.
3.1 350 Imeficet Td om g s Hral.
4. TehT ITRTTUTAT &t 19 o 9g 52 10T 38 o Ug 128 3@, O fa=am ufgen 56 Uer= s shial.
5. 19 140 IT=AT G, 4 = T STUM=AT A4 i1eh S&AT= s fohel 3117, 2 ShIGUATHIS! @Teiid sl

ot .

19 140 =31 SH TEAST 4 4 THT S0 T

,
4,8,... ... ..,136
.
1wy et w@n? o=
!

a=_1,a=1t=["]

Y

t=a+(n-1)d

136=|:|+(n— 1)><|:|
L sp =[5 = J [2a+(n-1)d]
D _—

= 1 = L

1 9 140 =T STAF=AT 4 3 AT SonT= e St = |
6’.'@31@%%@1?%@1 55 Uer= st 3300 3R, O fa< 28 o U hial.

So

upapapapapapapapapapapapapa): S S B S L S U DS S S DL



7. et SR S i SHET T S 27 9 T TR 504 3T, ¥ ft 73 S
(fHsparawe a - d, a, a + d9m1.)

iwaﬁaﬁmﬁ%ﬁaﬁaw SHATTA Y= S 12 31, d89< o1 IR ShATTd Yeidshl fae=an o
<ot yeret s 14 3717, & ol =1 9e Hial.
(@RwATAYCa-d,a,a+d, a + 2d9m1.)

" weh TR S 9 g I AR, W29 AT R 19 =1 TGT=A1 §UUe 17 @ Sl

ko .ﬁ’ AU S
(ﬁiﬁlﬁﬁﬁ e SuAH (Applications of A. P.))

341, (1) ToeEr Tam o= Ushl o fae=m ot 600 firert qam shet = 71for |ndean ot 700
e, (i) afgean o= Ieared (i) 10 =31 aeff=r 3cared (i) afgesn ara aufdiel TRoT Seared.
Jhet :  HUHI IR A AT et T&diel a1e glas! 3treieh 3T,
ITE ANTITSZHT ISl IcTe T T TRV Hld 3Tad. ha

(i) n a8l t TereRe el 3TTed 318 0T, feeiean wifadias,

t, = 600, t = 700
STIATAT HT2Id TR h t=a+(n-1)d

t,= a+(3-1)d

=600 = a+2d .......... o)
t.=a+(7-1)d

=a+6d =700 .......... (1)

a+2d =600 .. a =600 - 2d & forra gieter (11) AL 3,
600 - 2d + 6d = 700
4d =100 .. d=25

a+2d = 600 Soa+2x%x25=600
a+ 50 =600 C.oa =550
o, Ofged auidid 3cared 550 e 2.

(ii) t= a+(n-1)d
t,= 550+(10-1) x 25
=550+ 225 =775

. 10 =41 I 3cared 775 Tt 8.
=papapapapapapapapapapapapaps SO D R



(iif) Ffge=r 7 sfeier IeaTe Hreuvarardt S = ¥l a1,

S = [2a+(n-1)d]

9 N3

7
SoS) = 5 [1100 + 150] = 5 [1250] = 7 X 625 = 4375

. Ofgedn 7 9uid 4375 fuea 3cared shdl.

341, (2) 3T FadedT 3,25,000 T9ATE He HUAHET ST IMT IigedT A=ad 30500 w9
AT, I T e 3Tefi=an Afg=amd yeiean ThHUETT 1500 393 ShHT e ANTdTd. o
3G ST ThEe e qut gIvarandt i fehdt afga omTdiet 7

et : 39 Y U1 BSUITETS! £ Higd AT 31 HH, 30,500 WYL SWHET &. 1500 el eI
TR

. 30,500; 30,500 - 1500; 30,500 - 2 X 1500, . . .8 <3 ThHHTE! Shitehl STeRTTUT
It TR,

qiged 96 = g = 30500, d = -1500 ST Heetedl TR = S = 3,25,000

S = g [2a+(n-1)d]

n
3,25,000 = 5 [2 X 30500+ (n-1) x(-1500)]

2 [2x 30500 - 15007 + 1500]

3,25,000 = 305001 - 7501* +750nm

750n*-31250m + 325000 = 0

3P -125n +1300=0  ..... (S TS 250 7 9L,
31?601 - 651 + 1300 = 0

3n(n-20) -65 (n-20) =0

(n-20) (3n-65)=0

n-20=0,fra3n-65=0
65 2

n=20f7\=h_orrn=?:21§

71 BT STRITOT ASTdel Y= shHTh 3TEcd™ 71 &1 "4fifsh g 31R.
65
n+ ? S..n=20

(febert, 20 AfE=AMAT S = 3,25,000 TV dogl Fel IE1 TeFehH HSeil SITSe. FeCeT <hlear=l ferem
ST TS A1al.)
. 3 BAcTed] ThH e U1 gIUATEIS! AT 20 HigH dArTdia.
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I, (3) IR G HIEATCAT ST Thuell a1 shial. Ufee Aig-=aTd d 200 %. S=d Hidl. go=
afg=amd 250 %. s=d Ll fae=n afg=md 300 %. s=d sal. @ 1000 F99 s=d fehdedn
wfg=Ira Br$e 7 I Afg=ard careh wehvt fohdt sra gimeft s ?

SRl Ul ATl s=d 200 F. ; HT AigaTdil s 250 %5 . .

YA SHET BRI &= 200, 250, 300, . . . & AR Il AR

A% q = 200, d = 50, t = G ATTE JUH 711G o TATEEA S_HIG,
t =a+(n-1)d
=200 +(n-1)50
=200 + 50mn - 50
. 1000 = 150 + 50m
150 + 50n = 1000
50n = 1000 - 150
50n = 850
n=17
1000 %. S 17 =41 Aig=ATd BIget.
17 Hfg=aTd TRUT sr=rd fehdd! O 29,

S = 5 [2a+(n-1)d]

17
By [2 X 200+(17-1) x 50]

17
> [400 + 800]

17
— [1200]

=17 X 600

10200

17 Hig=AaTd TRYT s=rd 10,200 %.
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ELM)3mﬁma@ﬁwmﬁ¢mﬁmA%ﬁ%ﬁﬁmjﬁﬁﬁﬁég%aﬁﬁamﬁi%
T e B foiga B1ed. oTar B whafeg B 1 3t e

P P, 3 3tfades WA ga=a aTal e
> 3T 8T A shg, ®S 1.5 Wt Brserel 1eferdes P hieed.
m TR THR A T B g 99 oed 0.5 auft, 1 o,
\ A B 1.5 &ft, 2 &ft, orem frsarh srdedes FrecaHs T
JAATRR TR TIR BId, T TR ThR 13 ST
P, AT AT Sshiel ThUT vslt fehelt 3Taet ?
(n= " =)

IHA: A, B, A, B, ... ATHAM ohg B3 higeied SLTRE SRA P, P, P, ... A, dleed
STdaqare BT 0.5 S T8, GE=AT Aedader=i Bream 1.0 9t 3112, . . . ATwror At
feeft o, & P, P, P, . .. P WG,

fgea SHufEmEt Al =P = 7r —Tc><l %

g=n5=nx1=n

3
P =mr =n><1.5=5n

%aﬁﬁqﬁmﬁ—n Mt—n .. I G JTRTOTA AT AR,

1
I g = 5 M, d =5 T, IS, G,

P,

2’

S = 5 [2a+(n-1)d]

S %Dx—+ﬂ3nx—]

13"

13
=5 [m+6m]

13
= - XTTm

B2
T2 7

= 143 9.
. 13 AT TAR STeTeaT Tshleil TRUT ATslt 143 T, 3.
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3a1. (5) UehT TETd 2010 Freft 4000 e H1ER BId. & T eladt 400 7 dared. @€ 2020 Hreft

Torct Ter HTeR T ?
IJhd
EL 2010 2011 2012 2020
HIeR Aleh 4000 4400 4800 oo

a =4000, d=400 n=11
t =a+(n-1)d
= 4000 + (11-1)400
= 4000 + 4000
= 8000
2020 et 8000 THeh T LA,

341, (6) Sl 3@ I 2015 Gl 9fdss TR 1,80,000 . e owfl it e,
SHE T @l 10,000 931 91E AT he[dl hal. aX fohded ot e aTfies TR

2,50,000 ¥ BIEe 7
Iched :
a9 ufect oy gty e a9 L
(2015) (2016) (2017)
wmRER  ([1,80,000] |[1,80,000 + 10,000] coe
a = 1,80,000, d = 10,000 n=7? t = 2,50,000 .
t= a+(n-1)d

2,50,000 = 1,80,000 + (n-1) x 10,000
(n-1) x 10000 = 70,000

n-1=17

n=238

8 =31 eff == ATfYeh TR 2,50,000 F9 Bise.
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TqaEd 3.4
1. HIHRM 1 M. 2016 &1 atda shi & feazht * 10, go=an feaehi % 11 fow=an feasfi 7 12 amm
TehR S9d hid e, T 31 Te8st 2016 wia fo=ht wepo s=ra fecdt st 7

2. TH! TEEIM 8000 FTU ol wacl MV R 1360 T ST VAT Hed ohel. Tcdoh
T A=A TcAUeT 40 F9 HHI <HT T WehA 12 AT gocdid Wiell, at I feden
gfgett 9 e g fohdl Bian?

3. G- TS = SHIOTOETE R digedn S 5000 ¥, ga= 9l 7000 R, foe=an o
9000 3 ATIHTU! TR T[dael!, a¢ A= 12 uidicl TRUT [aavh fehd ?

4. T ASFIETA A=Al THU 27 T 3ARd. uleedn Wi 20 =l 3ed, ga=a1 TWd 22
gl faa=a WA 24 At AV 99 Geaid! Aol 8. @€ 15 =1 Wi TRYT fohe ! Gt
JTEA ST ATSRETA TRVl fehell Goal TETS ?

5. HRATA A TehT ST A HIHER o IR AT fead=a1 aTIHH= e shell. o1 el STSRIuTd
IEId AR 3T TMEBA. IR o IHIR=AT daHHEN S FSaR o SfHai=al draqH=]
S 5° Gfersdd SR TR, SR g9aid aMaE -30° dfedsd 3fd @ Yo feaam

dIYHTA <hlal.

6. STTfaeh Faterel T Breniomend! @SR JERIUUTET SRIHH ST 0T STl
afee B Th S gU=1 JABId o e, [de=a1 @ diF ATE 25 ITeBid e
e, T TR Tl 3Me et 7

ThIUT TYTETE 3
1. @ref foerean Iuywar=h wakht 3ca fooft strea. wmiht o 1t faer.
(1) -10, -6, =2, 2, ... & hiHHT ....

(A) TRITIT 21t 3R, SRvT d = - 16 (B) STeRioTet St 318 Rl d = 4
(C) STRIITR 21edt 3117, v d = -4 (D) STeRTforct et ATl

(2) I gt UG -2 ATE ST HIHT=T GTeh & —2 317 ¥ SFhivrelt Sicfiet ufeeh =m o2
..... 31T
(A) =2,0,2,4 (B) -2, 4, -8, 16

(C) -2, -4, -6, -8 (D) -2, -4, -8, -16
(3) ufgean 30 A4t T 90 Wreftcdeh! o] ?
(A) 464 (B) 465 (C) 462 (D) 461
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(4)%@?&13165!Tﬁrm°f%ﬁt7=4,d=—4ata=...

(A) 6 (B) 7 (C) 20 (D) 28
(5) weht ST SIS 0 = 3.5, d = 0, Wt =. ..
(A) O (B) 3.5 (C)103.5 (D) 104.5

(6) TeRT SR SEi=h afeeft gH U¢ -3, 4 3Tzd. W21 d9E . . . 3.
(A)-143 (B)143  (O)137 (D) 17

(7) S TehT ST SIS d = ST -t = ...
(A) 5 (B) 20 (C) 25 (D) 30

(8) 3 =1 ufge=n e = 9 . . . TR,
(A) 45 (B) 55 (C) 15 (D) 75

(9) 15, 10, 5, . . . 3T TR =T UlgeaT 10 Je=n s . . . 3R
(A)-75 (B)-125 (C) 75 (D) 125

(10) Weht STehTIIOTCAT Siefi=l ufeed Ue 1 T 7291 U8 20 3. SLS = 399 AR, WA = . ..
(A) 42 (B) 38 (C) 21 (D) 19

2. =11, -8, =5, ..., 49 IT R JE Vagd A1 UG HIal.

3. Tehl TR S 10 9 U2 46 MR, 5 AT 7 471 U= 9l 52 378, ' ol ! hlar.
4. ST RO &= 4 A€ -15, 9 9 U€ 30 31Te, &1 Jdicd Uigedn 10 Ter= sl hiar.

5. TF AR A 9, 7, 5, ... IMOT124, 21, 18, .. . . 370 T ARd. ST AT S STHI(0T
IS 1 d U THH TA T # =t ThHd hIel MU 4 72 9 e hiar.

6. ST TehT STRITOTAT A= faa=an 9 3Teean Yer= s 7 318 11 Fdedn 9 14 <31 U=
09 -3 3™ 0 10 9 IS HIQl.

7. Tehl TRV I Ufged e — 5 STMUT Sed= Ue 45 T8, ST Jd U= s 120 378 aT ot
Tordt Ue STHdteT 371U = ETHTSh Wik fohdl 318 ?

8. 1 d n AHfiier gear=h s 36 317, 0 n =i fohAd F1ar.
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9. 207 I HEA= T WHT 378 T hl 1 FEAT SR HEd FHAA d TEM G W= UMRR
4623 3TEa.

10. TehT STRITITAT SIEid 37 e 3TTad. Fdid HEATI ST o9 Jer=i sisT 225 3718 STI{UT Siee=al
T uerEht S 429 3R T AR St forar.

11 ST STeRTRTet St e g ¢ TR, R G b 3T I Aees) UG ¢ MR, 7 e et wd

weiel i (-0 wad e &

1zfmwmwmpmaﬂwm q T SSTEISR, 38T o o= Ufgea
(p + q) TET= O I 314d & gr@dl. (p # q)

* . o
13. TRV A=A 11 =1 UST= m 92 &1 71 o1 UeT=aT 1 Ueieel 38 e (m + 1) 9
S 378 § gREEl. (1 # 1)

14. 1000 F9IT= TR 10% HTeeATS GUH e, aX Teieh a1 Sae! fHesuI= STl t@eh
TSRO 21! BTSt oh1 @ TUTHT. T STRTTOTT 1€ Bl T8 R 20 T Hesu=1 ST
TR HIET. ATHTS! @It il 01 .

3 PxRxN
100
) 1000x10x1
1 I iU T = 130 =~ -]
. 1000x10x2
2 it firesum HieseaTs = 1>(<)0 = _[]
. Ox0Ox O
3 AN iR SlessaTst = Too = 300

ST TR 4, 5, 6 AR SR =t ot 400, [, [ s,
qaeeEtd =1 snfirg =[]
20 YL fesu TeseTS,
tn=a+(n—1)d
t, = J+@o-1)[]
(=[]
20 TR fireom T = = [

000 | ~4ICFHD

e e o L L e P S O O O D D




4 SO|ED|SE]

o Sfuwdt 3@ o L fiSTeh (I 3-og1gH)
o SfTadt U 9 3YC T hele ® 3T, WA %S d SIP

farfarent : fergemeff firi, sTuean STd SATURIETE! SHIvTd} I =Te] 3177 ?

MY : YT ST SHUH TR S d Tl hL &1 ShLuTTe!
=Te] 32

Tarferent : B! TITEECA TrETE ¥ 1 WG 378 ?

™M : GST T8N Goods and Service Tax.

ST : EYUT <RI Uehdl ShOIUTT! STHATT STTe! 377,

Tarferent : seR. it fafay T=aTa ATerTes ot STTeRTeSIT Je! GelTd AT &I, IeT<AT hifushl shivTd
T T T HAT HUHE AT HUATd 3Tl 3TTed, o @ieidl T=rs qrg- J.

IThIh : IcATGH I[eeh, HTHT [eoh, Tae, HIAUEh i, huld Tashl L, TAT L, ehId STG!,

e L]

TRIf&TeRT : 2 Ta L TG & STTAT Sk I HalT 81 o L % HaT=a1 @G| —TaIshiar TR
STl TV TEUIAT Teh ¢, Teh L, Th ST . &l hIUTert 1 et 2017 IR 30T

She fersht &t (CST
rferehe €T e

Heaaidd L (582)

IcTEH I[eh
e Capin () > g o (CSTD

&G F T R
(SiaEd)
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(WGIEB (Tax Invoice))

TE] TR S Segied ()

SUPPLIER : A to Z SWEET MART
143, Shivaji Rasta, Mumbai : 400001 Maharashtra

Mob. No. 92636 92111 email : atoz(@gmail.com
Invoice No. GST/110

GSTIN :27ABCDE1234H1Z5

Invoice Date: 31-Jul-2017

S. HSN Name | Rate | Quantity | Taxable CGST SGST Total
No. code of Amount
Product Rate Tax Rate Tax Rs.

1 210690 e %400 | S007H 200.00 | 2.5% | 5.00 | 2.5% | 5.00 | 210.00
. f.

2 | 210691 | =Thaie | . 80 191 80.00 14% | 11.20| 14% | 11.20 | 102.40

3 2105 | *s%hH [ %.200 1 9% 200.00 9% |[18.00| 9% | 18.00 | 236.00

(500 7H)

4 1905 ECS %. 35 19 35.00 0% 0.00 | 0% [ 0.00 | 35.00

5 210690 arft | %.500 | 25034 125.00 6% 7.50 | 6% | 7.50 | 140.00
. f.

TRUTET | 41.70 41.70 | 723.40

de: AR AT foATd el A vse fewdrd. <= 31 9.
forfarem © CGST 1ot SGST g GST = €F 9 31ed. CGST %o (Central Goods and
Services Tax) TgUNS Theid % & Wl X, &1 ohg TLhRehe ST gidl. SGST &

(State Goods & Services Tax) TS & & Hall . BT TS HLehTiehe ST Bidl.
. oo Soe ShIu=Td i o STeRe gu Hidt T fewd d e R ?

forferept ;71 Sfugfen v =M= i@ #HTe 3R, (GSTIN - GST Identification
Number). ST ST qRfie 37T aidid SR 20 ARG FUATIETT S 378,

T BT ShHTeh B0 SeMehieh 3T8d. PAN T Wit 10 FeheR FEdm, a3t T
=TT fedear GSTIN A& 15 3TehIeR 3THAId. T 15 SThMEI 1 SF9=I=T 10

STHIT=T PAN HHIfISE 319!,

Jeend, 27 ABCDE 12 34H1 Z 5 (e 37k fhar 3781 ATdeh Teh 375, )

A 4 .
TSI 2 3Th!

HehdTh

10 37h1eTdt PAN
TehT Aiguitandt 1 37

gatgrdl a9
(919 SIhice)

I g fefe «—«——
(=ish 9 Tefote Teurst GST == dedrseat GSTIN <reheT,

<1 &1 TR Y T8 ! A&, & HHSld. )

=p3papapapapapapapapadapapadal ) KA EEECEEEGE
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27" & HERISCTE U HohdTeh
(State Code) 8. 27 &1

HehdTehTae T SATIT=IT= 1ol

NS el 3717, B THSI.




S ;. dise HSN #ig 71 weg Eid TR,
farferept:  HSN whie w80 @1 Sl srfiehtundial faferse shuren or@dl. ot dfiseemed o=

JTauTe HUEe ga1 3|al. HSN T8 Harmonized System of Nomenclature.
S ;L SIShIA GRMTE ATE, Iedl, AR, SISl 3hATh, HITsd A1 o 3-Ha STEgedl
3R,
farfereht : stmar a1 SiShIa S 9 HATRUE! AHRUN HIM hell @ o U, @R A
eI fepman =iehdl W, sfiStehid Ye=n 9E 400 . Wfdfehal 3. 3Tl
fpei e ®dcl 3Ted. TEUH oIl fohEa 200 %. TR,

4 Y& he=T W 2.5% < Y, qEE TSI=AT o wE 5 .

4+ FEEA, YeIEld aR-TET HOE Q@ 2.5%+2.5% = 5% 9 THU R 10 T

4 AT FAehoieal TE-HAT T THU & % TEUH AT TRUT T,
4 STEGHRITE TE] T4 HUET THRI R % 3], TEUM MMgHhiae fohma T,
+ AR g T % d TSI & % ThegT aEq-—qar =1 R %

.
e @ e HUET G 0% 2. 8T T TR ohg d TSI G THM 3Tz,
TG« ST e @ AT 3Ted, SE 0%, 5%, 12%, 18% 9 28%.
Trfereht : T aEqEdd U=l o e Hivad . STa1 TRl a1 SiSeRrETEl T 9TE.
fectean mfedfiaes fehmean S W& Hamsiss o .

a1 LT 2o S-ogigd (FHAT)
RN -, @S ﬁﬁlﬂg, gtﬁ Invoice No. 58
Mob. No. 7588580000 email - ahar.khed@yahoo.com
GSTIN : 27 AAAAAS5555B1ZA Invoice Date : 25-Dec-2017
S A Code| Fooditems | Qty | Rate |Taxable CGST SGST
(SAC) (inRs.) | MO
9963 Coffee 1 20 20.00 |2.5%(0.50%. | 2.5%
9963 Masala Tea 1 10 10.00 |....|... 2.5%
9963 Masala Dosa | 2 60 ce 2.5%|. ..
Total |... ce ce
Grand Total = -------- L3P

frferemt « o @ &1 A qg T e Feqor wea gt foa=n sieadia we e &1
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dfe  : IEqfEeR HSN i fea o1y, @ IuRier=al o SAC #ie feual a1m.
farfépr @ SAC TeUe aren affeRtudial fafie shAmh ol wm@ SAC - Service
Accounting Code FgUrdrd.

Gefidl AR hral a%q, a1 MM el e g THAGREd ool 3TTed.

3.%h. Jh ST T F TS TR
[ | smenf@ | 0% | o - AI4TITEg Sadmaedes 9%, Wsardl, we, ¢4, Hig
(Nil Tl ardt g
rated) AT - YHIGT TEAT U, TT0T=N ATEqeh, Ted o JAT aTT,,

et 9 TR Be, |t AT, Adgast Aar sed.
II = 5% |@% - 9 AT 9% - w9 - LPG fafet, =@, a9,
Y, i s, a9, TR, war, e sad.

Tl - &d AEdh, 99 dTEqeh, <al dar, foHe SRk
(SehTTH T, BieeTH e @resierd & U Qe gearel.
M | yo® | 12% |5 - TTeshOan o - AvR, T4, GohHal, HISAT 3 hedTaTd

(T ) T ohelel AT, G, ST, Siefl, Jeudl, Hiensd Scg).
[T - DUTSHIS! HH, T BI3H, FehM Fagrmen FHfed
4T 3T

IV | yHmore 18% |a%q - Aed, RS, THRHE, 9l 9%, @ueh, i,
(zax 11) (Hie= AL, CCTV 3ATal.
T3 Yl - FHHW Alcgdd, MHCSISR Hefi, Tehd, A1eh, eI,
g | o, = fafim gan, Ser e -fashiedia garef=h dan
TOTST) | geardl.
V | SSEaHE | 28% |9 - UNRWTAT 9%, Wi AR UIeH, AFRRl R, TH
HATAT, SeoRIH SR, Te91 aier AC e, FfmT 9eiH, aerg |
3cred, Yiaud seard).
Qar - YIaifehd giee HaTe =Tew, fREme urh, diet
uTeh, off UTeh, eI, W, IPL @ Wes, fouH araqsh
(ferera wme) 3Tl

e www.cbec.gov.in (Central Board of Excise & Customs) =} JegEe.

1 AR 0% T 5% <A1 AT IV SeR STEE! T8 o I,

du - g U fafgvaan 9t e StEeid Siuadie YR 9 g Edel 3T,
A §CA 8IS Wehdl. oI, USiel, SIS ScaTel SuHd=al hald TrRid.
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el [ : JraTen ArOm=T fRAH €@ SRRl AT IR U d eR SuEeEn ot fohdl
AR 4 feoielt I, Jeaws, $etie, Siuadaia geash fohal a%q @igr=an faamasd
YA foreT. e & Aifed] 9edregd uTal.

T Sfegd=n @ T Sfregde=n &
1. Ehageh 6. - —---
2 AT R
R §.-----
4= - - - - 9. - - - -~
5.-—--- 10. - - - - -

Sl 11 : Sl [ sH0 fopme @1 fofoy San(S@ - @ 9 wa.d.a9 gehin a1 33md))
TresauaEdt Sfuad= @ e fohar Ta1 Qe foot fiesar. @mesd @refiersmm
TR qOT .

LEL Sfregdiean & LEL Sfregdan &
1.3ed R 6. - —---
2. PR dfegq R
3.- - - -- R
4----- 9. - == =--
5.----- 10. - - - - -
el 11 : Qrefid dodl 9181 9 A0 9% 9 da1 Sig wegd fo.
LEll SAC |GST=n1e| a& |HSNCode| GST =T
{od ATEq Il 996511 —- SIAFE U | 3208 28%
T aTEees |am (SR | 996411 —- AT | 84821011 28%
T Tt gan 997157 —- whgnfiet 8714 28%
EISaEL 997152 —- A 0701 0%
ot Afead 996423 —- —- —- —-
5-TR BIed &aT —- —- - —- —-

FHdl [V : @ S 9% d 5 daEEt HSN @ SAC dad @R . 1 qacamed
I 9 HarEt o foehear. & awq 9 F@@E GST = &€ wigg fom.

U : T 9 sEade @ aed HSN, SAC wisaiicl Sl SCGH HIRATS! 7Ted.
3 U HUETEl TS ATE.

SushA : gral fafay yerr foet firesan. st a%q qaet foet, T gt s foet gemet.
1 o SHTEd=an FeHia SRTTesIT iseeh T STHITH U & T == .

spapapapapapapapapapapapapaps SO D R




.08 iR s 044,04

3q1. (1) IRAT 79 T T545 O frad=n s LPG fafdst ueem fosar. shwads=n
W 5% AR, T UTEHME fedcdT HIEISehld shgMl o Il L fohdl T 30 ?
TTEehIH TRV Tohcll &9 GITdl ANTAIA 7 AT 79 TSHTelm TRUT fehd] o) &@T

AT AT ?
IHhA : SATHS BET P = 5% . HSOEEET @ 2.5%, 9 TESiuEeE @€ = 2.5%.
2.5
Hsfeadt = Top X 545 = 13.625 = 13.63 T

S TESEd = HiSitEd = 13.63 ¥
TTEehT CATE] TATTOM THUT T@hH = U fhUd + hgral &L + TSI L
= 545 + 13.63 + 13.63 = 572.26 T

AT TF THTHIAT hgr=l L = 13.63 T o TSN o = 13.63 39 9UET AN,
TRV TRVl S daT-hL 27.26 ¥9F WIET ARG,

3q1. (2) FHRIW AT UMTAT THI Tsied Teh qEA ATIehgd ATTRAT ISAUAHTIS! ATEhThg
TR 590 T Tdcl. AT 500 T HWH TR Shg=l o 45 - F TSI
H 45 T IAE, W I TGN AThReA] I HaT U=l G Hel.

IR : TRV I 9 AT R = ohgEl R + TSI B = 45 + 45 = 90 T,

. 90
I " R W = oo X 100 = 18%

PSR T UM TAed I&q_ &a1 U= & 18% AThRAT.

3q1. (3) e I 50,000 TR BT fehadi=n <fueid fashd Bvar otEd. ghMERH AT

fopmeller T 10% H2 foell. Tueiier a&q e =l & 18% 3R, T GhMENH
TRIAAT heT=l T o TSATET HL hiel. it I 8 wued fordt Fumn fiesran ?

It : AY YW T hig. o et frudiqy 9 wE 9 SToledn W 18% SN
T T HAT HUH ATRRUN FHE.
¥ = 50,000 TR 10% = 5,000 T

S, A= e fhAd = 50,000 - 5,000 = 45,000 9.
18% SHUHEA U <he=T & = 9%

‘ . 9
45,000 TSR 9% chgrl L = Top X 45000 = 4050 70,

| USIET R = 4050 T,

;. Saera=lt THw fREa = 45000 + 4050 + 4050 = 53,100 ¥,
el SRt Sue™ 53,100 ®9IE firesTa.
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U : U fhAa N ST feRAdieR R STTeRRen Sl df fohAd. WS qod U

e fooiell THU fohHd. 3G TG ohal 8@ @ fshiE fhad s oM o™
TS, SIFeT Shgral o Al daere USATET HL ITEal.

WEE 4.1

1. ‘e fsshed’ 9= qLea] HdTd. A=l ghMIdIa el ygreR GST =1 & 12%
3R, ® CGST & SGST =1 & ferdt 3@ ?

2. T a&qEda CGST =1 @ 9% 3¥d @ SGST =1 & fohcfi? @& GST =1 & fhefi?

3. ggd fEd 92 9 g T 2800 wwE frud @t Uew 2 =4 faed. GST =1 &
28% ITEATE T siotehid CGST o SGST fordt 9 TRl 318 ?

4. Uepl freeara scest e fhad 586 T 3Mg. GST =1 @ 18% 3AR. M, UTEhIl
q dee fordt suamg fied ?

5. WU Tehl THIC Shegldl hRE! SHUH g TR fhid 1770 ¥ 3. Stead=n
W 18% 3R, d I HRE e fobra, el CGST a SGST = TUH .

6. I FAFEIFE'd Thl HUAIAT g A= o HUHE 51,200 &9 Tepmeii=n TSHehiSIX
PIAT. TIH{SIR ahid CGST =M & 14% HRRAT. @ h{ SISl Qiellad o1&l
fordt exfacan A 4 wIel.

(1) SGST =1 & (2) wHadid GST =1 @€ (3) UHE e fohaa
(4) GST =it wpur wehd (5) CGST =it Taehd (6) SGST =t T&pH

. JHTET “HENTSE Sodi—e 88 TYd 40,000 9 Brdtel fermei= aifm wefi foeha Sa.
TR GhMENH 5% ¥g foetl. Sfudei=n ot 28% 8. T JEGAT d SifnT #Ri fehdt
T T ? o disenid Hisiivad! 9 wEsivgd! fondl T03 318a d e

| %ﬁi% SUE YA

(@H’H‘I’q gr@esldid sit. g, . (G.S.T. in trading chain))

HTheh SATIRI
e o >t > en >
g9 "r@es! (Trading Chain)
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U AHEA SHTHE HITIHR AHRATT o IMEATHS THT hLdTd o Tehl IETELTH UTgal.

I, ;.  GHST, ThT 3cAChM Hideh SAUIE Tsh HSIS TREE 200 29T forehdl.
ek AT fhiehies SAMUT=AE 300 FGAHT 9 fohihlcsd AN UEHE d H<ITes
400 ®9IET foehdl. GST =T & 12% 3TR. @ 3IcdIicsh, Heeh o {ohishles IR

GTATATHTY S IATAE U Tl e el HLdTd q GTeilel TEaercTae 7T,

TERIOT :

SCACHRE] TSI UTEHhhs URMETId dF Gl g, Yoieh HagNd  SiTeid

T SMHRON, THT AT h TSATEATAT T SheRMEATAT HET Waredl, 8§ @lefd
CGST SGST

24 24
TpUl GST = 48
/N
36-214=12 48-36=12
/N
2009 12% 3009 12% 4009 12%
24 36 48
GST GST GST
200 =. BIRED 300 %. ﬁlﬂ—cﬁa 400 . 2
Scilash I : i : m | e
JSATd PSR BEDIC)

Tl R o9 AT AU IR bt TSI FTel AR, <Al TAh=al L
ssepidial GST = AThRull TuevaEdl s @relt ool 3R,

L SioTeh [ 7Y GST L s [ 74T GST L s [ 7effet GST
TR TR SATRIf

geaTe= fohrd = T 200 Tt fohd = T 300 TS fohid = T 400

CGST 6% =3 12 CGST 6% = % 18 CGST 6% =X 24

SGST 6% = 12 SGST 6% = T 18 SGST 6% =X 24

uHw fhga =% 224| |wmw fRma = 2336 TRV RAA =3 448

IcITEehT™ L Sioh T3k AT L dioleh  fohiehled AU L sisTeh

(B2B) (B2B) (B2C)
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[T ¥ <7
|| R e de.
2 GSTIN 9eh SATar=H i Sciedl S99/ ™ Business to Business 2TgsaTd B2B wgurdrd.

a-{?_@ 3_q.|a:|.(_ m ?‘ﬁ i:. l-: 2; -E\, = ? f .ﬁ ' :
Business to Consumer &iged B2C TguUrdrd.

T AT YGRS Tedeh A= WoiedT GST < foeu @refiary T 3118,

CGST SGST TR GST
°  3IACHH 312 + 312 = T 24 WAl
° URZRHAURN  I6 + 36 = T 12 9.
e fra@aM=H 76+ 36 = 3 12 9.

TR WO 24 + 224 z 48

U : 3 qEA A¥A I HI? TH AU AT FAUEK M3l holedl hUHYd,

QAT 98t Tooiall L Je3dl hed U3 (3TYS <o shise) ¢ GST =1 WU <hall. 3G

UEHTE d TSIles 448 FOMT THSTA. AT 48 T4 BT fodad vl o SRadeATyHTol
YTV TTghd WAT. T GST & 3wy X (Indirect Tax) 318, TIYEl =TS

9 Tortehles A=A =T WA WAAT R T Td firesdr.

TEEA 5t oo e awee (ITC - 3 4e o shise Ffare st i)

axqE Scdled cnedIHIYH ol aTaEeTT= Alaehlons L‘I|6I"3{‘4I"j(‘l Yl b Fdalid GST

SHlep el Slldl. e ferehd™T ST MieT ehedcdl bl FRUIST 3HTHhIYL oy, A= ST

TEqECe] Je Teoidl o TeUSd $9C oM. 81 SN M TMesT shatedl hilqd feeiedl

FHU IS Bl AT S Tod shise FguIard.

S, ¢ GST = Acye 3o - $Ye 2o shise (ITC)

AIESHITT THATRS HU=ET WM HAHT ARSI Tdeh AR oI @Al 9t e

o~

<y, Tdshl=l A AT eheledl h{HYA dSIl shed 3dedT bl “U‘ﬁ
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04 08 Shvireaeh e 04,0804

31, (1) *ft Ufea g Fortenies SR 31ed. T a&q=an @Er=a 98t 6500 ¥ Sfgd fean 3
forsht & 8000 T STTEE e Shadl, W (i) 3TYS T T MY o fehell ?
(ii) =ft. Tfga 1 31Ye o shige ferdt T2 fradat 7 (iif) T+t < STEetett Sued e,
(iv) <heTaT o TSI < o hIQl.

Ihet ;. e I & L 72U SITEAThS W= i,

(i) fershiean Ie8t Eraetet (3TSHeye 3d) = 8000 &
(ii) W= 9t feeiett (3792 o) = 6500 T
TgUTSI 349¢ 2o shise (ITC) = 6500 T
(iii) < R = forshr=an Jet Sraeian ot (3MMehYe o) — 94e <o shfee (ITC)
= 8000 - 6500 = 1500 ¥9

. 1500
(iv) .. <hereT eg &t = — - =750%0 SATOT T e R = 750 399,

31, (2) A9E I HifFehedd 8000 TUIT=T KT frad=n fafaas 910 @idt el 9 Urgehat al

10000 9 3T AT TehA e faehedl. GST =T € 18% 38, dX HEH S shitehed=l
ShgTET ¢F R T TSATAT ¢F L HIal.

Ihel : WA I feoiat e (392 o) = 8000 BUIT=AT TRETAR 18% ST WAl oht
18

= E X 8000

= 1440 39
o ITC = 1440 391

3MMreYE TH = Tarshi=aT I8! UTEehTehgH TTIe3T hetall i

18
= ﬁ X 10000
= 1800 T
AL = Y ¢ - ITC
= 1800 - 1440 = 360 T
T, S hitehedl shar=n ¢ L = 180 TG I TSI ¢ & = 180 T

341, (3) H. T Hitehedd 8000 FUT= (HHE foprd) forfeers 9 @idt et o UTghia 10,000

ST (g Tohra ) forehatt. 0 S/ hitshed= < shami ¢ L J TSI ¢ L hlEl.
Y T T 18% 3.

Shel . A AT TohAd SRUETEd feeies TTed d ST =,
1D=papappapapapIpaPapaPIPR 51 KA AAAAAAAAGC




TET hUHE TohAA = U fohAd + F

Terferre Tl s fopaa 100 ¥99 3/@@ X, »U9s fhad 118 399 8.

g fhra
T oy © T R ST

118 ¥7¥ THUT fopAdiamat S 100 T ST fohua @ 8000 &I Tl fehAdiamet, x T
T fohmd AT,

. X 100

© 8000 T 118

8000

Sox = S X 100 = 6779.66 ¥

', TEAT desl WAt GST = 8000 - 6779.66

.S 3 = 1220.34 %, L ITC = 1220.34 ¥,
IS 10,000 &, THoT FRAETSt, ) 93 Shtam fohwa A,

Ly _ 10
" 10000 118
10,00,000

LY=o g = 8474.58 %R

", Tershi=aT ded] 3T shed el ohi (3TTHIYL <o) = 10000.00 - 8474.58
= 1525.42 %1
. T L = MBI holell oL — FaTad=l Wl = 1525.42 - 1220.34
= 305.08 ¥
. ShgTET ¢ L = TSI ¢ T = 305.08 + 2 = 152.54 ¥9
Ical : ST HIYheE=T shel=T ¢ st J TSATHT eI T Ycehl 152.54 93 313,

39 : 3q. 2 T 3 HIBS(YEh T, FEERd relal AT el T hi Sieleh

TR HeATd, FRUH GHRMGRH aEqE! Sid fhud wuEs ool stg w1 S|
TeRTiTeR. T STTRIUTR 3177, & TS =31 & cIHat @i .

[igi ICT Tools or Links

Sh TRETd hUET WM e IM [Coded] arE=ar 3d e 9 (GST
Returns) er@d iUl 3TE¥eh ATd. AT Gd TS AT IFATST Hidl Idrd.
www.gst.gov.in I da@TEeaR W foeturaseh greten dreal Idie. (Sheedt faatorm
TR HUATETS! ITheATs JATAIGRHT JTIT 3. )

spapapapapapapapapapapapapaps SO D R



341, (4) TehT HRehdd 3CATEhT, HTSHeh SATIT=TAT 4000 T9F LT fShad Y Hrehet forehetl. BT
T o ATAhe 4800 T AT FRHAH GehMGRICT forehet! 9 GG ol |Tshel
5200 ¥ AT TohAd U8Rt faeheil. GST =1 & 12% 81, @ foashl=an T
TR ¢ HIRT CGST & SGST HEUaTETeS! @Teiiet shfl o7 .

3%l ;.  UIEN UTGR]

IcqTeehTe forshi=an Jesl Miest shededl o = 4000 = 12%= |. .

%4000
—_—

12%

ITTEHET T H = 480 T,

HTSheh A=A fashi=an 9t M1 shadell st = 4800 3 12% =|576 T4

3 4800
-_—

% 5200
— >

12%

12%

. X =

. Hl&eh JMUT=ATH] a'JT:F{ = T3eh AT AT shetedl Tl — T Hdalall asilae

=[576 1-[480 |
=[ 96 | *

GehHGNIH fershi=a 9! Miesl shadelT st = 52009 12% =

. GHMRET 68 GST = GHMGRI e hetall Sl — GHMGRIH Hdeidl] SSlTee

FET AT@SId GST = ¥ROTT shearel feremor
2Eail g GST 2 CGST I SGST
3cTGh T 480 T 240 N
T3 AR % 96 3 N
GHMCR 3 4 4
TR z z z

upapapapapapapapapapapapapa): S S B S L S U DS S S DL



i
L2l

E;H forem e,
° [HS, Tehl ST It ARG TISBT Shetell L d Iiaeie Tehd THH TR, 0

I o Tohet A5 ?

° [HS, Tl ST T3] shetall St ARG L, T aoTad =l Thude

3. 3T I HUTUFT I I ?

EE 4.2

ok

. AT EITEA 01 et 2017 o 31 et 2017 A1 hiaTaeid shoted GRerER 1,00, 500 T STEd!

feem T feshier 1,22,500 99 SUEd MST hall. T Hel hlAEEd =aT TEISTHAT e
AT ¢ SHUE e

. TS AT SCHET G AT AIGUNhA GohMT=AT HIAThIU HTad. T BGeR THUT STTEe!

12,500 &9 fear grar o forshian vyt Seadt 14,750 F9 e Shall TR, T T fohell T
STYe o shse THadet 9 = ¢ ShuEd el

STH TeTITESH TTehald HTE=AT Sl WG hTaMET 3800 T SHUHET WTAT STTIUT <7 STehed]
SIcHe fosha™T 4100 F9 STUHET TMeT hal. Teh | il TheRl FGHhgd ol STeed]
4500 ®9Y STHET THA Torehd e, T Tcdeh SFT8NId oI SUES hIQl. ITae Jcdehlel
ST AT gl < R (CGST) 9 T=am= ¢ X (SGST) Sler.

NG B HEUST 318, Afier Aictsh 179 TS hial T8 21T 24,500 39T ©E! hedl
AT TTEHMT 26,500 T Fershear. AT STTERIT 5% S ¢F ITHAAT Tl SATUHS el 9
T sheT=l ¢ o (CGST) 9 Gorrsam=n ¢ & (UTGST) hiel. (Fatsard SGST Uit
UTGST 37&a.)

. H. I Tiedg 6000 TR 18% T STH ¢H Higd SHIEHTH! @GT het! ST Tehr=

g™ o Td 10,000 FIAMT foehefl, T A1 TRREREH ¥, S UTgwed TR heted
T TSTehTd shgTell @ Tsare! (CGST & SGST) < STHUTRY % d HalT ohill! {aehH Tehd! graaet!
3 d Hlel.

. G feetea HiigdieRe gehMGR d TTewh (B2C) IrEmei= siste (Tax Invoice) TR 3.

914, Jedl, TE  ScaTe) qHeal G IH =21

FET AUl : TETsd Sl g -3 200 191 GSTHM& 12% HSN 8507,
BRI -T 750 19 GST=X 18% HSN 8518,

=papapapapapapapapapapapapaps SO D R



7. @relt feeiea HiiEdae Teht SATIT=Tel GH=a1 AT T=aETs e (B2B) o $egigd Tar .
14, Jedl, ARG eaTe GHSAT TEdigar =11
EBIER — A6, Uedl, Tsd, GSTIN, foret ek 9 aii@.
Tedehd! — 14, TedT, U9, GSTIN.
&1 a9efe : (1) U S| 100, HSN 3924, &0 20%., GST 12%,
(2) T & wgew 50, HSN 9503, @ 100%., GST 12%

Tereh WISt

EYes Ot (Composition Scheme)

T I AT SATSTe HIIE AT THHE 1. 5 It THATIET hHl T8 ATATETS!
IMIEHSS AT (Composition Scheme) 3T, AT AT shield IME v shete=n

T SHTHTOT HLdTd.

AT Arteiel sl ¢ (GST rates for composition Scheme)

3. 5h. RLCEIHEN STegT=n &t (CGST + SGST)

1. ERIIUL 5% 2.5% + 2.5%

2. 3cureeh F fershd 1% 0.5% + 0.5%
AT Tl samaT=aanst fam

o IUEHG ASHAIA AT TTEhhgd VAT HL ST Hdl AR T8l TG
T AT ST ST ¢ UM ARl A qRaeI= foa (Bill of supply)
RIREECIS

o MM g 3 A=t o feeiean aRvfiqar smeeTehe fashiadiel s swon s
3Tl

o T ISl AT GH=AT USATA forsh! & IRUIR TR ; T Al G- TSATT @HEl &
Iehd.

o I IS A=A @ (Fferse) st astrere o (ITC) &1y fiesu e,

o TS SATIT=ATHT ST Geh AT ATETe ‘HTTEHES AISHd el s’ (Composition
taxable person) 3 feTgrr =117.

o T AN ST qRaa! fsarar (Bill of supply) 3e5eh TeRd “ATIHHES ArSid el

TR forshler st 3TeRRuAT™ 3191 (Composition taxable person not eligible to
collect tax on supplies) 378 BRI TR,

2D2p3pappapapapIpapapapIPR 01 KAAAAAAAACLAAGC




GST =it 3o afsat (Features of GST)
o fafay sTycae s HYsem.

* I d HAEeEA d1G HYeerd.

o  AMAHE TSAHEH Higuft,

e  GSTIN STHUIT=T ST AR ST Hial 37 dedark GST =T T Shiral AFTal.
®  SHIENIA NGl

o U I FHSUATH HIHT HTIUITEAT.

o FHUS K T AN ATaId. TATHS T d T Fehuet STTaTerITd.

o T F HATE AR FNRUSE o1 Fav[d TUTacdd dTe.

o Tk T gieA @ .

o IV A TG heATHe3 Taild (Ui Svad Heq.

®  IEd HaT HL gl Ared (Dual model) 3. TUNI ohg d TSATETS! TehT=l dedl A L
JATHTAT STal.

1. CGST-SGST (UTGST):
TehT T=Td WEI-Tashi saagr
HLMIT SIS,

2. SUERe AT (composition

Scheme) :

ST IATETA 20 ATGTITE 1.5
EOr B2l S s
ST AT o= AT BT
Il @A SGST & CGST
TSI U eITeT ANl

3. IGST :
A=A (Inter State)

Ul eh U] oe‘IIL‘II"@Ii{’iId(\I.

spapapapapapapapapapapapapaps SO D R



ferens mifgerandt

UehITcHeh aea Aan & - IGST (Integrated GST)
ST e8! fershien =egr o Tsarmed Bl (Inter state ) T Sed! S SHTHET STehITAT STl e
T & & U1 T (IGST) FEUTelTd o dl qUTa0] shg EehIiehe WTell STl
T TSI ST gH=1 TSI SATI=ATohed a6 @Gl hedl d TUedl TsATd
forsheaT, T @M IGST Fav[d Wieied s astae (ITC) haft =T 3d 7 ITg.
SeTEunel : ST M (HERTSErtar) AT 20,000 T TRt G 9T SR P (TSremedia)
ARG Toehd Bl 1 A8t 28% T 5600 T Tehlicheh a&q d &a1 e (IGST) =T
P =171 fea.

M T 2 Td g2 9T Jefier Tk TmeehtE 25,000 ®9ATE foshet. <1 dedt 28% UM
7000 T SATHE BT hedl.

GST 7000 ¥ = CGST 3500 &9 + SGST 3500 T3 TTEhTehSA TTIeAT he.
SATAT IMEATRS AT HRUT ST 5600 FUa=h astrare ITC sh9ft gara o urel.

A9 : IGST = shfge gam yom o IGST @rdt, @Hat CGST Hrét 9 et shige SGST

1St =ATd. I M = fershi=an =erid IGST Al wav 3eht CGST ardl shiee =
9 A SCGST H1et shfge =

. @ CGST = 3500 - 3500 = 0 &9

U 5600 TGIAThT 3500 T9 shiee U3 T, IA 5600 - 3500 = 2100 YT shiee
SGST 91dl 91 J3.

. @@ SGST = 3500 — 2100 = 1400 T4
‘M’ T 1400 TG SGST RIS AW,

AT AT, Thi AR M I GG det feetesn 5600 Fam=h quf astee (ITC) fiesre.

(FEUSTE 3YC Soe Ul shigd fHesral. )
3

T At feetar s (ITC) T3 shetedl sHL (Output Liability)
IGST H1d! st

< @ 0)
IGST = 3hfee T (2 5600) TR (X 3500) | CGST =t amowet.
EE
SN ] 2709 SGST &1 a1eet,

(78 % 1400 SGST W& ATet. )
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o ATl i s=d 9 TAEUEhe Hecd SV Edel TR, IHER o W | d
Tl ATATd VTR eaTaa!l shefl T8, HROT AgHt Fnfl Tguamadt Stenm st ge=ft
3t SO ANTATA, qHE R TRIEE! S 9 [AaUehiel o AETE] AR, qeAl
TASUEhI=AT YhHId Ude e 378 hl el W™ 9 STWd giral 3190 Hged™ 3.

1 ot >
ﬁﬂﬂﬂﬁﬂ?ﬁ?ﬂwﬁﬁﬁ%< FSc— d T
HedMehe ARl ohid F&UA ol Kl
TR e A e < Si-sq 0| iy fafg fet >
Hoodl <3 Iehd. =81 T, ‘3o Edl
e ffeer s mn . T00T || eewmewen >
TgcaT™ I9d. Sied fomr, A : |
form, =d:= =R U, Sehd UH.El. < frpfen ) Gl >
g Tt @ @ o1 gaten oEr .48
U1, TodT TgUd, TrE o ot I i~
g Hohd TH.E. U holedl ITRA >

E

fE™m R difegee ®e UM
e 3R aC IAS[ hIUEhIvd AT
ARA? TG WA, CHe W, W=FSd e (MF), fedud, §ig sedined fdevs
HUTAT T qTec! MR, aHe TH.A. M HAhSe! AT el dleell 8. gal 3l
Jdsh HigATd Teh SUdeh (kA ed WRUR 3118, TV HAMd el [aaueh As-a
(SIP - Systematic Investment Plan) q SUT&T 3Udeh (&R 39 Wehad.”’

3" FaTg Ul fSehpfoshmfl Thdl 9 Iacea = Hifgd! @Y ‘g feaw™, Sged
@™’ 3.
T YR AU IATH, FYA %8, SIP I6eedd Hifed! fHesavm 3Tg.

spapapapapapapapapapapapapaps SO D R



S1UCROE)

Ak

( We™ (Shares) )

(e TS GhM TV TUIS GohHT= HIcteh] (STIRIETRITY) 9. SH-=R Sl T
Y3 SR LT FZUS TR (I, Jrandt Wigadt HHt ANTd, Wg TETe! o1, I foha
HREHT G& HUIET STHA T A WISTATH! TSl T8, § WiSTd FHISTRET 3H e AT,

HIET Tehdl hUHT T& HIUATHIS! ogh ST SHai] Tehdl AT o THTSIhe HISad 3 HEd
S TATIH HIATA. WA U HIRIET 1956 TER hU-T< AU Bl ST TATH HLOTTT a1
HYHIE Tarder (THICH ) TUIdTd 9 3T ShuHT U #aifed (dfeates fafide) sudl 2.

FHUH FE HOITES AET THT AR T8 TH Higaet TgUrard. J1 YISl dgH g GHH 9T
AT, & W FEROIA T 1, T 2, T 5, T 10 Toha1 T 100 3caTe Topme= 319aTd. 91 Tedsh R
TISR TEUAT. § AR I Shu-fandt wigaet 39 et II1d.

BI3R (Share) : SHUHT=AT YHT HISTATI A Teh YT FEUTS Ush 3T, IS T fthehe (share certificate)
T T T fehra, SSTHT T, STHHIH 3Te! BUeiel 318,

WRTEREh fehall IsReReR — (Share holder) : U= 13T forerd HUTHT Sert <1 Shu= 1=t HITEREh
TSI QSN Bid. HITHNeh 81 ATAThe AT ATH<AT JHTU AT HY-= HieAsh 3THdl.

ik Tae (Stock Exchange) : 1 S13TE=l WE-fashl gid. I8 SRR (Tl Tl
feham ‘Tefeh Hiehe feha sfaardl Wiehe, Hiteet Hrehe foha SIS WTehe ) TEUIATA. THTSITREH Higdd
3N & & halall, TeUSd dfecteh fIlidg Ul WSS FEiaed (listed company) 1@
JTITIH ST

o A (Face Value - FV) : shut=an s Affthehder Il Tkl AT fohAd
TS W gt foREd (FV) 7M.

FREE (Market Value - MV) : ST fpadia SIsnaRG Siete= @id-fash g
ferrdien <1 YeRET SREE (MV) TeuETd.

FUAt T et SK fa=lt FmR emever =nTel el X e AswE wwh
TERG JTed STd. USFHA T W Seieh 3THd. TS YREST a1 Wehd ATal, U ol
HUAT ST W TR AN, AR SR hu-ret HHA Gitael! a ASTE Jie
Satard. & Je-3ar gd M, W T Fef greEad. @1 ge-sawen aRomm g

1D=papappapapapIpapapaPIPR 05 KAAAAAAAACEACGC



IR ARG ASTED W JeIeh &ufl agard e,

et (Dividend) : udien anides awld sieledn TwIE dRY ASTEHRAT TEITER
AU hel Sd. WITHRERHT WS TR 9 (=T 379) F8urere aATHIS
.

FHU HEART =Tel g el Sl TREE SuE ATdcrE! ded Jd WU ASTHadd
SNSRYURHTAT TSI TR AR ET AT T4,

_j\'”ﬁ%amé?@.

QAT IR fohdidl fl-Sed el 31 ai IuisTEl =SifNd i g1 AgH
QTETAT FI=AT AT (Sxi! fepmdiar) firesal.

arferer mifEdad

Hasdie as ISR AR (el Wik Tados BSE) 3 T 9IsR IR (79 i
Uit NSE) 8 WA gF &3 AT SI9R 3ATed. a8 ISR ISR g1 SRR daid
AT 9 TS ST TR BT TRATA S T HIST ST TR TR

I T T6-3IqR THSUATETST SENSEX (B-80ad) @ NIFTY (F#l) o gF g&
facses (Index) 31@d. SENSEX = SENSitive + indEX 3T €H s qIT ATAT 3718, BSE 3
1-1-1986 wedl SENSEX GaIT=i &aTd oheil. Tald Sed WIT-HISad e AHIfhd 9
TEITIUA TSN 30 HUTAT AT a6 -IATHR SENSEX 3T,

T’ 71 veg AT AETIH §F WeQH! SHell 3@, NIFTY = NSE + FIFTY.
%t 81 NSE wefict gaia Scad shia iRl hiom=a1 50 Ha-as- 3.

[ijl—;—ﬁ ICT Tools or Links

SEBI =1 Je@Tseal e oo, qHd §es NI NN, U W SR 9 qlarad
e fopar Jeallal VNEERIET Hifedt U fegfestt et 9 JoRENR A9 =,
JSTHHA W= F@-3qN Rl Hqd grgeel SIal, dl WIgl. |90 s qedt
aE 3N TN 9 Wi Ut T AR IR ASTE STSIRATd grEedrd.
ST goh ¥ (Book Value) TN I AT Hifgd! firesan.
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(‘q’?“ﬁ fFra a aemyE det (Comparison of FV and MV) )
(D) > T fehwret et T 1 AR AT (share is at premium) 3T

3TY TEUTAT.
(2) SR SRS =aﬁﬁmﬁaﬁa,maﬁﬁmwﬂ@ma@ (share is at par)
3TY TEUTAT.
(3) SR SRS < 3T fhad 3/@d, at al AW AT 318 (share is at discount)
318 TR,

Jergtond (1) oI, AT e fohrd = 10 303 o STRHTE = 15 3939 378, a8 A3
15 - 10 = 5 T ReATeR weureie ifemer 31,
(2) TaST, A <3 fohra = 10 299 9 SIS = 10 399 318, U ET 3T
10 - 10 = 0. FgUISI A1 3T THHGATER FUISI 3¢ IR 3718,
(3) TSI, A e fobrd = 10 399 9 ITRHTE = 7 399 378, X 81 ST

10 - 7 = 3 30 TR HTg FaUIed dl [SEhIHea 38
TeRUT T[AEULeh (Sum invested) : T GIEHTS! ATTCTe THUT TahH TEUTS ThUT Tadv[H.
THU AU = IS TEAT X Tehl ST FIRYTE
341, 100 ¥ <3l fohaa e Tk 3R 120 39 SSIRATH @S hell, € 3™ 50 931™
HuarETdt foret TR Jaaupeh et A 7
IRt : TRV T[AaU[h = USTE TFEAT X T AT STTRATS
= 50 x 120 = 6000 ¥
@alﬁaﬂ?«rwma (Rate of Return) : )
ATYVT ASTEHE TaTeiel! T HIATA fehdl TdTaT <d, 3 A QU HeedT 7.
el IR & A .
34, (1) hFeM 100 93 it fohmd STHUMT Tsh VSR SITRATE 120 T3 T degl fefehd Siefe.
AT AT HUH 15% AT et o Taauiehiar fiesTere qiaTeam=n et Siel.
Iehed : T ohAd = 100 R SITSIRATE = 120 $93 &A1 = 15%  TTRISR qiaTedT=n &€ x % A,
I AT BT, 1 120 T T[aqaet shi 15 &9 firesara.

.15 x S, 120 : 15
" 120 100 @, 100 : X
_ 15x100 25 _ o o
120 2

I ofi ISl WA @ 12.5% fHesTa.
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3q. (2) o fRma = 100 ¥ AfUMed = 65 T W T ASHAT SERETE FIEl.

Shel : SWRAE = guHl fRua + ifmed = 100 + 65 = 165 T

. ST SERETE 165 39 gfdsiei

341 (3) Wieia ddar arg @@ fohar weg fogd qui .

341 oh. | 29l fhma HeauehR ASTRHETE
(i) 10 e 37
(ii) 325 T 16
(iii) T 5

Shet : (1) 10 + 7 = 17 &1, (ii) 3@ed 25 - 16 = 9 &, (iii) 5 T,

3q1. (4) FiATET WTefiersmm STHTe davh hefl, AU M THU fehell Taavyeh hefl ?
350 WeH, gt fohmd = 10 0¥ wfaoier oo = 7 w1

HAA A
Ha B
Hut C
ShA : BT A

U B : g3 fohmd = 5 %99, SR = 4 39

2750 W™, <3l fhAd = 5 TUY SNRYE = 4 3

50 313/, <l fhEa = 100 ¥ SNREE = 150 ¥
AT = 7 T TUH SNRNE = Gl fohHd + S

=10 + 7 = 17 ¥
. O A TEfie Taaus = ST §EA X SNRE = 350 X 17 = 5950 TR

. U B Weie Taaue = W] A1 X SNREE = 2750 X 4 = 11,000 T
Ut C 2 g fohAd = 100 $9, SISTRYTE = 150 393
. U C Tefiet T[Aaveh = TN FEAT X ERAE = 50 X 150 = 7500 T

e ; HrAuTgH gt hu-=ae shetel! TR I[AavRh = 5950 + 11000 + 7500
= 24,450 39

31, (5) feram™ 12,000 92 Jagd 10 &9 et fohmdi=l 913m8 2 ¥ SAfengeam ea, v faen
fopet RraTH fradicl & SHIQUATETS! @Ieid el Ul .

IRt : QR fohAd = 10 T, ATy = 2 ¥7.
. SORYE = o3l fhma +

+

C. ] e = W—
EISITIC]
IR ;AT o3 fesdia.

12000

F3TE

spapapapapapapapapapapapapaps SO D R



3. (6) 10 0¥ <3t fopudi= 50 WTE 25 ¥9Y SIRYE faehd odd. el -
30% ST EYd shall, T (1) THU Taaveh (2) THeTeel AT 9

(3) TAaUEhialid A=l ¢t hiel.

IhA : AT @A R = 10 THY SNIREE = 25 Y, ReTEEl §@a = 50.

. TRU @A 25 X 50 =1250 ¥R

. 30
Wﬂm:mxm:36@sﬁiﬁm

. 50 JHEld THU AW = 50 X 3 =150 W
THeBToIaTT TeRUT SATHTST

TR A

=ﬁx100=12%

O de=l o = X 100

I : (1) TRY AEUE 1250 TR (2) 50 MSTHR eSO @ 150 &

(3) jdqtgcﬁol{ A= & 12%.

T 4.3
1. 9EIa et A1 w1 fehar Sreg fotgd qui .

341 3. | g9t fohma HETHR FRTRHTE
(1) 100 %. T
(2) A = 500%. | 575%.
(3) 10°%. 5%.

2. STSTRWTE 80 ¥R BIcll degl SFHIeH 100 w9 i1 fehrt=l 50 21374 ferehe st carerfl shusi
20% T feet, T T[aavpshlar fireaTeretl TaTeam= gt hiel.
3. S AT GICTATHI ISTEHRE [AAU[eh hetl, T AT sheiei] TehvT Jaav[eh el
AT A ;S fohma 2 T STIfOT SATUed 18 T THeict 200 .
HUH B : STSRATE 500 ¥93 3T 45 .
Ut C 2 STERYTE 10,540 $93 STE0RT 1 AW

4. sfmreft gErare FF 20,000 T AT 5 T ST fehHd T RSTH 20 T AU g3 Baed, T
T foheft SraTel fireseiiet ?

5. #ft. wrfaaret A 100 F9 g fopudfi=r 150 D=7 120 T 37 STTRUTE @S el T 7%
AT SHU feat. Taavehiedial wareaman et fordt ?
=papapapapapapapapapapapapada 102 K CEEEGE




6. WISAAdeh! IVl JAaUEh BRI 372 7 Qlral Shu-1=aT JTEA ST fohHd FHM 3Tz,
HEH A G SRETE 80 T 3T AU 16% 30T ot B &SI STSREE 120
T ST AN 20% 3R,

[i;ﬁ ICT Tools or Links

SIS U HI=AT<AT AT e9-T TohAd o ISRV $eHca®A Tehal 31 HIdTae
I I I SIS 1@l d ol . (IR T A, W 3 el T
TE 1)

SLUGRCER

@ﬁ:ﬂﬁw WS -feshier gemelt snfor @ (Brokerage and taxes on share tradingD

FeTelt (Brokerage) : SreTE= WEH-foashl @renft dcia T Ja Amg. ot SRR
Afhd il fohar TEATehgd shefl WM. T VSR geliel (Share Broker) ¥aUIAT.
TATATThA TE @ HaHT o fashl sHamT SoRYEel ST el el (oehH Bl
foen Terelt’ reva. U eTE fIeRu 9 @E RO GEEl el e,

31 (1) &5, 100 %. ST formdi=an e S9RyE 150 99 3178, ears=n e 0.5%
3R, 3™ 100 VR foepd g fordt @rm el Ama? 3@ 100 AW fehad
@ fordt won fia?

T TR W& AT -
Th! AT @it fohad = S99 + Tt
= 150%% + 150 ®== 0.5% = 150 + 0.75
. T AW W fhma = 150.75 ¥
3 100 W WG Hol @ THU JaEus 100 X 150.75 = 15075 T
Jd 15000F9= ATE + 75 T qAT AR,

2 MR feeramn -
ThT AT foshl fohaa = SomyE - edred
= 150 ¥ -150 &= 0.5% = 150 - 0.75
S T eTEt fosh fhad = 149.25 v
o100 wetE=R fosht fohma = 149.25 x 100 = 14925 &9
. 100 W7H foshel @ 14925 w9 fHesdiar.
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BTN oF
i T &end =

ommﬁaﬁwmwm.

o [aY

o N Wi -foshean faawuma edrelt 9 = 9% QAT fohad 3taet 4.

IUshT | < THAT ARTICAC SIS SaATet! SelT U= Sard! fohal Te=ht wifecdt firesan a o emehra
ST el e U= HTfge &2 J et .

Iuskd 11 : "¢ @ (Demat A/c) 9 e @ faaoms (Reie) fiesar. <
SHITTRIVTCT STS=T THTCRT TEAT AT A ACa® /TATaT Ue B3 /TS aT=ATeh g

firesan. fasmeis] == .

SAfereR HIfEAEE! : T AW eolted Feit (SEBI - Securities and Exchange Board of
India) STRIET 1992 ST Aiguiiehd STET  wTaX Hefl = =07 374

ST, SigH, ReY3Td HE SATC ! Hig STUATETS! S -Te WTd J =it e - forsh! shivamandt
ofem @ (Dematerialized Account, Trading Account) IHEU ATE¥e 3TEd. & @Il
Siehd fohall ISR GEATeITehS 3TEAT JaTd. DP Tguiet Depository Participants Tgurdrd. J1 DPs
NSDL & CDSL 31 g Depositaries =T 31¢f 8dTd. Ei-He WTeATd I78=a1 @G- fashien
TeuTe 39T SITal. g Sehedl WA 31Hd. foehaial 31978 @at=an sefen (Debit) Tigal
ST, @EGH ohelel T8 =] So[e (Credit) Higel SITATd. o= foeRuas (statement)
AUl ShedTd fiesd. IS SUETh I[eeh WIe AT, AT WICATd A 378 Seidrgii-eh HiHHE

ST TEATd. a7 Giral QAT G Schel HegiT @A SISl AN, ISTH=al Ge=al del

AR T8 TEHER WG ST @Teara & Shidl Jard. a8 fashiaa e 30 wmd s

gIaTd. ST CATS o SehT IT Tl TISCTHTS! Soegeh a1 TG ShidTd.

| %ﬁ% SR 3.

(aﬁwﬁﬁ{ T & &a @ (GST on brokerage services) )

ISR TATA AT GIAGRI=A] Tl W3TE= GG -Torshl e uaTel HaT JLaard. g
T U= & 18% TR, = SAC FHHTe I,

39 ;- TE T I HUSATANH TTgeh=dT GUATAHTS! JSTEHAT Gal - Tshiat ARG gl
3Ted T L TR 3. Feridt dmsfarer 39 (STT), SEBI 3[eeh, T T¢I 3G, =
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T A< foraR ShTOTR TR ek SHTeh{oTok It % HalT ShiT=T foreR ShivTR 3718

31, (2) THS, 3TEN 1 T9R, TUehl SR 15075 &. A& WSS feat. =1 Wi 75 79
AT 38, T M 75 FIATH 18% T Tohelt ot e=Imell AT, ol 1T o 3T feremuras
dATL hIT.

18

mx 75

13.50 &0
R G Toaoms (B w8 @iE hl.)

ST | ASTHAT | IS S | qATSl | AT 9% | TEATIER 9% | SISTET THUT
& | SeRE fohra 0.5% CGST SGST [CLARERK]
100(B) | 15079 | 15000%9F | 75% | 6.75%W | 6.75%0 |15088.50 T4

3a1. (3) TRiEE I 40 5. SRR 100 ATH TS hol. A=l &€ 0.5% o AT el
] TET HUET G 18% T8, T IHT 100 ASTHATS TR T fohell hTram omie ?

et : 100 ST FRUEHER fhud 40 x 100 = 4000 &

0.5

ThT T eared] = T00 X 40 = 0.20 T

. T AT @ fhad = SIoR9E + gareft
= 40 + 0.20 = 40.20 ¥
. 100 Do Wi fohmd = 40.20 x 100 = 4020 T
100 el garel 0.20 X 100 = 20 T

18
SR EE W = T X 20

100
= 3.60 T
SR F@H FHET 100 T WIGHETS! AT TRl @

= 4020 + 3.60 = 4023.60 ¥4

Ihd : 18% e 75 w9 GST

3q1. (4) URSREMT 1,25,295 ¥ a9 10 0¥ ST fohmdi=, SISRUTE 125 $98 STEdH]
100 3R foehd B, a1 STIERId gareit=n €€ 0.2% 9 gateiierR 18% GST far,
W (1) forct vrord fosha wraci? (2) wgw fomet qameft foefie (3) = =wagwm
o a1 w foRdt feer?

I : AUk = 1,25,295 T, SERAE = 125 ¥, ATl = 0.2%, S0 & = 18%.

X 0.2
Teh! RS Tl = 125 X To0= 025 L3p]
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TehT AT ATl &L = 0.25 9 18% = 0.045 T
. TRl MIWE] WERT fhAd = a9 4+ TAl +
= 125 + 0.25 + 0.045 = 125.295 &
. 125295
L SieTd= g = 155295 = 1000
TRV TATell = FTRIST GaTet X RISt e

. =0.25 % 1000 = 250 39

TRV R = 1000 X 0.045 = 45 T
Ie® (1) 1000 3378 forehd Badt. (2) TaATedt 250 F03 feett. (3) edAreiior o 45 F93 fear.

31, (5) AAarE 10 T g fopme=an A= SNRATE 60 T STHAET 6024 T [,
TR 60 % AT THSTITAT 50 F9 STTRATET T 31378 foeh <Tehat. Tedieh SAagiId 0.4%
TATert feefl. o a1 SHaEIa ST ST T fehdl dieT fohd! & ShIGUITHTS! Wieiiel ekl W,

oA : AU HwE1 R foen T R SetEe WG -Tashi=ar 9@ S fe=R holan ATE.

10 %. <t fopme=n AR 60 FUAMT @G hedl.

0.4

uﬁﬁaﬂwﬁf:ﬁxéoz T

. Tl S fhma = 60 + 0.24 = T

. 6024 T % = 100 9378 TS el

10 ¥7¥ qui TR Sie 50 ¥ SSRYTE foehat.

;. SfRisR qareft = % X 50 = 0.20 ¥

. TRl RS feshl fohma = 50 - 0.20 = e

. 100 WeTEE fosht fopa = 100 x 49.80 = T
A 60% THasTa.

1ﬁmﬂam=%x 10 = 6 &

S 100 TS AR = 6 X 100 = TR

;. AlHTATET SR Tk 9 ST TRl 3¢ = + = 5580 ¥
W el heiell TAaUEh = 6024 ¥ g

. AfTATET ST diel = - = ED)

Ie® ; AT A1 W -Toshi=ar suagNd 444 ¥0> qieT T
=p3papapapapapapapaPaPaPaPP 106 KALGEEEEEEEEEGEE




Fel : IR 5 A W~ fshen 9 TAiedie s 18% U foem | @ e
fordt g5 a1 Srel. gad Ical 451.92 9 Ad 1 ATET ISdTeS! Al

“.'_i? AU S
@?gam we (Mutual Fund - MF)
SFTEAT A HLAHT AU TIEed, sl A TAIT HOATHS FTgeh oTakd] Thd

IqTd IO THSITENT TEHTT 834 A3 Wigdd ¥ hidid. shu-el MR 8@ 3Tl at a1

T ASRERHMET AT BRI Fal. AT AT THesdl. e SRWTd Jredrd Fau[d

3Me. ‘Together we can progress’, W Ycdeh AT0ATAT GH S5 AN, IATEHAL BT

BIUATUESl heft heft ARTE 8% Yehdl. & drel Ul hidT Iga 17 AIUEheRIETE! & Sy

HH HET Ad HI? . ATERS! ISR Tgdeh Al TgTA el [aaush HLdm.

H<IA HE FEUN 3T [qaUEhaid U8 Tehd TedT e 3T oholell Thd. dl To-RY
T ThRAT ISTHHE 1 T[daal Jaauehi=a fafay T adct STd Fgusl SR hHt
BId 9 THUT ATHR Td [AaUeheRTed TI9TTal Sal. Rg3Td hemed qaueh 3l il ?
T qXATa e Hesdl 7 fohd! @€ el Taaves et 7 @dia fafay YR Sivrd 7 o7=m
3%k TR HioEa Ik AT TodNTR €3 SIehdld.

Investments in Mutual Funds are subject to Market risks. Read all scheme
related documents carefully. & 919 gral S=IT=Iel Ushel A fohdl aTaal 3T8.
T 37 i FHSE w1, Saiad TE RIY3E BEME sholodl TAaU[ehiaR TRITUES
et Bl S A e e S,

R<IAA HE TEUN o SAEEIIe AhlGaR HHI SHUAd Il B8 AT, AT
TSAA AMC TN ‘38 TS U+l TgUrdTd. SISl SN 83 3ogeh dlehie 08
AT AN [, 3faadt e (3stH), 3 ®e (fes=d afeg sondl.) ryanr gregan
SAH HE] AUEhe=AT YEHIER T[dadrd.

MU STEERIG T T[agel 61 ANE fesam, T8 ==g3a we[ 99 ada 6

gfege S ST9RYE 3T oIl o e 9 JTadedl god (Net asset value —
NAV) ¥gurdard.

TehT IHed T qod X JHcE & = WY ®E Al TR [aavh Jod.
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AU VST WETHY FHAA Bl JHE TaHed U0 Fdd Seard Tad. TS T8
ezt 2 Yfem fasman .

USEhd o FEl 91 WRAR Uk AT Wl NG Tdavh & Sed  gifdd
. T AT [AIUhIqT HeUIRT WaTal HgdT HeTsal A HEET HI0AH 34 9gdl. 7
AT Bl UTfest, <hl I e aacian TeTgear Ta Fuin & sehdl. <mErd! g
q Uere fRE rguee rdfH. (Financial Planning)

ER foem s [aauehiel T 9edt A o wnt eear stEd. e FEfta svemm
HOAT oI ST AT,

(ﬁ'ﬂfﬁﬁ el v AT (SIP -Systematic Investment Plan) )

A, AT RIS HeTd TeheH HiddT ThHd! [aduesh il e T8d, U 300
DI T Gl AUk & Iehal. S TohHM 500 ¥T¥ GHETEETT g3 Hheld Taq
Sehdl. 3T TR Ffiadicn wifies fohan Smifeh Jaave il Ad. A1 AS-HS Sadr=
AN 9 AfosaTdia anfefe 3gfese Tgs MedT I, B ASHESHT e Jedidra! BRI
IE Iehd. I BT A TN F6-IAN=T AT Auee [aauchiat aRomg e gral.
HHT HHT 3 T S AN, IR A 10-15 INHET AT AT AUk hedrd Icdd.

HGIA e EEG

o IV, 5T HE HASH o Tqauhia dfaed (diversifications of funds)
o TRGEhal - TAAUhId R e, ¢ diear - Wifgsl deat fashi= @M.
o mifed SrEm o 379 9 ¢ Hed ®Ee fHesan.

o STEl U Beidid (ELSS) Wefidl Taauhia TR ol 80C Wiefl gt firesd.
DYDY dreaeeh sew@ b ALY

3q. (1) TIP3 e MY SNed 200 Hid U 3T HUAH 8 I FHeH hefl
JEAA, T TH JHed A9 AeHl o HIal.

el : el gHed o HiGHcdl Hed = 200 i T / 8 HIE JHF = 25 T
gfege.

3a. (2) 3a. 1 A o S8e gral €. 10,000 = T[AEUREh ohell X qrelel fohdl giHed
firesciat ?

IHA : GrREE T = Fe [AAvE / TH A T el

= 10,000/25 = 400 Jfea fiesdia.
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TEE 4.4
. Teh] JITET INRETE 200 T AR, d @& HdHEl 0.3% cardl fedfl, a@ a1 qerE
g fhaa foadt 7
. Uhl QAT INRETE 1000 F99 AT @ AW foehedt, T AR 0.1% carent feed,
T forfiia o wee fordt ?
T AW G -foshiear  faomeda feeren smm wa. (B-foeed =,
S - foehat)
QST | SewET | WSTEE | el | STl AT SIS
T | SeReTE | fohAd 0.2% CGST 9% | SGST 9% | T fehma
100 B| 45%.
75 S | 200%.
4. ofimet eEE I 100 9 <Rl fopudi DetH, STSRWE 50 ¥HY AEAMT faehel dedl
AT 4988.20 ¥ AT, TaATd=T &€ 0.2% o galeieid Suad=n et 18% 3,
T I fordt e faspet @ e
5. T e It 50 0 gEHl fRmd 200 WeTE 100 T ARGCATER WG hdl.
T S 50% A fear. e ffesesrer | 100 AT 10 T ST
foshct 9 3eid A 75 T SAUHeIH foshl. Uods SEERd 20 T canel foet,
T AT T I A%T ST bl dlel 7 fohdl 99 7

[—

[\

(O8]

| HeRI0T ITEIE 4 A |
1. @l SRSl el oeh 9 fHae.
(1) SterTevas SwEdd 9% @ 91 &= & . . . 37R.
(A) 5% (B) 12% (C) 0% (D) 18%

(2) THE TSATAA SATARG ohg IMEAThRST . . . HAThRAT STl
(A) IGST (B) CGST (C) SGST (D) UTGST

(3) STUedT EE . . . . AT AREUET 9% 9 G B E BT A AT
(A) 31 @& 2017 (B) 1 ufia 2017
(C) 1 IHaR 2017 (D) 1 St 2017
(4) Hd=a1 WisTEid 9% 9 da1 BT & 18% g, T A TsT T Hal HUET &
. RT3l
(A) 18%  (B) 9% (C) 36% (D) 0.9%
(5) GSTIN Wed THUT . . . IThIER ST,
(A) 15 (B) 10 (C) 16 (D) 9
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(6) g1 TEel Hieufihd TR} gE=a Higufiehd SaTIT=me & ferehdl deaT et GST iaria
. . IgR TEUrdrd.
(A) BB (B) B2B (C) BC (D) B2C

2. 25,000 ¥ ToRmci=an el IEqeR AU 10% FC 3 atedl WhHaK 28% GST
JRRAT. T TRV foa ferd! Toa= 318 ? @@ CGST d SGST ¥fvehraret fordt wererm
FERAT gl ?

3. Tehl dIN HUSITA gehMId 1000 @93 feprcfi=a SHI 5% HZ G4 3IAAT ThHR 5%
GST &rgd al foshett, T 1 UTehIa fohcll F9RITT 98 ?

4. G, ToaATA Th SUH 2.5 @@ HUE Rad= gl ®us Tsehle, Terrd defid
TaT=aTet foehet, T AT ARG TsTohIeHE T SAMa=aTell 5% < bl ®0 Sfu@dt emen
AR ?

5. Tt AegET I 85,000 T HUH frAd AR FHelt g9 faehd Badt 9 90,000 &I
forhct. I @ BT U & 5% THTE M1 AT SagRId fehdt &9l a=t@e (ITC) & ot
T L AT AN ?

6. Z-Taagfdt wfegam <om= SufiA 64,500 ¥ huT fopmeii=it T qaell. a%q &a1 =]
T 18% Mg, AT et Afcedd QavadTe! Ui di-g! Hicedd d JHBIHY TGl STsfien
THUT 1550 T T TG ohL HIAT TR, T AT hu-1=T (792 o shige) [TC Tehtl ? wmeed ¢
Hisfiuadt 9 ¢ vsiudd! Hral.

7. TR SATITAT TIei i =0T SHefTard! 9 Ha shiws 84,000 9 fohAe= Fichicien] €4 Lo,
S | =T G 12% STHATE & HATRRAHT HUAIA hyd STUHS g TS STUHS HIal.

O NI o L o o
dlehlclen] He <] endYlA [enHd ohicl.

8% Ueh! 3teh SATIT=IH 1,50,000 &9 T fehmreil feresra |ifecd el shedl. d Tl Hifeed fertehios
==E 1,80,000 ¥4 HUH ThAdAT foehet. Tohtehles SAMUT= o Hd HIEcT UTEehlIell
2,20,000 ®9F s fepmdie faerat, at 18% <= (1)31eh 9 fertenies forshiean shiatsrepidie

=it TRt . (2)3Teh ST d8 fohiehies SATaT=men ¢ HiSiudd! 9 ¢ THSudd!
el

o™ 7vu qTde (ST, HEWTSE) A 14,000 . HTATH RRAET Th SERH aRAL 9Hs (o) Jefie
Teh! SATIT=ATE 28% GST S farehet. Segdiel SHTI=T UTesh™ df sgagH Fefi- 16,800 &.
HT fhudTg faehat. o a1 SHagRIde Wiefier fepad hral.
(1) 370t UreeA1 fecte st sfiSTehTdiet shar= o T=IT=T S fohe] T9 CRaEael 318 ?
(2) SHSTAT A=A UTEhTH heT=l o TSI fehd] ot SThRAT 378 ?
(3) TESTHT SHATATATHTS! UTETRS HTH AT her=l ¢ L 9 TSI ¢ L fohd 51 o

el
upapapapapapapapapapapapapap: GGG



10f@1?ﬂamawﬁatwwwaﬂ?ﬁawm& B, C wefid a%q 9 §aT =
IR 7O . GST X 12% 3R

Saared | RITH ] [y | AR [ Teer | B I [Tres

‘ %. 5000 | %. 6000 %. 6500 ‘ ! |
(1) Icareer™, faatwM g fohhlss =M= (FeeA) wmeHmehs fohdt ¥ a&q @ @
T BT INYhRATA! AT 3§ SRIGIUMR Toreiumases dI™ .
(2) 3Tad: TR o o fohd! FTAMT 98 7

(3) 31 grEdidial B2B o B2C «isieh hivrdt d forar.

HehlUl T9EE 4 B
1. G T JeERe! 3es 99 Haer.

(1) 3t fhad 100 393 AT ST FNRATE 75 303 AR, 0 @dladshl v
I A IR ?

(A) B AW 175 T AR 3. (B) & AW 25 T JEHeAEH 378,
(C) & =W 25 *qF AR 3. (D) & IR 75 AT 313,
(2) 50% <9I YA hotedl U=l 10 T ot feRmdien weRr veweR fehdt

A firesd ?
(A) 50 & (B) 5 ¥ (C) 500 ¥0 (D) 100 &9

(3) T =PI B ThH IMed o Ged 10.65 T A @ 500 Fem=a
TS AT @R fohd! 01 18T ?

(A) 5325 (B) 5235 (C) 532500 (D) 53250

(4) cATCHoR 9% 9 §aT A= g . . . TR,
(A) 5% (B) 12% (C) 18% (D) 28%
(5) D78 foeshd SAMT Tl WRTE fohAd leuamEe! SeRyE, carel o GST I= ...

(A) sOS Ud] @rrd. (B) a<TETehl i€l .

(C) TUITR HTET AT (D) TR shUET EATTAl.

2. 100 &9 gEHT fRue= 23R 30 T AT GRS hedl. Garer=n &t 0.3% 318, X Teh
ST W fohmd el

spapapapapapapapapapapapapaps SO D R



3. 9T 100 F9 e3iHT forad = 50 ST 180 FU STSTRHTET TRET hed. ATI Shu=1 40 % ATHIS

Te@, T yeTa=a YaauEhiaiicl TaTeT= &t Shial.

4. S 100 &9 g fopme= 300 ST 30 T STaeTar foehat, X fohelt &0t firesdiar ?
5. 100 g fepmcfi=an @ 120 ¥0¥ STSTR9TET=AT AREE 60,000 T e, @ fhdl Serd

Tresdia?

6. #frmeht Hiar 7T I 100 T SSRAEE 10,200 3937 U378 TS shel. AT 60 TH

125 F0 STSIRATAT foehel 9 IWeiet A3TEH 90 T STSIRATA foehel. T A8t gatrett 0.1%
T feeft, T a1 SHagRIa <1 Brer Se shi diet ¢ fordt w9 ?

7. AW ISR 100 &9 €91 forad= € shu=aT< 3T W TAYHT0 STSTRATE o ATHTSIT=AT e

TR, T hIVTeT HUTeliet [Aav[eh BRI BISel © TehIuT foral.
(1) A - 132890 12% (2) S B - 1447 16%

8f%1°f.34Tf?:a11#aa%2T'r:|°f1oowﬁaﬁmﬁéﬁaﬁsowﬁwmsou8

T T[] @I ohol. I FEERIA A 0.2% caTert foofl. ook 18% & GST
fee, @ < 50118 ¥ fohdt Siem fesdiar?

9f%ﬁ.amﬁmwaﬁwﬁaamw3o,3sommﬁwﬁaﬁaﬁﬁﬁ%?a

69,650 T ferucii=an WaTE= WG shell. o1 feasfi=an wgo @& -foshiat 0.1% &t
TATCH 9 GATER 18% & o &a1 L fCal. T A1 FGgRId carell ST a%q 9 Hal
FHUTA TR T el

il UM IFHL M THT HUHE 100 T T femd= 100 s 1200 w9
SR foehd Bidel. IfaRIsR 0.3% Tatelt o eoteiiel 18% GST fear, ®

(1) ASTHAST TRYT [ fobell T hefl?  (2) TdavEhiaR gerrelt ferdt foeft 2
(3) cATlald STadl hlel.
(4) 100 Verdardt tgw fordt T3 @9 i ?

. fimdt e grft I 100 T <Rl fRadi= 660 TR SSREE 22 9™ Udd.

T A TR fobdt 0 T[qaUeh ohefl 7 T ITHAAT 20% AT FAATE 650 T
TR d faehdl. I =Uagrd 0.1% <ol faefl, @ I =Hagrid T fohdt

o~ (d o
coch A%l [epdl dlcl Sl ar nlel. (6(‘(‘1{ SigeoTH| Yllenld |Q'16|.)

0oad ATLBY1
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Trerer : faeeneff fimgl, stuem anfdiar faenfioravaen fage=n =1 @iwma dae 3m=q.
YR Teh Taadl Iaae. Fagaeiat amames=n sawadi= 7 fetfeefl 31ed. o]
TH frgaeIeR U aedde e fegum Ardt. ‘Jesd’ a1 aeudi=l faradt shromer firesd
T UTE. TSI B ShHTSRTSIHTON TG 3W 1. Sae= fagdl Saciaeda gt fagdt 3
EEREIE I

TR0 : |, T H dfgeiel e, wor Hi gleeriel fogdl S ATl SR Teen He fageiqy,
Tt foredt TeTTa At ATt ITeRIAT B HHT TR,

AT : T, WA Y Hatd wadt oTg, M G Fedt ST T8l Rl ‘e’ g 1 el fagdt
g1 HY AT ITeTel! et 7.

UTEHITd Ufged 9 Jaceal fageneian aed o1, 6l Il Jesd g A6 e fagdl
THesuT=I STeRIaT ®R HHT TR,

O HATeTHEY TSR] ShH| Tehall S THUITE oIl STeTT 3778,
STRIAT FauaTHeE el STV S HHTYOTA Jeiet Srega! aTuRal.

o Gyaqd: ® Sgd% ® 37T
e o TSI ® 50 - 50
TiersaTdter sreRaTfasRi= reie faam™ urer.

® sigden HISHIA Yl Yo,
o AT Yeiat fohehe TTHITA BLa0l TR 3718
o fafoera= mem yem Svft firesumm,

o STAFIAT IS T3t S foet, T Tt wifcasdt grodm=n g9a T,
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TEUTSI, ATOTtheh =it

et 1@ T A1) STl YeAsh Uohal Wkt 18T, JRaTell i TG 7
(187 Thez=ITeR Wiefiel qeriT dIR shidld o di W& Edrd. )

NERKI 3 (H) e (T)
ERIBIRSIC
el 2 : AT, T o A9 SHET %ok UTET. ShIVThIUTCAT SIHRIdT 3T ?
NERKII HH HT TH TT
ERIBIEEI

Tl 3 ¢ THATSIAES STHUIRT BT TeheTal bhehl, ST TSSHTTER fosl JUTAT hivTehIvTcT TR
31ed Ir= fo=am .

Bl Tceh YIdT 78U BT thehUATe Ush — Ush HHTST Hhiold 3118.

(a@%ﬁw (Random Experiment))

ST AN T U BiTd 3Tl TG STHATd, UUT cAeh! hivcTal Hictdraded
fafeea wrhia AU %% Fha AR, T Bidd Tc STHUITE YRl SHE 3TEd, A T
rgfedeh TN TH TEUAN. 3Tened ATl %ehul, BET heewl, 1 d 50 TEar fafgeren
HIEAT TAT Th HIE DIV, WAldd Jereal I - fdciedn Jemaed T el
HIEU FcATS!.
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( Feae (Outcome))
ATgfoeh JANTT=AT HicTdrenl THsaed!’ Faurdrd.
3ereeened, (1) Teh 191 hehul T ATGfoeh SARTAT S (Hsdcd! 3TTed.

319 (H) feham srer (T)

(2) Teh AT Hehvl A1 G TANTT AT=AT 6 TSSHTTER U= a1 edas
6 T sTerT oTTRA.
1 feham 2 feram 3 feham 4 Terar 5 foRam 6

(3) 1 50 & fAfgeresn Sret=an T=mqd Teh e e, AT T-ARTa 50 fsuedt s
HTed.

(4) I e foecied Wl oMY Teh Jodl Shigul IT Jgreseh JArTd 52 ged

YA, d GTATATHTY SRgee 3TT&d.

Tﬂwﬁ 52

26 A Fed 26 Fe T
! ! ! !
13 &e™ Yed 13 =iehe Ted 13 fereter ued 13 3fues Ued

v ¢ & &

T SheHed diehe, sgM, fohetat 3mfur 3feues
ST TR T ST, Yo S T, WOt e, 10,9, * v : ¢
8,7, 6,5, 4,3, 2 30T Taeh 318 13 Ted STHAT. ’ ' * ‘
T, Toft, T[T AT e ded TRudTd. e ) )
Heued T e =R, wien R 9r W e v e o
AT T 9IRS 12 Teee ded STEaTd. WH T O ReE0

@mﬁm&: fsuedt  (Equally likely outcomes) )

SR 30T Teh W1 Whehell, OX HIRIM=A] a0=d] JSeWITeR 1, 2, 3, 4, 5, 6 ATUhH Th
ey firesvar= ear g9H 3d. TeUeE oIl JHENTed (Sed] 3T, qUniu, SOBrEn
3TET A I TaRISe 37T I TSUTTER aRaR Wesdl @€ i wEl sawde (biased)

WWWWWWQTW (fair feham unbiased) 3M&d,
318 TR R SR,
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fectean foaed et shiordiel fFrededt srem=a shaT firosd =oiet feher ool Frrodedi=h ST Srerran
T, T T THANT (50cd] TTRd 378 Tgurdard. 3T, S ST Teh 191 thehed X BT fehall hleT
v Aot FueTed 3TEd. T8 1 1 6 T fafay Tsaer STHUMRT HiET hehal aX il
HIVTATE! Teh 37eh ST JE3Ta AVAT= STRIAT qUTET. I Tl fHeied ! HaHTed 37T,

TEE 5.1
1. WA Tc3ehs STedld, fed STerar 31mea ?

(1) afaTer werRTSeTde @refier Serfier foemmon=h mfadt 3mmg. cardie Tt famft o afg=rn
gedid ot AR 3778,

3fTeT, TETESTa, AR T, TS HART, ST, TS, HISH, HHEIH.
(2) T AT IR ATG S TG HaSr=T 31T3.
(3) UcT=AT SheRyd Teh Tedl AGeseh gHtdH HagrE=T 3TR.
(4) YA HISTEX Teh TEAT ATHHTO! 10 ITET 20 TFa=T

GE fAfgean 31ed. T Teh I g Teddiy Hagr= s,

st

I_‘\..r_y '.IJ

| o . foem ==L
',.kﬁ-#

WAt ST ShivTeal JANTI Tuferd fsqed firesvar=h srerrdn Sired 3118 ?
(1) Teh e TR 1 firesul. {;E" &
(2) TS AU Uepd BT THeswl. n:' E

( AT AR (Sample Space))

TGS TANTA, I SO §6 (ST =1 FTel TgA1 TRl Fgurdrd.
AT TR ‘S’ fohar QY (2 ek e T ITAR AW 3172, ) A1 g™ HaTea TaEuTd geiaard.
AT TR Tcdeh Teehlel] TYHT Teeh’ TguIdrd. T4 aehr™ ‘S’ Hefie Tehur geehie TE
n(S) 7 eefaamd. SR n(S) T & T AT Hid TGAT SR TEUIATd. T T ST hTg]

IeTeN0l el |t feeteft stmea.
spapapapapapapapapapapapapad 116 KGO




. &
1 | wen |[S={H, T} n(S) =2
2 |gaamfi % | S = { HH, HT, TH, TT} n(s) =

3 |d=Amft %9 |S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT} |n(S) = 8

4 Th wETeER | S ={1,2,3,4,5,6) n(S) =

5 |gAwmesu |S={(1,1),(1,2),(1,3),(1,4),(1,5),(1,6),
(2,1),(2,2),(2,3),(2,4), (2,5), (2, 6),
(3, 1), (3,2),(3,3),(3,4), (3, 5), (3, 6), n(S) = 36
(4, 1), (4,2), (4,3),(4,4), (4,5), (4,6),
(5, 1), (5,2), (5, 3), (5, 4), (5, 5), (5, 6),
(6, 1), (6, 2), (6, 3), (6, 4), (6, 5), (6,6)}

6 1 25 &
%W%ﬁw. S={1,2,3,4, e v e e e, 25) n(s) =
°b|S|'°¢IIH'Cqu\-|
Teh IS HIGUI.
7 |FE Ol | Sepe W, 2, 3, 4, 5,6, 7, 8,9, 10, T[T, TOft, TS

foereie 16 | sfeysp : warhT, 2, 3, 4, 5, 6, 7, 8, 9, 10, TETH, TR, T | n(S) = 52

HeCIr=Al P \qem cweh 2, 3, 4, 5, 6, 7, 8, 9, 10, T, Toft, T
AYd T Hedl

; foheTer : TR, 2, 3, 4, 5,6, 7, 8, 9, 10, o, Tfl, T=T

_j'” S R e 3.

(i) Teh 191 T thehul TehdT G ATUM TehTal ! ekl AT Glval ATGIeseh TR
FAT TSR ARG STHAl. 39 I A0 STadiaal 9cd 3.

(ii) T BIET ST Hehvl fohdll S BT TehTel Jedt thehUl AT SI-gidTa! TAT STThTT
@ 3T,

qEEd 5.2
1. @Teiiel Scaieh JANTETS! TAT 3Taeh™ ‘S’ F TTiet A1 geehre w&a n(S) fomr.
(1) ek STET & Teh 101 UhI< dod| thehUl

(2) 2,3, 5 AT SRR, TR TR 7 T, G 7] TEAT TR FHI.

spapapapapapapapapapapapapaps SO D R




2. Tgl T=AT deeheiaila 917 fetdedme ai
HIUTCAT TTeR fRR gIdl § UTgul.

' Bl
fewan reTes]
MARCH - 2019

M T W T F S 8 3. 99 2019 =1 HE AigAdd 5 <A 9
1 2 3 JUTT @Sl IR (Hesavl.  (HEd=

4 5 6 7 8 9 10 heleld I JTET. )
11 12 13 14 15 16 17
18 19 20 21 22 23 24
25 26 27 28 29 30 31

4. R e (B, B)agM gt (G, G,) AT Sreri= Teh Tecll Y&l Fiwfell sHerer=h A8, @
IrETE T SraehT feafgvaraTdt Wrefter St qut .

(1) GF gerr=ht |ftreft = (2) S gefi=h wfirdt =
(3) T Gl & Ueh ot A firegd dom gomdt et = | B, G

(4) . TG ATHR = {..., ..., ...

(‘azm(Event) )

fafsrse 3¢ t,_LUf =T Tsaedie smfard fsaedt (favourable outcome) F&urdTd.
AT 3TEehTY T ST aX Tufera s e S=met “orean’ Teurdrd. Se-1 &1 TAT AR
ITET ITEAl.
T T S ufgean fatfudial A, B, C, D JTHREAT 13T geaard.
3aT. T 10l Shehet! STHAT TS A 81 =121, SHHId hH! Ueh shiel THAUITE! 3777,
I rufera fsaedt @refiersmm,
A ={TT, TH, HT}
AT A Fefid Teshr=l T n(A) H e¥iadrd. I n(A) = 3
Afere wTfRdTSt T TR
(i) Tafead =ear (Certain event) (iv) &b =eAT (Complement of an event)
(i) 319 gt (Impossible event)  (v) T39S 94T (Mutually exclusive event)

(iii) wshEreeh! g1 (Simple event) (vi) gagaTasil g (Exhaustive event)

spapapapapapapapapapapapapad 118 K



04 04 0h et s 044,05

31 (1) gF AToft TRt et Uhehul AT SRTTETS! AT STaehr ‘S’ foTgl. wTdiiet AT Heehi=h e
n(S) forar. = ymTHEL Wil Heq1 ¥ T@EaTd fofgT 101 et THAT Seehie T
ferat.

(1) =TT A T1dt 312, hHid il Teh B9 fHesvar=t 3777,
(i) =121 B 911 372, Uk DY THSUIT=] 37TR.
(iii) =T C F1dT 372, STEAT SR Ueh <h1el v 3118,
(iv) =1 D 913l 312, Usha! 919 7 Hauar= 31
IRl : G ATUN ThTE dedl thehal! STH,
S = {HH, HT, TH, TT} n(S) =4
(1) ©eAT A EI3T 312, THHIA HH! Teh DY THSUITE] 3TTR.
A = {HH, HT, TH} n(A) =3
(i) =T B H1Et 312, Uehdl B9 Havm=h 318,
B = { HT, TH} n(B) =2
(iii) =T C "1t 372, STETd SR Ueh sh1el v 311R.
C = {HH, HT, TH} n(C) =3
(iv) T D 91dl 372, Ueha! B9 7 vt 3118,
D={TT} n(D)=1

31, (2) et fuerelia 50 e Ted. Yo St 1 d 50 ATuehl T T fafgelt o1me. wgg
HIVAE! Teh IS ATgoHeh TGHH higel at THAT Taehrer ‘S’ ferar.

T A, B 9 el TYAT Sreehie @@ fotar.
(i) TeT A T3t 312, SHIsiaiied T&IT 6 = HHT <101, & 3778,
(ii) T B FTST 37, Shistat T Ul v 315, § o778,
3ehed : AT AThRI, S = {1, 2, 3, ..., 49,50} n(S) = 50

(i) g1 A G1dl 312, HISfaricl T 6 5 AN S0 & 317,
A =1{6,12, 18, 24, 30, 36, 42, 48}, n(A) = 8

(ii) =1 B A1S1 312, hretate & qul o 318l g 3118,
B=1{1,4,9,16,25,36,49}, n(B)=7

=papapapapapapapapapapapapaps SO D R



341 (3) 3 gt 9 2 geft AT < foreeneai<h gemasda afidt @refier sréfymmt sqar=h o, Tg
TR ‘S’ T YT Heeh AT g1, dHE @iela g1 T T@EdTd forgt S g
(i) g1 A G913t 37e, Tftdia shHfid el T Gerfl 318, & R,
(ii) @reT B |1t 31, Afeid Teh o o b Geriil 3750, & 37T8.
(iif) =T C |1 372, Al herd Gerit |0, & 3713,
(iv) =1 D |1t 312, |ftreita S SImed Ueh ot T80, g 378,

3%t : @HS1, B, B, B @AM gel 9 G , G 31 € Hefl ATed.
1 GeA1-FAT GH HHEET Tereed] At seerers 3.
S={BB,BB,BB,BG,BG,BG,BG,BG,BG Gle} n(S) =10

1722771737 T2 Ty T 2 T2 T T2 e 3 )

(i) g1 A G1dt 31¢ Gftrcfia st st Teh ot S|l &l 378,

A={BG,BG,BG,BG,BG,BG,GG) n(A) =7
(i) =T B |11 31 AiHdId Teh o o Teh el 3190 & 372,
B={BG,BG,BG,BGC,BG,BG} n(B) = 6

(iif) =TT C Tt 37 FMelta Tt Herl 3701 & 37Tz,
C={BB,BB,BB)} n(C)=3
(iv) =T D F1dt 312 Aftreia St STed Tsh Gerit 31Em! g 378,
D={(BB,BB,BB,BG,BG,BG,BG,BG,BG} n(D)=9
31 (4) SF BT Hehal STHFAT TGAT TH ‘S’ I THAT TR Feehr=t gt n(S) o,
Qe 318 Ut HTOTRY Fe1 99 TN ToTal SATUT AT e YT TIeehia! @ fotal.
(1) ST JESHTTIER AUTT=AT FehT= SIS b HEAT 3THA.
(ii) T2 JESHITIER AVT=AT SThIH IS S =1 TN 373,
(iii) TTSAT JSSHRTIER AUT=AT Tehi=l SIS 25 3773,

(iv) HTEeT BIRITeR eI 379 =1 HIRIEA HhUE AeH IR,
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Sehet : TAT I,

S =A{(1,1),(1,2), (1, 3), (1, 4), (1, 5), (1, 6),
(2, 1), (2,2),(2,3),(2,4), (2, 5), (2, 6),
(3, 1), (3, 2), (3, 3), (3, 4), (3, 5), (3, 6),
(4, 1), (4,2), (4, 3), (4, 4), (4, 5), (4, 6),
(5, 1), (5, 2), (5, 3), (5,4), (5, 5), (5, 6),
(6,1),(6,2),(6,3),(6,4),(6,5),(6,6)y n(S)=236

(1) FHST, ST JESHFTIER AT TRl SIS b TE&AT 3THY, § ¥e E = 3712 3%,

E={(1,1),(1,2),(1,4),(1,6),(2,1), (2, 3), (2,5, (3, 2), (3, 4),
(4, 1), (4,3),(5,2), (5, 6), (6, 1), (6,5)} n(E) =15

(ii) AT JSWRTIER AUT=T Hehi=t s 5 =1 Eia 3180, & =1 F =i 31e 37rR.
F={(1,4),(2,3),(3,2),(4,1),(4,6),(5,5),(6,4) } n(F)=7

(iii) T G HTST 37 TTAT TS HITER AUTT=AT 3TehT=il SISl 25 370, § 37Tz,
G={}=¢ n(G)=0

(iv) =T H &1et 372 dfea BRIt fesTera 37eh ga=al HhIRTeiicl STehMIeT e T80 &
IR,
H={(1,2),(1,3),(1,4),(1,5),(1,6), (2, 3), (2, 4), (2,5), (2, 6),

(3,4),(3,5),(3,6), (4,5),(4,6),(5,6) } n(H) =15
TEEd 5.3
1. @I Teieh SAMTTETST TYHT STTehTel ‘S’ el TYHT "eshie §&AT n(S) T8= 72T A, B, C
T LT forgr 3mfor n(A), n(B) 11 n(C) ferar.

(1) Teh WTHT ZTehel STET,
TSI A HIS1 372, ST TSSHTTER U6 H& fHesul omft o1Tg.
AT B 181 31¢, ST YSHTTeR fowm He& esul o7eft o1Tg.
T C 131 372, TTAT TSWTTIaR e HET fHesul 3msft 31rs.

(2) TH ®TH TehT™ dJob! TTehed 3THT,
T A H13 372, TT=A1 TSSHITIEE STehi= sl 6 <A1 9id 3180l 37eft 311=.
T B HIST 37e, T TSHTTER A STohTll SISt ShEid At 10 STEUr 3T=f 37T
e C ITdt 312, Q! BIRIaiet 37eh THT 3TE0 373 3718,

=p3pIpIpIpppapIpapappapaps S S B S B B S S B S S




(3) o AToft ThTE et thehet! ST,
HIAT A Il 312, HHId HHI TH D19 fHesr il o1=.
AT B |31 312, Uha! B9 7 fiyesur s} 31z
HeAT C 131 312, GH=AT A0 BT fiesul 312t 3118,
(4) TRl G A @1 0, 1, 2, 3, 4, 5 AT SRR G 3Teh! HEAT T hedll 3TTad.
HAT A HIST 312, TR HATeied! ST 9 T fHesvr 31t 3178,
HAT B A1l 31, TR ATeieil ST 3 3 WHT SIOTRT 37807 37eft 3778,
T C g1l 31, TN Heied! ST 50 U Hid! 3780 3mft 311,
(5) & T899 g fea Tt g “oieRyT aftd’ sHemE 3.
AT A T1d! 372, Gitdid shHid s Teh St 31T 31T 211
AT B 913t 37e, Akt Ueh JoY 9 Ush Sl 314Ta 73f1 3778,
TeAT C Tl 372, Aftdta Tehal Tt Tamdt o1eft 217,
(6) Teh 01 o Teh HTHT TehT™ d3! thehal.
HIAT A I1d! 372, B9 Mi0T foreyy Hee firesor aveft o1mg .
AT B E1dl 31, H fehan T o11ftt wwee firestt it o172,
AT C T3 372, BIRITEe ST 7 UedT Wit JTIOT A0Ter shiel fHeaul 373t 3178,

ko ..';I_’ UE S
(‘Rﬁ%ﬁ wurean (Probability of an event))

T HIT S fo=d =%, TonT fUsTelid S0 AR 91 =g 3Ted. i diF =g 9Ted d
ST =g BT TR, Tl i T Teh <Ig IR 3Tz,

PTG =g TG STEUAT IRIAT ST TR, © T8 hosd.

T I G auE WA feha yiaHETa geiaaTa.
TETGH Agiedeh SARMHIS] THAT TR S 3THS U A g & JArmeee srufera ge
3T, T T FHTedn ‘P(A)’ 31eft geigara o111 Jeiel o Sard.

AT ‘A’ Tefie TAT Tkt T n(A)

P(A) = - — =
THAT 7SRRI ThUT TEehl= ] HEAT n(S)
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A T, IAAAAT =g @ ST & T A 38A, W n(A) = 3, R0 TG =5g_dH
T ATV TRV Ag TR A n(S) = 4

n(A) _

;. A <G e ITE, I U P(A) = 3
n(S) 4

TH IAATAT =g hla] FHY & ¥ B 38, Wn(B) = 1 .. P(B) = .

.8.04 sreereh s S48
3a1. (1) U 191 thehod 31T, WTeflel AT GHTSIAT G,
(i) B fireur. (i) =hrer frresur.
I : FHSAT, ‘S’ THAT TSR TR,
S ={H, T} n(S) =2
(1) FHST, BT A H13t 37 B9 THSuIm=l 3118,

A = {H} n(A) =1
n(A) _ 1

P(A) = ns) 2
(ii) W,Wéﬁ%mwﬁmﬁﬁm.
B={T} n(B) =1
py = 22 _ L
n(S) 2
31 (2) T BIET TR STEAT @Teial Tedeh 31 Y01 ShiuT=T Fe-= HHTSIT el
(1) =T IESHTTIER ed T fHesul, (i) Iz T HTTIaR fHeaTeielt T a9 79!,
Sehet : TS, ‘S’ THAT STAEhIST 3TTR.
S={1,2,3,4,56) n(S)=6
(1) =T A : IT=A1 JESHTTIER e HeT fiesu.

A=1{2,3,5) n(A) = 3
n(A)
PIA)Y= n(S)
P(A) = 3 ~ 1
62
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(ii) TIeT B - ST JSSHTTIER ¥H TE&T1 fHesu.

B=1{2,4,6} n(B) =3
n(B)
P(B) = o(S)
3 1
A
341, (3) I T foeeiean 52 JeT=al sheH g Teh Tedl shigal, T GTeiel Be-Te! HHTedl el
(i) T T AT T, (ii) T Tear e o7,
IHA : FHSAT, ‘S’ THAT TR TR, S.on(S) =52

(1) T&T A : ST TedT ATed 37901,
TRV ATA Ied = 13 =iehe Ied + 13 §&H Ied
n(A) = 26
n(A) 26 1

P(A) =

nGs) 52 2
(ii) =T B : ShTaetell Teal Frser 379l

Shewed TS, TOft AT [ & Tosgem ded ST8ard. TRyl 12 Feged o .
S.on(B) =12

PBI=T9 52 T 13

341, (4) THI WA 5 Ta, 6 il g 2 Tftes aiheled . < W Ush dishalc
e, T - (i) hIecc Tlhald i T, T

(i) hTecel Tisheie YA STHU I HHTIAT hlel.

Ihet - GET ‘S’ THAT TR ATz,

T A : BIedd Fiehald hibI= 30

n(A) = 6
n(A)
P(A) = S)
P(A) = _6
C 13

Son(S)=5+6+2=13

T B : higdd dichele UqiHe= 3190

n(B) =2
n(B)
PB) = n(S)
P(B) = 2
) = 13
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3'” ‘. ”'_ T T e,
® GUTSIAT FRTAHT fehdl feATgdT STYUTTeRT=T fehall STAHTAT=I ST9R Shel STl
® HIVTCATE = TuTerat & 0 d 1 fha1 0% o 100% 7.

ST, gedT E 3@a, RO<P(E)<1fFa10 % < P(E) <100 %

3. % B HHTSIAT 25% TR Tetfear ad.
® TSI FEATATAT STt GeAHT Sedci=aT Arare fagaen Iaaell A,
1 IS gBF 7 19 31t et faesneaian firesvarean gurerd=n fo=m e
T Tgdien g3 g 1d 3R, SR 40 fagenef yceht teh fuadt ST emdia
T YTl gosd § A1 fifgeret faadt Jvar=h avrean 4% TR, dfged™, a8
A= Hvfigl fohar vadt foedt Saavm=aTen @ fuedt fHesvamh dwrerar dad=
.

EEd 5.4

1. €19 AT1 Thehet! THAT WTetel ST GHTSIT hIQl.
(1) <Hia ! Teh BT T30, (2) Terg! B9 7 fiesur.
2. TF BT TehTd Jodl Irehet STHAT Wi Tel T HHTeIdT Shial.
(1) ISHTTIET 3ThT=H SIS ShHTd ShHT 10 T
(2) ISHNTIERIS 3TehT=H SIS 33 37U

(3) ufeea SRIMeRlE 37eh GE=AT HIRIEUS SThTUE HIST STEUL.

o~

3. TRl 9 15 Tafere 31med. Teieh faehlerat 1 o 15 3ol T e foifaiett 3Te. o1 Udiqd T
frehle TGS TgadH shiea aX fd eheTate T

(1) 99 G 390, (2) T 5 =1 UL TEU, AT HEAT GHTSIAT HIG.

4. TR GG 9 LT 2, 3, 5, 7, 9 T SRR G 3Teh! HEAT TIR ohefl, AL @Tefiel HeT=
QYT HIal.
(1) o fommes@a.  (2) a5 = wdiq 8.

5. 91 e+ ToEeiea 52 IeeT=al sheH g Teh Tcdl e al Wieid Be-Te GHTdT FIEl.
(1) TernT fHresul. (2) 3fER gear firesol.
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e e
1. ETeAd Sceh TeATETe! 1< 941 Hael.
(1) ETelid TETdeh! ShivTd! FHTSIAT 378 IRV TR ?
2

(A) 3 (B) 1.5 (C)15% D)o0.7
(2) T HTET heholl G =T JESHTTIGR 3 YT il FaT JUaT=l HHTe . ... 3T8d.
1 1 1
(A) A (B) 3 (C) 2 D)0
(3)14d 100Wa§rﬁmﬁé@1u@é@1wm%ﬁﬁw ..... 7T,
(A) 1 (B) 65 <c> D)

(4)9@%%@‘611@14@1 JTIHTOY 1%40318@1%1%@??{ 40 TS et fuereia o1mea.
T Teh IS ITAA ITHAT T hISlal= ST 5 =1 Ud TEIAT= GHTSHT . .....
37T,

1

3 4
(A) 1 ® < (O35  Dg

5
(5)SRn(A) =2, P(A) = %Fl'{ n(s) = 7

(A) 10 ®; (©F Dt

2. STEheHd WeaTg, ST aﬁnamwmmﬁwwzﬁwmwm
@ﬁw‘%ﬁwq&wﬁaﬂ%ﬁaﬂw . gEEE 0.83 o JTHITE] 58% IR, T
SHIUIT GHTSIAT Haid SITEd 3778 ?

3. TSI gih! THTA 6 T=TE VTR, 4 THAH  Th el 34 WBlg ed. Agfess qeudH
T Teh BTG HIHTI TV HagR= 318, T @Ieial JeTd] SHTeIdl el

(1) TMeReTh g Ho-TRIH 7901

(2) =TS ShIOT {Qoblié‘ibldlqcb 37,

4. %A THT 2 Tedeh HIgTal S SuigTeidial Teh 3T ITIHTO T 1 26 HIS aat!
JTRd. T A& Th hTS AGfesdeh IgHdH HIER 35, X hieeic] G T FHUI=
GHTSCT <hlal.

5. BIET 2 AT, 3 e o717 4 foxa 31en Tiia Brrdiet Teh B vTeiel Ao IgHdi U

(1) TiresTerel S e T4,
(2) THesTeran Bt fest 3@,
(3) ThesTeren H fetan a1l
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6. TohT @M 5 et O, 8 et 0 omifir 3 fawelt ¥4 omd. gl weudie S T U
HIREIE 3. T hleddd U s TTvaT=il THTIdT hal.

7. USRI HIRIT TR Y5 WISHeTSHTol 3778,

@

BT BT Thald ehall R JEidl eHT= HHTIAT el
(1) aC=a geewrmer. ‘A’ fiasul,  (2) at=an geewrmerR. ‘D’ firesul,
8. TRt @ierTa 30 faiferd 3Tmed. Tedeh fafehelar 1 d 30 Yehl Tohe T TeAfeel TR, T Shivda!
T frehle g TgadiF hied @ Wielid ge-Te! GHTSdT HIEl.
(1) fafereratier e fawm s, (2) fafereratiar T qut ot o,

9. UhI SRl WAl 9w IgRA 77 At A 778
50 372, S 14 Wil N 8 AR,
TSI B A SHRAAT T 1o ITe3d HTdeieT Q sosf
e AT 3 NI USal. T Al arhie
TEATA TS SAHUAT HITSAT Il

10. S TR WBWE 1, 2, 3, 4, 5, 6, 7, 8 ATTeh] TehT STohTaX ST FELRTET STOT o Hee o1
(1) T STOT 8 =T SRR Fewra,
(2) <t =ror Ty S7ehrer femre.
(3) SToTH SRTaclet! T 2 UadT Hidt 3750,
(4) ST qRIeCTel! T&AT 9 Y&l STgT 7Eul,

11. S ShIETER Teh ATHHTU O o 5 7 UTIeh G foigd TaR shelcl! HgT shis @idTd daa! 3TTed.
T T Teaish T GHTSAT el

(1) STEcTe hISTaiic TEAT & giieh TEAT 3TE0.
(2) e SIS’ T&AT 1 Y&l g STEI.
(3) SIEcTe histaiic Tl & quf T 1.
(4) e TSI HEAT S Y&l AT TE0.
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12. T &7d 3 A1, 3 et 9 3 &t <ig 317ed. s 1 9 g IeHdi hieal Tad Wiefid
T TS ST gl

(1) PTEcIeT =g AT 3T&0.  (2) Pl ©g AT &l
(3) ST =g AT fehdl TG 7,

13. Tceh shTSTe Ush IATYHTI mathematics IT eaTd il I 37eR feafgedt 3mfor ot shre urerefi deeft.
T Teh 1S IAACAH o &R ‘m’ STHUAT GHTSIAT el

14. TehT IMeSdtal 200 faeemeatusht 135 fogeneaf wagdl g1 @ maedl 9 U1 81 Wes Taea
ATEl. gd faeneatqy 1 foeeneff Feasa ® e Hegs! 81 W ATasd THvar= GHTeIdT HIel.
19 0, 1,2, 3, 4 ATHhT 37 UH GH 3Teh! FEAT TAR HUAT TR, T GAUFcd! hetal! =retat
T ETeATe e TSIl el
(1) <t He ges 31|, (2) <t "= 4 = vdia 3.
(3) ot T 11 = udia 3.

* . .
16. Tehl BIRIT=AT ISSUTTER 0, 1, 2, 3, 4, 5, IT HEAT 3T2d. BT BIHT GIHGT Hhehdd, T =T I53TeR

TG TCIeT HEAT= TUITehR Y[ STEUATH ST el
17. et shl U -
St [ : o= IT=T TRUT 9 n(S) =
FTTCAe =I9HT TR fogameat=h €& n(A) =
T TGS Y =RH1 STAvI T forgiell Arglose ugad+ fasuam gwreadr  P(A) =
T foreanetaeT =9uT 7 aTavi] Ueh faeaneff argfea® sgud fHasvarh swrerar P(B) =

et 11 2 AT TR T ST WA <Aend! H. TS A AE e an
— T firesur’ € oTR.
A=A )
5= { } l
l n(A) =
n(sS) =

P(A) =—=

O00 | AIVFEN
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6 > HiiEa<ht

o HET T URHATON — SRTihd TRARAT HRUNSEA HEd, RETh, TEeToh.
® HITEah A ATCREEAR HIEIRIUT — HEATeNE, TRARAT SgH, Jareid.

A SiaATa Aifedeh! 3T IMEA ITIa old 9id, 30dl, 7demen, anfirsy, Siwysme
TAEATITE, ST, TR, TR, TRTET0TI, THTSIRITE, S9eTI $caTe!. TETes
T esur=an fsdcdi=an 3 Yeidl TEdTd. Siegl oIl IedT durE=l 3Td, deal
TSN JHIMER TN e, Hd S9did sIaieId Jiel shedT STATd. T Aieie U hEd fafa

TR Teed (1822-1911) =1 faifest wmeaee S@amemead qed %M hal. d
YT IR e Tl 91 3ok AlhMed ohid 39d o o
W& <Oy fordt shtd o1ed. a1 e @a dArehT=h Aifgdl et
HEd AE qadiiohl, A e, sradi-fadl, s
FCATSIE HIG JHTUMEL e hid 3TEd. SNTeRTes=IT A=
SIeTe 38 AT AT & HIRId STl Bid. Teed A 3eh
W@ﬁﬁwaﬁqu@mm
AR ST & e diles] Jadi=al sier 38 m‘%raw
TG THUATE] IR SISUTE I 3TEd © raaal. e Siered] Saed TEre
eI 3@ T I I, [T INYUIETS! & Jegd ~Ieerdg! "
ST, MU= § WHGTSAT STERINTEATd T §d S ohal.

TR HesTelean Tifeas armfines FeaTamue T uieH Teesdl, di Fgurst |4
1ok We faferse STedTehTHiad! foham @I Sraum™ <higd goamel Sgcdl. g1 fafvrse sreres
T g SIS T@ T9d. a1 T hyld Yecdi= qHRATT Fgurdrd.

Jrafiehd ARUET!, HEA, ALk 9 Sgaieh AT THHTOT= STRITE SAI0T ATgel hell 3TTR.
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TTeatereh 1 : QAT Sdia 9 Jare 3=t His[ HieHewme FicdT. SATIeaTel 314 e,

Sl 3Tk ATt It &1 TETe faferse Tedvied! fohd cT=aT ST ohigd STeiel 318,

Treateres 2 : fUvesr=an Aer@re Ysae! 9 Mesl hll. Tcieh et Teheh UH 1.
STITICAT YT AT GSTITE 2IshTaid HIS & Higar. Hd fieqor (Jmedieh) Fieaedmat SATIe]
37T AT IS, <hl TehT Tarfrse Taiad! & Fierm shigd gmeied! o1m=ed.

ST ATV |Ifeash ATREfi=an held Yaedi=al TRET=T Hed', ‘Aedsh’ 9 ‘ggaish A
STfreh 3TV HIR ATEId. TS AT TSt 3711 foeg ai=ht anfed) oea 9.

HifeTes G uey = = ——— (3F x T I AR.)
TRV TR N ’

ey X eviadra T ot feciean smfi=h guad) s19q.

X="N

@Tﬁ% gRarar foawut arufiersa wea (Mean from grouped frequency distribution) )

SiegT TRl ST HId] 3T8d degl siid AT 8§96 & fofgd siis &0l ffepd= gid.

IS ATIUT 37 hTg! qeHhi= I hidl.

el el Hice SHTVITA sheted ST AT} afiehd ERU feeiel! 3THd. 3T et Hifeas
HTfEh TUTHUTT AT HEA 3T<eh Shiedl Id ATe!, TeUH cITedl SacsqTa= T HhiguaT= fehaT
JCS HET HIQUATH T TR,

(‘H‘{Etﬁfﬁﬁ (Direct method) )
3TTAT STV e HTCaeh W= He2 higuarsil {id IETEM AT,

321, : GIeiiel TROf Teh 1Y Y01 HLATH Jcdeh SHIHTRICT ATV dedl TRaRAl forawen foet 31T,
A& o hTH UT HLUATH ThT HITTRIE AFTUAT J3<T HE hel.

TIehTeT ShTH U1 ST ATTell 9ed (A™) | 15-19 | 20-24 | 25-29 [30-34 [35-39
ST T 10 15 12 8 5
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Johed :

(1) IROfid SREEITIHTIl 3H T+ Had.

(2) ufgean T =t fafga.

(3) gr= &wTa amimes x, ferfge.

(4) TerE= TqaTa o ST

SHTAT SRS () fefgett.

(5) ST TN Tedeh SIS
(x, % f;) &1 TomehTt feafe.
(6)#6(?? x, f, fetfeed.

(7) 9= AT9%E 7Y hlecl.

Eul T | IRERAT | SEHET XISl
(F@aEE) | x. (“.' T X f
! Fl'@ﬂ) Lot

f

15-19 17 10 170
20-24 22 15 330
25-29 27 12 324
30-34 32 8 256
35-39 37 5 185

TR Zﬁ=50 ZxJ;lﬂs

_ XX f

g = X = —1 =120 — 953 v Yo N

N 50 :

TShT SHIHTRIE hTH U1 HL0ATE ANTIMT Jo3< e = 25.3 A (37e)
B 04 04 et samewt 28,08 4
3. (1) Ereita Frefia 50 faeeneat=an Tl wieree o= cahard foeft 21Te. e o=

TFRATIET HE .
o TERkAT | 0-20 | 20-40 | 40-60 | 60-80 | 80-100
forganeff s 3 7 15 20 5
Jehel : T SR WTefiel \RUf qar el
aif T IEARAT | SHET X THERAT <. XX, f
(qoreht eehardt) | x| (Tereemelt @) X.f >
J; 2840
0-20 10 3 30 = 50
20-40 30 7 210 - 56.8
40- 1 750 . .
0-60 50 5 . e
60-80 70 20 1400 S S
_ 450
80-100 90 5 T = 56.8
TR N=2./=50|2x f= 2840
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341. (2) ATfieT 38Te3=ITd HERISSId T 30 NElid el Uehl fea@m= shuTel arad = ©C HEd Wiefie Jiviia

fect 3R, ATIEA HHTA ATIHHET H&T HIaT.

AT ATIHH 24-28 28-32 32-36 36-40 40-44
TR T 4 5 7 8 6
3Iched ©
i Tiimey TR (BT @A) | THET X THRERAT
(qrem ") x, / X,
24-28 26 4 104
28-32 30 5 150
32-36 34 7 238
36-40 38 8 304
40-44 42 6 252
TR N=2/=30 2 X, [=1048
T = X = it/ e YR e
Zf. 30

1

( TEaued ueerdt (Assumed mean method) )

HIgaetel Tl IERUUTTEE AT I Ad, i hefehtll X /&1 oMehR GU HIST HeT
Id. TS TS YU L FHIEU UTS A0 Bld. TSI VN UG Teh qegd TEraned
Teydl’ SV U, AT IeHdH T SHIedHl deM TEAT=l Sisl 9 HFThR hedHe M A Bid.

3TN, 40, 42, 43, 45, 47, 48 § UTdieh ATRd. IS HET HIGET 3R,

T ITELT I AT FReT0T SheaiTd STTIcT 318 T8I Id, <hl IT ATIfi= 7e7 40 UeqT ST
TR TV ST 40 F §&AT 9L HH, §1 [RIGHET 378, 40-40 = 0, 42 - 40 = 2, 43-40 = 3,
45-40 = 5, 47 - 40 = 7, 48 - 40 = 8 T Hieh UTEl. M I=eH FEUATd. =T AT g,
40 I AT TEaueTd fHesaeard taearen a1 arfien wen fiesdl.

TEUSE, HE = TRIANE + TRIqHeATIETA faeeE v
(0+2+3+5+7+8
* 6

25 1 1
j =40+ — =40+ 4— =44—
6 6 6

X =40
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TEAEATES A, T et d i foeerren nermrdl 4 @ o
o X =A+d 2 e

T ISR ATV TEAHET 43 B e UTg. Tcdeh ST 43 T HEA aoTaehl,
TRV TR IR o= ey,

40-43=-3,42-43=-1,43-43=0,45-43=2,47-43=4,48-43=5

TR e s = -3 -1 + 0+ 2+ 4 + 5=7

s X =A+d

“ 4+ (2] (a0 o 6 o)

=43+ 11
6

=44l
6

I LT A, hl ATTHY TEAHE TTEA ICTET HISTed™ heHIS HHT Bid. 8=
ITAThTA I Tohdl Hgel 1= IV TE! H&AT TEIaaed HIeH ail Smi=n He Seaid ATal.

JATAT ATV feeiea TRARAT ARUAHTS! &1 IGHd hafl Jatdl Id § Tehl IaTaUH TR,

3q1. ¢ 100 9Sft fershear=ht Torean forshi=h aramar aweft @t foeft oM. Teiaaea weada e
forshian A& =rel.
e farsh &2 1000-1500 1500-2000 | 2000-2500 | 2500-3000
fershea=hl T 15 20 35 30
IHA I A = 2250 8. d, = X, - A2 fereiem a1,
Eoi aie | do=x-A IRERAT SRERdT X fererem
fe fersht (vd) x = x - 2250 | (fershearsh we ) rd
i i f i
1000-1500 1250 ~1000 15 ~15000
1500-2000 1750 ~500 20 ~10000
2000-2500 2250—A 0 35 0
2500-3000 2750 500 30 15000
TR N=2 /=100 | 2 fd = -10000
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YR ST9% FHOf G hedl.

(1) TEHE A = 2250 Sac. (STHRI0] SR ST TRl STEUT=T ST S gl
TEIAHEY HFAT. )

(2) feshrer =t ufgean v fafeat.

(3) &= T srwed fafe.

(4) fog=n&qwmd d. = x - A = x,~ 2250 =1 fopwrelt feafee.

(5) = TqwTa T STidiel foshear= e fafeett @ sist . f fafaef.

(6) TTerea TG (X d, ) & ORI bt et st . f; . she.

T e ST 9 X e,

- 2/fd, 10000

= g = 7100
%:iﬁ:lféﬁmazzlsomwr%.

Tl : & ICTET TS TeHdH Hiedl.
X4 L wreder sqem B4 Y
3. (1) WA qROfid Tehl AR REd 50 SHIHTRIAT e e W IRaRAl faawor feot
TR, TATIE Teh! ShIFI=AT ¢fHeh W= HEd, TaIqHed TgEdi- el

=100 .. uFX=A+d =2250-100=2150

<feh TR (F99) 200-240 | 240-280 | 280-320 | 320-360 | 360-400
BT & (TR | g 10 15 12 g
IeheA : TRIAHET A = 300 A,

i1 Tey d=x-A EECIEGI] IRARAT X fergrem

(TR 793) X, d= x-300 (SHTHTTR T&T) fd,
/.

200-240 220 -80 5 ~400
240-280 260 ~40 10 ~400
280-320 300—»A 0 15 0
320-360 340 40 12 480
360-400 380 80 8 640

TR 2/=50 | Xfd= 320
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d == =" =64
zfl 50
e, X = A+ d
=300+ 6.4
= 306.40

HTHT=AT ek T=n 75 = 306.40 39 312,

(H%‘JSI'HTUT forere ugerdt (Step deviation method))

VT L HIGUATHT Tl USHd] d TaIane UeHd! AT STHITH hell. e awd- 7ed
SHIGUITT ATV Teh YSHd I ST,

* GH A BT TEIAHE TSl & =1 T TR .

* el o =1 e o 7 e fiesd sEe @ oy, = %wwww

* Fel y, A WA A 3 71 g,

* X = A+ g% M AH FG

3T ¢ 100 FgaH! AXFATTATETS! [adeied! STfieh @hT IRATdT FRofd feeft 2178, A& -
STV T Ieed i SheaT<aT ATteh AaUEhi=T HET Q.

ferram=ft T=h% | 800-1200 | 1200-1600 | 1600-2000 | 2000-2400 | 2400-2800 | 2800-3200

3 15 20 25 30 7

Il : A = 2200 W, Fe d T g = 400 IR
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o e | d =x- A . d, GIT{GFR?H
freme) |y, | =y-2200| 7 @m; UL g
800-1200 1000 ~1200 -3 3 -9
1200-1600 1400 ~800 -2 15 -30
1600-2000 1800 ~400 -1 20 -20
2000-2400 2200—A 0 0 25 0
2400-2800 2600 400 1 30 30
2800-3200 3000 800 2 7 14
TR 2£=100 | Xfu=-15

T TOf Yot ITE=T=aT SR Shedl.

(1) groftean ufgean wqurd faemean [aauEhie = fafea.

(2) ga=n TauTd e x fetfa.

(3) fere=n wawrd d, = x - A e feraet ferfeean.
(4) di @ @ fopmften w@mfa 400 MR W g = 400 Em. AT UM
d, d
U= = mmﬁm?ﬁ%w%w.
(5) T TAATA Teieh el aarar (Hear ae) fafge.
(6) HETT TG f; X 14, 81 OMehR Sesleh TS fetfee.

l/lliﬂ e @lei ol Al epleddl.

— Xfu s
—g =100——0.15
X=A+u g

= 2200 + (-0.15) (400)
= 2200 + (-60.00)
= 2200 - 60 = 2140
. s foTea anfies Taeuha Ued 2140 T 37Tz,

Tl : TS TGHdH, TEaHed TeddH Jic eell Hidl. HIvcTa! TgHdH et el HRET=
Tl g I,
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DA wreaeet s 8.4 04
31, (1) Imeddia 50 fogeneatt guredraTdt SHacen i< aramar @l foeft 31, wmes s

hotedT fHefi=n 7eg e,
et | 0-500 | 500-1000 | 1000-1500 | 1500-2000 [ 2000-2500 | 2500-3000
(FF)
foremeft 2 4 24 18 1 1

AT TG G HHT T T8, T AT g Teh ol vl |is 378, AT IGTEIMa
0 - 500 500 - 1000 JT=I Tsh =7 7T 2000 - 2500 F 2500 — 3000 ATAT Teh T ohedT.

faeft (@) |0-1000 | 1000-1500 |1500-2000 |2000-3000
Teremeft 6 24 18 2
I : A = 1250 TH, Tl o, THT 7 = 250 I,
El aine | do=x- A -/ CICITG|
Feft () X |=x-12s0| 0 S| f fu
0-1000 500 -750 -3 6 -18
1000-1500 1250—>A 0 24 0
1500 - 2000 1750 500 2 18 36
2000-3000 2500 1250 2 10
TH 2/=50 | Xfu=28
. Xfu o
u = —— = =-=0.56,
>f 50
u g =0.56 X250 = 140
X =A+gu = 1250 + 140 = 1390
', ST shetedn Hiefi=n qeg 1390 T9 TR,

1. 391 3GTELVT Tes YU+ g

2. T IR FISHAT AL TEIHE TG higd TSdTeg dTal.
3. A = 1750 U3 I UgHhA IgTeTT Hied.
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WEEd 6.1
1. 3car 10 = 50 fresmeat-it Ter=an TmEmErd! sdid shaled ar@ o feremeff g ar=ht g
Torawor amoft feoreft 3mme. e faesmeatt stmamTd foetesn desan ued wies ygedH Hial.

o5 () 0-2 2-4 4-6 6-8 8-10
Toreneff g 7 18 12 10 3
2. Uehl TR SIet-TeRITaR Hehlod! 6 d HEATRIGAT 6 AT dcdd STHT BTV hY (JUATd ) I STE-TEEaT

T IRERAT ARl feeft 31Te. T ST SV U< TR0’ guti+ Hel FIel.

ST (FR) | 300-400 400-500 500-600 600-700 700-800
EIRER 80 110 120 70 40

3. wehl feaeht gur forshl Shgra® S0 UTEehT fordid shoted GHT= ST foreor |rof feeiett 31
cATaEA fIaiid shotean U= Hed e TeHdiq Hial.

gy faaqo (efiex) 1-2 2-3 3-4 4-5 5-6
TTEh T 17 13 10 7 3

4. & SMTEACRI=AT TRT=AT Icq~TTe] JIRaral faaeor greft faefl 31, aeae Ica—m=n 9,
TEquE’ TG hiel.

3T (BIR 799) 25-30 30-35 35-40 40-45 45-50

EIIEG IR 20 25 15 10 10

(e at

5. TehT SO 120 HHATATHGH GEehIBUEATHTS! ST sheted = et foraor ot feeft
TR, e st fefte mew, et v foee eEdie e

fef (z92) 0-500 500-1000 | 1000-1500 | 1500-2000 | 2000-2500
EXCINESIC]] 35 28 32 15 10

6. TRl HRETAIA 150 HETRIE] GTediiges W= IRardl foadqeor aroft feeh 1R, <ames
IR AT g T G, HeTgHT foee™ ugedi= el

gredTiess TTRE | 1000-2000 | 2000-3000 3000-4000 4000-5000
HI=T T 25 45 50 30
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oI Tt Wi Svardt skt T i faresneff @ g faesnfiit g feamandt smez=n
IR et Bid. T 3TI FEAThTe5 SIavl hid ST & ST BId. SIHT=AT STRUTE Teh fehalHie

AT ST HISH CUTHT €8T Biced B, caTel AauI=l & ¥9Td, Jacdl shT Wy Tl §id.

40, 45, 60, 65, 70, 80, 90, 100 31T 500

el BReider ST ) e o = 1135, A

foreamelT v giear SiEv YU StEe 186 ? 500 T G SEv QU gled Higd
A 4 gl e 113 &, U&7 HH] Bial. foesmeai-t 7w et gied Hasre 3. ufgen feasft
70 %. G o gu=a1 feasht 80 . U= SHet Hdd.

el IBT TTCdTehT=dT GUEI IT= HEeh ST STl AT & IETalul 1R,

HfIE $acdd STariiehd ATEAETS] Teeh’ & HehouHT STV ST 3718,
o fedean afidiel T Tecan fohal ST THA ST 39T, Hieviidial Heaumil Jom=n
AT TR Hedeh FUTdTd.
* gy g1 fededn IR € THM VI fHToH shtdl. Feured feadtean aiard! qedeh=al 9K
o fomwmk <k <k... .. < kst I fafeara.

n+1

* i ST N SREAET — - 1 ST Sl Heae ST, B k., <A A
nT_l Sleh WTTeh o A& nT_l Sdeh TTTeh STEATA. n = 2m + | B3 § Tediel.

o gfidie ITedieh 12 1 99 AT 9= Hedeh g1 e oF edi= guEdl 31dl. iyl
k, = andta k., =80 A0 T&Ah n—2

YTedTeh 3TEAT. n = 2m 93 g ISdleal.

. 2
° TEUNH g &t g ngrz &t T Al AUl SaeTat AR TET g o Arfien qeew
7.
3a. (1) 32, 33, 38, 40, 43, 48, 50 3T YT HISUIA =12l T&T HLATR Ad, FEUH feerea
[T 789 = 40
341 (2) 61, 62, 65, 66, 68, 70, 74, 75 IV YT TEAT § TEUN §H 317, TeU <iefl

g UT=E! TR G HEAT HEITeR 37Ted, o1 66 9 68 AT MRd. TV feoiedn ami=
66+68 _

2
=papapapapapapapapapapapapaps SO D R

ek =




| uf.:"% S S

(?:Fﬁ% TRARAT foriur aRuiieres agaek (Median from grouped frequency distribution))

TRl AT HIS! 318, Tog] TR YehR WISV T Hedeh shieul MR Bid. T8
SATAT ST Fiffehd TRATAT fIaRuTT= TeTSl HEeh HIQUATH {id IETE0TT=AT HTERAH TR,
3q. 6, 8, 10.4, 11, 15.5, 12, 18 =1 Yramehrel afiha aroft g foefl oM.

Gl AT GO | AHERd il qTeE=IT=A1 GOl | SaRdT
6-10 I 2 5.5-10.5 i 3
11-15 ! 2 10.5-15.5 I 2
16-20 | 1 15.5-20.5 I 2

gfgean grofid 10.4 9 15.5 @ SH UTdieh HHTOSE Shidl 3T TTeid. shrRUl AT Gl
6-10, 11-15, 16-20 JAhI HIUCITE S THIGE B AR,

I bl 1 HWl HEA Al B AT HIE IR,

I GROa Wit sreier 0.5 4 HHI & Sl FnHaAlel 0.5 3 Areddl IFan, Harie gad
foaor aneft R A, Y 15.5 & W 15.5 - 20.5 AT I IS BiEd.
FiffeptuT=l Jgud el o IRARAT 9] Yhd § 9l GRvUfia®sd @&nd Id.

_j‘ . % v 3

‘ 6+10 16
et Gl 6-10 3T S= 4 = > =5

:8;

55+105 _ 16
T 5.5-10.5 A e AT = 2T = =8,

TEUTS! ST ToHT ATTeseT UG- ohat! ol T Sgetd ATal § &TTd =T,

Hreaeiet 3aTeNut
el 10 i e wWiEd ur shetedn 100 foesmeatean Mo aRewrar aweft qe foof
MR, otz Ui Heash Hal.

wdierdte o 0-20 20-40 40-60 60-80 80-100
Toresmeff g 4 20 30 40 6
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Ihed : N = 100
% = 50 TV 50 S TEA F IS HEASh FAHUR. AEE! 50 ff FEAT HIT S Ad,
B I M M. T=dT AT Al Thi=al Hfad IRaRdl TRufiesd 8
WY IsA. ATEST IV Siid IRIARAT TRUae U& el Hfad IReral faawor groft

aIq ¥,

aif ELCIGI T IrERaT
(Fresneata ur ) | fereemeff s (BreT et
fi o
0-20 4 4
20-40 20 24
40-60 30 54
60-80 40 94
80-100 6 100
I HROEEA,
N

S = 50 AT AR ATdih 40-60 AT A Mg, <A1 GHE HeFh Addl, A1 A
HETH Feurdrd. AY 40 - 60 BT HEHH ITR.

40-60 A1 S WiaE! HAQ 40 g 9 IRERAl 30 ITR.
ufgedn 50 WTemhiueshl geaTd 24 YT g 40 Y& & 3R, e 50 - 24 = 26

Tk (40 - 60) AT S AR, AT 50 ST JTAThr 3TgTel YRl H IOl ShidTd.

T SN TRU 30 YR 26 Arh 50 T ARG Med 9 Al 20 AR FEUH
: 26
SO o1 ST, 40 FE S5 X 20 3 HISl @ I A,

. 26 52 1
?ﬁ?ﬂiﬂﬁ40+£><20:40+?:57§3ﬂ%.

1
. HYh = 575
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N
morm = Lo+ | 2 0 <h
/
I g L = AeehaniEl @i |, N = THu arEnar
h = U=y T S, f = UeIsh el aRardl

cf = "I A=A et S wiud aRar .

N
T 3erewnd; 5 = 50, ¢f = 24, h = 20,f = 30, L = 40,

N
S
g = Lo+ |2 xh . .. ... ()
= 40 + (50_24) 20
30
_4g 4 26%20
30
_ 1
= 40 + 172
3
I
= 573
_j'” R e e

4 92 FRWEEE! fedd I Tl T9did 9 d ol e =41 AN,

4 TR T @U A ST Fecdl HUH Ucie Tk fifgu e
31Ed. TgUd | ATeull Sfiehd ¥ hidTd. 3TN Sfiehd HTHITET HEAwh
ITeh HIEU W 9, WG G HEAH HIQUATES! JEid FF ITHAT.

N
aees = Lo+ 2f x I
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DA dremereh sqr@ BABH

3q. (1) HESH® dTEqeh o=l 60 SHEH Tl feadma Suced fai= aRaidr |t
feeht o1R. w8 U feada wucedn U=l HEIe el

Afed e T (fdl) | 200-209 | 210-219 | 220-229 | 230-239 | 240-249
UG g 4 14 26 10 6
IhA :  GRofid feod o wem TR,

T S G WG 9 e il @ielid JAiel A Bk 1 TR,

1 + 2 =

0.5 & Thma Y o= @Al Waleqd a & ST ST

TG e Fmid 3tg, IR o §of %€ 9 adt arofl fofg.

a0 I1d U HHYET Gfd IRERdEl &9 IR 6.

fetant | wom horet P S et
200-209 199.5-209.5 4 4
210-219 209.5-219.5 14 18— cf
220-229 219.5-229.5 26 > f 44
230-239 229.5-239.5 10 54
240-249 239.5-249.5 6 60

. N N .
ﬁéwaW:ij:N:éo S5 =30. .. HEFh gl e 30 o1 HIwdleh.

ufect 18 WTwes 219.5 Y& HH 9 i, 30 - 18 = 12 W= 219.5 - 229.5
AT A ATed. T & eI IR,

219.5-229.5 I1 (N Gfad IRERAT 44 TR,

e,

L = uewes ol @il 7Aaie = 219.5, A = U o Sl = 10

¢f = Hegsh aieAn oMt ani= @iEd aRaRdr = 18,
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. HEE = 219.5+(3°2‘618j><10

219.5 + (mloj

26
219.50 + 4.62

= 224.12
ST ¢Hfed ITaUe Hedsh = 224.12 fohetmfiex
3a1.(2) Erefid anviia Tt feasft e aeqeueierTen e QU= e 93 foeielt 31,

qTIE ST SAT HEIh hIQl.

9 (a¥) el AT
10 v&r st 3
20 YT HHt 10
30 YT 22
40 v&T St 40
50 T St 54
60 TeTT St 71

IFHA : IY Uy HH Hiud IRardr faaor fedd TR, vumd: 1 gd oiiear @ SEaAter
fifcsaea NI, ATl &I 378, hi ‘U8l ! Hfud IRaRdl & el
e aimates) Frifed se.  dfgean anfeh awh mafer 10 3R, HomE SwE
TI O T 36 UM Ulell M 0-10 ITET IFEA. gEAl Tl 9= mATer 20
3R, TUE GO0 o1 10-20 BiEdA. 3T YHR TR 10 8FHA A a1 IR ohed.
ITIATO ST a1 50-60 ST, M YR AT Wiehayd o &t fetfgar .

e —
ERICL En .
TRARAT T e
10 Yar st 0-10 3 3
20 v&TT St 10-20 10-3=17 10
30 U&7 20-30 22-10=12 22 > cf
40 9T HHt 30-40 40-22=18 —f 40
50 T St 40-50 54 -40=14 54
60 U HHt 50-60 71 - 54 =17 71
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N
AYN =71 .. 5 = 35530 h = 10
35.5 & "& 30-40 AT G M. UL & HLAhaT ATy, e Sl di=d
JEENd 22 IR, WE of = 22, L = 30, f = 18.

f

HqEh L + Xh

30 + (35.5-22) 1—2

10
30 + (13.5) T

30 + 7.5

= 37.5

c. W QU SFadi=dl 99 HEgeh = 37.5 9N

e 6.2

1. Wi gROfid Tkl HTRASR Huldid edied M= dF o da@l o3 hiH  shum=al
FHrETE g@n fodfl R, e Ui HHETTeAT ¢Afed TS dTETe ek
FIa.

¢Afe HmEE ™ 8-10 10-12 12-14 14-16

HHATTE T 150 500 300 50

2. TH ASA AT e 9 T ST HesTole ATer=h & I JRamdl
foao foot omme. e fodien ammfie neas e

AN §&a | 50-100 | 100-150 | 150-200 | 200-250 | 250-300

EEEIKSI 33 30 90 80 17

3. US3-QU1 GAAHTTeA] ATgdei™ (a0l HUUM=T Wc <ehla shotedl He&oTTd

getersmm fen steaset. fooien A neasw wal.

EIReIC IR 60-64 | 65-69 | 70-74 | 75-79 | 80-84 | 85-89
(fertft /ame)
I T 10 34 55 85 10 6
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4. fafay FrE=mRE I gum=n feaat e wefla gnefld fedfi 3R, ceEa

fesaT=a1 IcqTeAT=T A% hial.

fesa=h 9w
30-40 40-50 50-60 60-70 70-80 80-90 90-100
(F9N)
HRET=E
. 12 35 20 15 8 7 8
el

| Pfili% [ YA

(?:Fﬁ@ TRARAT foaumas" sgeh (Mode from grouped frequency distribution))

fecioan UTedehia TRlld Sed JesT AUTRT Tk FEUIS <Al THET Sgeieh ITEdl @
ST SATOTAl.
ISR, TETEl GATh! 3caTaeh ol fofael TIHES gamhl el AN Hid. Shivedl TT=al
A= THdl Tl MR § V[ HUHTES! o1 Ul U Sgae HIald 19U 3Evah

9. = fafay Icared U= e Sudidr gaiftes grmfl sivca IcareErdl

MR @ SN[ HUI ATEeIhdl died. T Jedl o I 9gaieh hIeEl AN,

U JTafiehd IRARAT HNUGed Sgaieh el HIEEE! 7 Uleal TR.
T 0T fihd IRARAT fodiune® 37 9gaish el IRl d X,

e gl 3 ST,

A FAG, L = Sgerhid el @ie i
f = dgahr el arEnd
S = Sgehia oA A=A S SRR
f, = SgEhia ateAn gewan ol aEn
h = SgAehE T IR

T g IS G Sgh hdl hIEAd, § IeTeUlasd 3TV,
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DBALYS dreaerett T A A
3a1.(1) Gl aRanar foaer grofid s WeRe Jum= gard! 9 1 9 o

AT FATTE (TN) 6-8 8-10 10-12 12-14 14-16

AT FEAT 43 58>/ | 10—>f | 42—, 27

Tid gnofiaed 3™ &8d Id, it 10-12 I Jaredie faeneff g dafa s
Mg, TEUNE 10-12 B Sgahi a1 3R,
IHA : AY £ = 70, A 10-12 B qgAh .

. o N
. lgetedl sqladVlld,

L = wgoeha ot el Jae = 10
h = g™ 9 FIiE =2
f, = SgAhIE S SR = 70
f, = dgahr AT Tefi=ar el IRARAT = 58

f, = SEThI STTeAT GEwAT el aNERdl = 42
fi— 1o

- 10 + 70-58 % 2
| 2(70) 58— 42

- 10 + 12 } % 2
| 120-100

_ '2}
= 10 + 20 X 2

24
=10 + —
O+ %

= 10 + 0.6

= 10.6

RISTTUTER. WA= Yefi=al 9T §gafs = 10.6 a8
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341, (2) Greflal giaRar faaor grefid TehT UeiauTel Udiel WO aTeT= G SA1fur
AT Wl Yo I mifEdt foofl oTR. IeEs drEdd wWeledn Ugier=A

HTh[THFTE  dgcish <hlel.

Teial 9iet (efieR) 1-3 4-6 7-9 10-12 13-15
AT T 33 40 27 18 12
IFA ; IV fedd o g AEd. d STUU A hEA U AT TRIRAT IRl TR .
i AT Shetet ot IRATAT
1-3 0.5-3.5 33 > 1,
4-6 3.5-6.5 40 — f,
7-9 6.5-9.5 27 > f,
10-12 9.5-12.5 18
13-15 12.5-15.5 12
Y f = Fgehd A GRENAT = 40, Sgerhi a1 3.5-6.5

it
T = L{zfl—fo—fj x h

) 40-33 A
BAR = 3.5+ 1 G03-27| &

3.5 + 1.05

= 4.55
. ATEAA WAl USSR IHMENET 9gash = 4.55 et
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EEd 6.3

1. T GY HhTH halel qeh=AThgd HhTd helcl G 8 WaeHISH ANeidl gaTdial (%)

g ferem (%) 2-3 3-4 4-5 5-6 6-7

HehieTd g4 (efier) 30 70 80 60 20

2. HIE FAET HITGHh ASETR GEid aiffehd IRARAT GV AT 3R, %A dSarir=
EENEIEACE

R (FFe) 0-20 20-40 40-60 60-80 80-100 | 100-120

T T 13 50 70 100 80 17

3. =gl 100 BIEAMT aoiet g4 9 gioarr= deal A=l Ffihd Iiarar areft foefl 3R,

cdldwd Jlddedl gHl= sigeish <plel.

el (i) 1-3 3-5 5-=17 7-9 9-11 11-13

RESICIRSER] 7 5 15 20 35 18

4. WA IRaRAT forawor grefild 200 FOm= 93 30T IT=R =T FME] Tl ITSaSITdied

77 (a¥) SUemsdfl | 5-9 10-14 | 15-19 | 20-24 | 25-29

FIUTEEAT 38 32 50 36 24 20

o qHTA A 20 HATSAT ISHTET WA HIa.

o qHTA Sidid HATAT I=AT HIUTE] Sgah hIEl.

° oA Y% faeeneaH e € Tl fAfHed Ul Sk WiNed |
I g U, AT A TRUl U F TS ATEea] SieTal Sgaeh hIal.

o Tidiad Y% foeamedi=ar == dic wu. < AR arffem wu. 3=
T HIal.
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ELm e
y -

JTIUT hgl Jgcd =] Hed, HEAsh 9 Sgaieh A1 THHTOT=T STRIE hall. hald Feedi=
HIUd IR FEaERE g SEEEEl, d MasSTmERE 7q AT TIETul HEd 3T
JMETTH .

ST, Tehl WMesaidd 10 AT 419 TehedTdshl I qehel TarTd Tdiaa Sed oxd
AE T SWUIMEES o Ucdeh Joherdl IAaid Wede Tl HEX' el Anid.

TEieTl Sidid el Al qhadid TUesd GF e e 3TEd, a ol
il geATean o= Hersh’ g uRam Hage anta.

g TR ST TEEA §9d Tl vl Tl TS daifeeh AWl 317 ©
IMYRE 38, W ha¥ Tcd= FTgash @ g fHage anr.

( Hifeaes A feeeu aedien (Pictorial representation of statistical data))

Tifeas mifedi=n Hea, aeeh, Sgas Jaed fohal AifEd favawor wea
Sw e fafyme fised firssavamardt .

Tifeaes ATfgd! Hfed 9Td e HOATE Th UeHd TeUS FRui=AT ®9d amt qieo
3 ATl AT 317, Tq HARUi=a U STHeATes ATSe hig! aTel e aemd Ad
IE. T O & GHSOIEE!, TS G99 dlehre ad mfidiel Agcamean
wrefiere TS, AT HIfEdE Wl IS TR Al s I @ fomm .
e, SrAHheUTdid STel, Wedldlel Hifad] 3caTel.
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( FEf "redeun (Presentation of data) )

T 9 SATE®Y HIGieivl 3 il s1efaly guamdre! aruRel SR defee TR 3TTed.
gt wredientr=an fafay qeue gRiaumd IREThd! (tree chart) @Tel gradd! 318,

T HTG{IhLul
v v v
LSluicav] FoerEy qeyd S ICR OT]
l A \ l l
Jerfishd | | afiepRd LIRISIC] ERURIC W

l l " L ,,

re e IELIEK] NG ARG | | IR

AN SACAEEN 3T ATeh! hIel ISHdi=n o STeRaTel AV hall 3R, ATAT ATI
ARG, TRARAT g4 d JedTeid A=l FIeTeAT A= Tiedur S U= d 7.

FARE ATEAA (1820-1910) I 9R Sial Icpse @
LSS TR TV 3@ ATd. ShiftHe Jeddia
HEATET e Tty ASer A TR B e | W
IR, ek AfTehT= STEYT, A=A Foldd AR 9 A=
ITART AT Haldl FAEAd HiG HEd A Hgear= ehy
HTed. TR T e TEHUET TEHES, Hicrl 'r -
JERE T S HROMY Bld. T HRUl THERRT Sea=sdl, U= sfea<s qrof,
T ST TR Aol &, Bidl. & hRUMHIHTET =Ieehd ST ATel FeUd FARd
I TEETEARE 3@ TR hel. AT TR AU Ta=adl o qresd it e
Tgl GJ HH! hed CrEadl. e A TEUIHE], SHATEId HAHTHRI hivi
SIS ST TYUATHIS] |1 [GH WTvfl TSR 317, B ATl U0l TRATIASMT Fedl.
e her=h shaiell Icaq die, wifegshiar smur fovamas s S ged

: o
ohid, % A=l enlHId®wA (g,
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(mﬁ'@ : HistogranD AT F A SHIEUAT U STTIVT ThT ISTEUH HHSH o,

3q1 : Wiefta grefia fafay s =g B T Hed Fa Aramcdt e (Net asset
value) feet a1,

TTEA AATAE HIEl.

TR WA Jod
(&) (NAV) 8-9 10-11 12-13 14-15 16-17

R[<A 3 He
“En 20 40 30 25 15

Ihet : I GIUiETS! fecial o7 T A8, d HaUUH ol hed U,

T hadd a1 | 7.5-9.5 9.5-11.5 | 11.5-13.5 | 13.5-15.5 | 15.5-17.5
IRERAT 20 40 30 25 15

L IRV THTIT
40 X-3781:1 9t = 2 50

35 Y-31e: 1 g = 5%he
30

E 25
’ 20
15
10

X' Y’ 7.5 9.511.5 13.5 155 17.5 X

EQi
3l 6.1
HTEATE HIGUATE Helt

1. o7 ST THTH o T hied] AT, 3T ST atedd ot (extended class intervals ) FgurdTd.
2. g afeid ot X- 78R A JHIOT B guial.
3. Y~ STeITeR IRETAT 1T JHIUT T g3iaT.

4. X~ ST Tk Ffed o7 T ITT B3 AT T hiel. A=A 391 STd TRaRdiae] &a.
=p3papapapapapapapapapapapada 15) KA EEEEEEEGE



LT T
X -3TeTa. SR (e Mo ufger st areamed ‘—N\— areft gor o, (3N o rerw,
krink mark, 378 TEUATa. ) A= 37ef STRWfGUTE ufeen Aol shiowdiEt Fie A, =

X~ AT TEt ITacATaRGE! & GUT 3R, SETIhdJaR Y - HeITaTE! &l Ul aroRard. s 9
SR ST 1T Idl.

e 6.4

1. giat Tl SdTei@TeaR gedT.
foresmeat=fi = (Bfi.) | 135-140 140-145 145-150 | 150-155
Teresmeff g 4 12 16 8

2. WA FRvfid Saii Tehd] 3ca— feot 3118, T TdTeid hiel.
THlt 39 (fear) | 2-3 4-5 6-7 8-9 10-11

STdeh=Te T 30 50 55 40 20
3. @Teiiel ARufid 210 Hear a1feh Taavpeh foeft 318, TTaE TR Hial.
RGEWED 10-15 15-20 20-25 25-30 30-35
(TR &7¥)
SHeaT T 30 50 60 55 15

4. Wreter greofid feesneai aha=an qafiard) feeie S esiad 31, e AR HIal.
o5 (Tafema) 60-80 80-100 100-120 | 120-140 | 140-160

Teresmeff g 14 20 24 22 16

( aRara agqs (Frequency polygon))
IR AR AT ferferer TehR SRiaa 3. TTI01 STRIATI@T=T STHRITH hell 378, Ga

YRR ‘TRARAT S5 & 3Tz,

TRATAT S hIGUATSAT G TeHdiT SAXITH Hhe.

(1) IFATET=AT Hed M (2) AATer@ = ar9Lal.

(1) STEATIET=A1 Hed M IRARAT S5 hIGUTH! {1 T[T HUATETS! A9 3Thett 6.1 AL
AT TR T HE.,
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401 Y THTO

35 X-3781 ;1 9eff = 2 &
Y-3781: 1 9t = 5%E

30

25 \\

20

B

(,—-’v v \ >
X ONY SO (LIS LIRS TS 5SS X

Tl (R AT )
JTRAl 6.2

15

10

ARARAT (V. HeT=! TE&T)

1. AATIEN S Seieh ST ST SIe[a Heafeg gyl

2. ufeean ATl S I I A g 3TH HET o A= HeAfog glel. q8e ae=a
HTIAHR Teh I IeATE1 TR AT AT HEATeiger o1 . @ foig X - 3terrer Adfiat.
3. o HEAfeig SHHTH HLes LTI SISl

4. TR STCICH SIfeEd 3TThd! FaUToie IRARAT 954 819.

(2) SATAATNE A FHTedl, TRARAT TS HeUATETS! foige FeRreh ¥ STadid @ Wietiel RofeE

HUS[H =41,

it T FImey TRERAT EECARRAIED
6 -7 5.5-17.5 6.5 0 (6.5, 0)
8-9 7.5-9.5 8.5 20 (8.5, 20)
10 - 11 9.5-11.5 10.5 40 (10.5, 40)
12 -13 11.5-13.5 12.5 30 (12.5, 30)
14 - 15 13.5 - 15.5 14.5 25 (14.5, 25)
16 - 17 15.5 - 17.5 16.5 15 (16.5, 15)
18 - 19 17.5 - 19.5 18.5 0 (18.5, 0)

ARufidie qrerea STl MR T foig 3Teid ShITGTeR TUTOH SHIdTd. d ShHT S1ed, hi
AR S84 fHedl. 81 984S 3Tk 6.3 AL qrgaa 3Te. =l e .
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o (10.5, 40) itk
40 ® X-3187:1 8eft = 2 %
~ | b Y-318: 18 =5 %3
@ 30 (12.5, 30)
:E 25
P 20 (5.5, 20)
E 15 (16.5,15)
' 10
5
o ! ! I 1 >
X 83 8.5 1S 125 s 16.5 18.5 X
W (9 HIEHcAHed )
FTHl 6.3
A8 0 wieaeredt et 28,044
' 1Y HTOT
31, (1) FiFa=aT SATehdd qr@acicd] IRARAl s (35.20) X-F#:181= 10
TR 3TER e T It -
18
ferar. -
(1) 50-60 =1 = IRARAT fotar. o
(2) 3T ST SRERAT 14 3718 3781 o foar. E 12
(3) U 55 STHAAT a7 T, 10
(4) Talfireh THERAT AT 9 {oTgT. 2
. 6
(5) [ TRATLAT STEHUR T foAgl.
4
2
i’OY, 10 20 30 40 50 60 70 80 X

G|
3Tl 6.4
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IFeA

(1) sime X - ST&TTeR gRieret ATRd. X - Hxeh 55 3deten fogar, (50-60 J1 sHTi=n 7ey 55 378,
- féaeh 10 TR, T8 50-60 A1 ST SHERAT 10 3772

(2) INENAT Y- SR ¥iaed] Aled. y- Heweh 14 3eciedn fogan x- Fewes 25 3.
Y-’ 14 I IRERd= GO 9@l 25 & 20-30 A1 el Hed AR, FUH aRadl
14 ST a1 20-30 3T,

(3) 55 B HE AT a1 50-60 3Tz,

(4) INERAT Y-SR cEEEA R, SgYSeR - fcwehret waffus fhwa 20 g, <=
d x- TGeeh 35 o118, T 35 TEUN a7 30-40 8. TV 30-40 A7 = IRARAT
Taifee 3T,

(5) I IHERAT STHOR =7 0~ 10 377 60-70 B 7=

3q1. (2) EIeid ARl are a9 d Jare! SET feeiel! 3118, I STHHTaE TRaidT g hial.

gare aed (k) | 18-19 | 19-20| 20-21 | 21-22 | 22-23 | 23-24
AT q&1 4 13 15 19 17 6
IIERAT S8 HIGUITHIS] AT foigHe Wieiel TRl TR & o TRARAT T84S G,
aif 18-19 19-20 20-21 21-22 22-23 23-24
e 18.5 19.5 20.5 21.5 22.5 23.5
FRARAT 4 13 15 19 17 6
fage | (18.5,4)| (19.5,13) | (20.5,15) | (21.5,19) | (22.5,17) | (23.5,6)

EIIED
i T
X-3781 : 2 Aeft = 1 femal

E Z Y-t 18 = 479
E 20
2 16

12
El

4

);'_Oi,,;7.5 185 195 205 215 235 235 245 X

. Fe (a5 - i)

3l 6.5
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aEd 6.5
1. ETefiet Sy e e geie S Sc fora.

Ty TETT
X378 :1 5t = 1070
Y -3781 ; 1 9} =10 fereareff
i (65, 60)
50
E i
30
20
10
N, >
X! 20 30 40 50 60 70 80 90 100y
VY'
o
3l 6.6
(1) STt ST Tereseff shivrean semiq 31m&a ?
(2) S TRERAT AU & forg.
(3) 50 Tore=meff g srEu=n aui=n 7e fohdt ?

(4) TgeT 85 STFUIT=AT it WieTe! = SFmieT forgl.
(5) 80-90 7T firesauTR fergmmeft feneft ?

2. Geie AmiETd! IREaRdl Sgy HIel.
EISACKRERD)) 0-200 | 200-400 | 400-600 | 600-800 | 800-1000
Fed 240 300 450 350 160
3. Wehl qHI&=AT FHenTarT=a SohhaTiiel a7 STTIUT o1 i STEOTH] foresneff e wreftar arvfia
Taett o1Tg. 31 ARufee IRaRAT S84 el

et (e=p) | 30-40| 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
Trezmeff g 7 33 45 65 47 18 5
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Al SAcamed A9 e 9 foge o1 fowamed @refia o1eie difeel 3TTed. 3T8m STl

JedleliE FEUTdTd.

= M
S
29% 21%
78%
TRGSH

geeftadial S o droft = ST gadie fafaa sewm ymmor
FATRAl 6.7

[ gawer@ (Pie diagram) |

JedTei@rd Hifeash Fml |90 Jedrd Fguse aqald
Tegett S, Amfidiel ITTeTeS Tesh YHTUEEY ddeduTehesIil
[RIGRAE NG ERIGH

IRl 6.8 TE ddedehg O T agesr=al OA I OB =
s A,

ZAOB Bl $g &H 3.

O-AXB & BMIfhd W TEUNNE aqeuTshed! (sector of a
circle) 3Tg.
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AU oS

(Eﬁnﬁ@ﬁaﬁﬁ Reading of Pie diagram )
Frarcrarae gfeanas wfed M frosd, & wrefia seETE W .

e 10 i 120 AT ‘qE=n SAaEsdl
W& ®uEr, ' T foemen. e

Hifgd JedTor@™ eiael! 3TTs.

HIVAT T3 Taih AL 3T ?
fopdlt zdeh g WI-WI TEEal ?
HESE! AFSUR Yol fohell e ?
JTEREAT JH= el STIATAT Tehl GECEUT a1 Jedlor@reas fHesdrd.

AUE T Jedler@ ITal.

HETAT AT Jedleld Tehl a3
it SRIfESHET R, A JadcEEEd
JIATAT T FHIA, <hl

° 45% TFHY ANk AiETEE! TET ITat
AT

® 35% TahH WAl HIGAHIe! caad 33,

° 10% T WoHdAT HIGAEe! dact 7.

° 10% T JAME0T EUER! daciel IR,

3T bR JedTer@lqd STl Tehl gfeeadTa wited! firesd.
AT ATV Jearer@r= AT Aifgdl B,

3% 93] Jearor@igan feorelt fafay Jerme difad! A0 Jeauarqd aredl, S oy
eI, Atferfues Taerinefier fafay <o i, <= U9 Il HEr 9 STdl HET 3.

TITETS] ST ATl Sheft LRI 7 IETe0Tee FHs 5.
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AT ISR :

Th! FAUITT THToIe! hRIeTe Saii= arfe] WTee Jedlel@nd qradel! 318, ST 3edTe &
hIRIT T STt 4500 STAA T Ietet TeAT= eak feral.

(i) 9 &ATCiIeT TeRUT ShiRIcheTel Sekit fehdl!

TR ?
(i) STg™ &Aa HRIFIA A
TG0 [\ 72" e el 7
é' (iii) St SETelier SrRiHeTe e feohet ?
(iv) 3cUed o e ST e

3Tt 6.11 e 141 FEATA T BLeh fehdl ?
IRl : (i) TESIT, T &Tciel TehvT ShRIHITe SaRii< TE x 3778,

S X SIS el i = 360°

: . IcqTed ST Il Sekdl
JEG TS PriEe SENEEE A = X 360
TRV el
4500
90 = X 360
X
S.ox = 18000
. T ST SRS ST = 18000.
(i) STEehTH SFATETS! Sheld shid 72° TRITAT T8,
TTHH ST Tt
72 = X 360
18000
. ST ST SR = 72);16%000
= 3600
(iii) et &S hgld B = 24° TR,
ST et
24 = kil - — % 360
TRUT ShIRAHRIS S|
ST STkl
24 = w X 360
18000
;. F ST SR = 24);16%000
= 1200

upapapapapapapapapapapapapa): S S B S L S U DS S S DL



(iv) ICITEH o STERT AT &IATAI he[d T Bleh = 90° - 72° = 18°.
e . _ T &l SR e HEATdiel hich
o Gl enldldid hlen = QEEUT f &’Fﬁ‘ﬁ

- 18000

X 360

18 X 360

18x18000
360

= 900

SCATCH o ST AT &I HeTel ekl o] AT Bieh =

ELw ey
| ® e SeE.

o gmfidial T Tesh ar=asft fmfed adeuThaia raaia ST,

TJSUTRA=AT el BT WY 1 [fme Tehrdial Aigi=an TE=an 90 379,
frfea eeshrdiar @
i e (0) = —

TRV THIATA &

UTehasTd faWTSH helel 379,

(Eﬁl'lﬁ'@ @1eut (To draw Pie diagram) )
HIETeH] JealehaTa® HIfed! hefl =T g ST Tfgel. ST Jedioid el Hedwd, d 918,

X 360

1. JeaTeRg SHISdHT HqUl aqesr= ool SHIvEEY aqcqTehedaIid Hidld.

2. Y TEhTI HETUd TqeaUTehas <A1 Shyld ShiTe U Weiiel FAT hiedTd.

: T THIATA T
mé@aﬁqﬁmezﬁ o a——— X 360

T 39 I3 i, AT Siae Heeh SATed daee dqBUTehes=Id aqedTel TorHTSH shidTd.

FedTer@ HIEUATH! el @I SEETIT TS o,
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B A arsaeet @ 4.5,
391, (1) Th1 GHMIA GaTehi=al BRAHIS] T T8l @IS0l Jidl. & Hiigd! Jedrera
TIUITHTS! Tcieh Teeh CITUITT T(BUThes AT hgl¥ hi-T= WY 3.

3heA gaﬁ%ﬁ T AU 36 SAR.AMHB [ 47 el mm
10 gtucbl qTe=aT =T 37T&d.
TG SR SO TSRS | iy 10 10 .
e T T 2¢ X 360= 100
_ e g il T 360 | T ? 2 %360 = 90°
GeITehIl TeRUT HEAT 36
10 fat 6 60°
% X 360 =100
AGEOE TR TTeAT  gErhiel g | T 7 70°
qJBUThBATA el M T g
Hrfia gefeet 3. IS 4 40°
Tl 36 360°
3a1 (2) TR TaTd fafay T g gV dSTqEsT Wielidl Rofia geiael 3Tg I Hifgd =
ARG FIET.
T HREH = T ThH | wEE | 3=
(TR wh) 24 14 7 5 6 4

IheT : TR SYLEST 60 AR Teheh TR, TATTEA Sha ¥ ShiHT= HIY higd HROd rREd,

SISqEal | T e AT T
PREM | 241 24 260 = 144°
60
L R B
A3 ! 7 % 360 = 42°
60
P > 2 %360 = 30°
60
Frater 6
6 — X 360 = 36°
60
I 4 4 o
5 X 360 =24
LGl 60 360°

Tl 6.12

=papappapapapapapapapapapab 162 eEQE GG




dedleiid epleVdl=dl Y=l :
(1) JH AT THE GRETCATIHTU Tqed hIgH Ush 3T hi@eil. Tl TRV Shigd Hacied shard

ST HTUTSAT Ijc3qTehes=Tl UshIITSIITS Ueh (144°,84°, 42°, 30°, 36°, F 24°) ATswrol
TSATSTA] HhIceT=1 fe¥H HIeedl. (ScsUTehes=I TehTe {3 ThTge Teh HIGdHT T 5hH

SeAdT ail Trerd. )

(2) Tcdh UTehadid Geferd BIgeh Alcad.

?«ﬁ :
T FheaT= fafae STefien oM AT @ Goiel 3717, e hald SiFTE! HIY shigd el
<hlel.

Tafasy st FIGAGRCE] helF ST AT
40
I~ 40 00 X 360 =
EXES 20 X -
TS 15 X -
freqor 20 X -
S’ﬂ'{@?f 05 X =
TR 100 360°
TEEd 6.6
1. U1 TagH fRTerTa fafae sRmrerdia 200 SR shefct WhRIGH oot 3117, e Jedlerd el
AT (a¥) 20-25 25-30 30-35 35-40
ST G 80 60 35 25
2. U faeaneata fafay fawera 100 At fresacial 7o foet o1mea. & wifedt geareraTean graa.
o EUEIl EREl IERIE] forg | . o Ll
o 50 70 80 90 60 50
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3. &IV HRIFHATTIA ATedd e SHTRTeE AT (oeaei- Arecied ST T& @reid
refid feerel! 3118, 21 ATfd! Jearerarean grEe.
gl S 6 ot 7+l 8 <l 9+l 10 <t
SIS e | 40 50 75 50 70 75
4. T B3 [dIhcaTehs 3Tete fafae wearean AnTofi=ht zaehar! @iefie arvftd foeft o117, 2 anfeedt=n
AT HIET.
AU Taharl 30 15 25 20 10

5. TerT AT fafay SATaTReRE SHIV SREU Jedler@ SThdl 6.13 92 oo o1me. e
QT T 3ok fora.

(1) TRV SEEIRERET F@ 10000
FFTE FTUhM ST o] TR
MEA?  (2) IITEH & fehefl samereR
SR HTed ? (3) IcdTeH & fehel] eareh
SHEETRI 3Ted ?

6. Teh1 FHgaT=al dTfYeh TaaU[ehi=l Fearci@
el AhdId I 3R, e Jéid
TRATET 3ok TergT.

(1) 3L Taeiel! TR &, 2000
ST TVl Taavfeh fehet ?

(2) Siehciet Sefi=it Tohn foheft ?

(3) TSI HeTUET TTE HIeHedd
Tert ToeRm ST Taaet! ?

(4) TRETAe e foheft 7

HehIUT TYEIE 6
1. SEIATRA T Ik feerean T shyd forat.
(1) forfore wrmTeT=an ek WA aR S Tehul JedTer@Td GRIaTIel 31T O - T&RITE ST

a1 40% ™ O - TS STEUTT KN HTS] FeaTeGTd [l higid i Tohel! STaT 7

(A) 114° (B) 140° (C) 104° (D) 144°
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(2) SAR = STgRME fafay @9 gaaciaraR graad 19T, e @< 75° =1 SgE
P GrEad 3R, FaHA @4 %. 45,000 THCATH, AR T ST ThHUT @ fohd!

T ?
(A) 2,16,000 (B) 3,60,000 (C) 4,50,000 (D) 7,50,000
(3) affehd IRETAT GRUidIe Sfed aRamd=T ST . . . . . HTGUATHTS! Bl
(A) 7 (B) HEweh (C) sgash (D) Ima<ht g
- : . . _ 2fiu,
(4) Ffiehd TSR YR YL HET ShIQUATETS=AT Jeidd g1 X = A + Xg
Ry = 2f,
X + A X, - A A - X,
(A) (B)  (x,-A) (C) (D)
e (feprfh) 12-14 14-16 16-18 18-20
FHIH & 11 12 20 7
il ATt ST Tfdefiet sheien STate Hedsh . . . . . 7 T TR,
(A) 12-14 (B) 14-16 (C) 16-18 (D) 18-20
(6) Ty gy areetet e 1-3 4-6 7-9 10-12
et g 7 8 6 4

T IREAT ARvfidiel ATfiaTd! aRarar sgys el 371, 4-6 J1 e faeemeff
(A) (4,8)0 (B) (3, 5) (C) (s, 8) (D) (8, 4)
2. UehT ZIET=AT HIFHTd SFTSAGRAT  He3Toied Icq=Td! avfiehd IRaRal IOl @ref! feelt 3173,

TS 3T HEY hlal.

I~ 20-30 30-40 40-50 50-60 60-70 70-80
(TR 393
EIRIER ALY 10 11 15 16 18 14
3. @Tefte Frffehd SHETAT HRUfi TehT Sfeh IdqesTaTa! IucTed] e foeiel ot foot 31T, T Sk

oo =T IET e

o (IR 39) 40-50 50-60 60-70 70-80 80-90
ST G& T 13 20 24 36 7
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4. TR SHIETATAA 120 SHITRISAT SATSSHT=A1 W= sFfiehd STReRdl foraor §roft @reft feeft
3TTR. AT ShIHTRIAT STSaSaT=AT W= e hiel.

ISR T | 0-2000 2000-4000 4000-6000 6000-8000
(F1)
ST G 15 35 50 20
5. WTeiel afiha SRETAT IROA 50 TERAT=A1 s feoieal Hed = hA feell 3118, wmasd
HEd AT ThHEHT AL Q.

Hedi= A (BN &) | 50-60 | 60-70 | 70-80 | 80-90 | 90-100

ST T&T 7 13 20 6 4

6. @Tefd afiehd IRATAT AU HTaST-eh a8 Ha=aT 250 SHE Tl fadTd haerel I feal
IAT]. TATIEA Ueh! fadTd ShTdeied 3Tl HEdeh el

AR (Fpaarie) [ 200-210|210-220 | 220-230| 230-240 | 240-250
= G 40 60 80 50 20

7. Teh! SRA T fafay seqzan fopmdt @ s wrmft ar=h sefiehd aRaRar |l feeft

AR, AT TRHd =T HEh hial.

forua () 20T HHT | 20-40 | 40-60 | 60-80 | 80-100
T F& 140 100 80 60 20

8. @refiel afieh SRATAT forawT WRufid Ueht fHaTs=a gt fofae asmrean fHars=h Al
faeft 3TR. wITaE ISt AT gk el

ﬁaé%am(ﬁn) 0-250 250-500 | 500-750 [ 750-1000 | 1000-1250
IR 10 60 25 20 15

9, Wl IRARAT fIauuETd! STRIdTeRE Hier.

EIECIE 50-70 70-90 90-110 | 110-130 | 130-150 | 150-170

'(gﬁz)

Fear & | 150 400 460 540 600 350
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10. T BTAHTT SHRETATA HUH] Teh HTES! SHAUATE AT feae STTOT ASTr=N §e&d A=t avfiehd
ArERar aroft feeft 2mg. a1 armfierdt arard S5y« Hiel.

| 8-10 10-12 12-14 | 14-16 | 16-18 | 18-20
TR e 5 16 30 40 35 14

11. o1 aTidTel foreimeai=T fasT= SRIRT ShivaTare! AnTeiea debe afiehd TRaTdl foraer |ruft
foeft g, o1 AT ETet STEATeE i IRARAT S5 hIal.

TANTEES ARTAAT 93 | 20-22 | 22-24 | 24-26 | 26-28 | 28-30 | 30-32

(fufae)
Toreneat=h = 8 16 22 18 14 12
12. @i afiehd IRERAT GROMHIS! TRATAT S84 FIEl.
eI 9h | 20-24 25-29 30-34 35-39 40-44 45-49
(a¥)
TadercaT= 38 46 35 24 15 12
ESEC||

13. Qelld IR0 150 TaTdie aredr= arfyeh St foef 3178, el aRaidl 984S FIel.
quEd urHd 0-20 20-40 40-60 60-80 80-100

(HfeHe)
e §ew | 14 12 36 48 40

14. Gh1AT 84 10 ITAdd IaUd Il TehT Hehld el
Rrceed e s fafag g
T AAAH IS Fearerand feeft
TR

(1) A% ThR=IT ATEATESAT held

1T WY HIGT.
(2) gEmhi=h TEAT 1200 FHATE A=
ot Fe febeft 7 STFN 6.15
15. Wrefiel qereard e i=uguur fHior o weeh foet 31Ted. 1! gedieid el
CICEar Eerdl fomm 3gem e RKERIRIERI
10% 50% 9% 20% 11%
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16. TehT HA&TUTTcH e WMot foeeneat=h fafau e
TS SATUIVATETS! Shetedl AU HeaTerett
! IR Fearer@rd graeet 3. TR
Torgemeff @& 1000 318,

(1) Torene aTrargum foresmeff fendt 7
(2) pedtel 31 Wes Tohel forgemeatT tmagar ?
(3) 311 W1 qaet Qo feremmeff femeft 7

FATRdT 6.16

17. Woh! Tl 3T <heTd 180 fermm=ht quranft geft. @ndier 50 form fearensi it g,

10 ferm Ardifeigen 54 ghar, 25 ferm waear fowr gld. e e FRf g, &

ATt SISV TedTei@ el

18. SShTOTT=aT JehedTd Ushl SMedd ol fere=meat-t uarierur feanfafied 120 =me wreedl. cam=h wifgd

wrefier arofid feeft o & mizdt gxiaum gearer #er.

e T F gl 3T s Hghe
TS T 20 28 24 22 26
|' .. ::::ﬂ"
oo | B

= o -
415428
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ENICRll

1. 3 AT T THR0!
e 1.1

2. (1)(2,4) (2) (3,1) (3)(6,1) (4)(5,2)
(5)(-1,1)  (6)(1,3) (7)(3,2) (8)(7,3)
TaEd 1.2
1. (1) (2)
X 3 -2 0 X 4 -1 0
Y 0 S 3 Y 0 -5 -4
(x, )| (3,0) | (-2,5)] (0, 3) (x,y) | (4,0) ] (-1,-5) [ (0,-4)
2. (1)(s, 1) (2) (4,1) (3)(3,-3) (4)(-1,-5) (5)(1,2.5) (6)(8,4)
TaEd 1.3
32
1. ‘4 5‘:3>< 5 (-2 |x4=|15|-8 =|7

2. (1)-18 (2)21 (3)—§

3. (H@,-1) @2)-2,4 3)@3E,-2) @(@,6) (56,5 (6) (g, i)

TEaEd 1.4
1
L ()G, 1) (2)(3,2) (3)(3,—2) (4) (1, 1)
wEEd 1.5
1. IG5 3007 2 2.X=12,y = 8 &A% = 640 <. Teheh, TR = 112 Teheh
3. gar™ad 15 9y, afsar a7 40 98 4.%
5. A=30fRH,B=55fR0 6. 150 foprft.
GehIUT T9EIE 1
1. (1)B(2)AB)D4)C(5) A
2.
3
X -5 =
13
y 3 0
13 3
EY (=5, (5,0
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3. (1)(5,2) (2) (-2, -1) (3) (0, 5) (4)(2,4) (5)(3,1)

4. (1)22(2)-1(3)13

2 1 1 7 116
5. (D(=3,2) (2)(1,4) (3)(5,-3) (7,33 (5)(2,6)
6. (1) (6,-4) (2)(-5,-1) (3) (1, 2) (4) (1, 1) (5) (2, 1)

7. (2) =@ e T300 Ui T (5) A HIETRET TSR 450 &.
TG € T 40 Hfet forad. TS HIHTRIET TSR 270 3.
(3) 2100 =T rer=h T 20 (6) gHig= = 50 TRt /A
50 =1 A= JE& 1T 10 SrEhET AT 40 femrft /am
(4) T TSt 99 23 9
gfadra 1T 93 § a9
2. FEHIRTOL
e 2.1

1. m*+5m+3=0, y'-3 =0 (JERE! HIVKIE)

2. (1), (2), (4), (5) & artaHteR T,

3. (1)y*+2y-10=0, a=1,b=2, c=-10
(2)x*-4x-2=0, a=1,b=-4,c=-2
3)x’+4x+3=0, a=1,b=4, c=3
(Am*+0m+9=0,a=1,b=0, c=9
(S)yep*+3p+5=0,a=6,b=3,c=5
(6)X*+0x-22=0, a—lb 0, ¢c=-22

4. (1) 19, -1 (2) an%zinﬁ

5. k=3 6 K= 7
wqaEd 2.2
1.(1)9,6  (2)-5,4 <3>-13 2 @s, -3
®33 ©5 T O

D | W

(9)25,-1  (10) -3, (11)0,3  (12) ~iT, Vi1
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1. (1) 4,-5 (2) (V6 -1), (=6 -1)  (3)

o N i B =

N =

=papapapapapapapapapapapapaps SO D R

@) 5,7 (5)-3. -

e« 2.3
JI3+5 /1345
2 72
2439 22439
9

5 5

\/§+2 —\/§+2

N | D

(6)
e 2.4

(1)1,-7,5(2)2,-5,5(3)1,-7,0
34417 3-\17 14422 -1-422
(1)_17_5(2) 2 ’ 2 (3) 3 ’ 3

24414 2-+14 (5) —1+6\/%, —1—6\/5 (6)_1,_2

(4) ——» "

-V3,-43
TTEH 2.5

(1) 5 TEAHT Yeb =1 aTeda T&AT 3174, , — 5 AT Y3 Iread & T8,

3
(2)X*+7x+5=0 (3)0‘+B=2’0C><l3=-5
(1) 53 (2) -55(3) 0

(1) 97%&qd 9 99M. (2) 9T&dd 9 TEHM. (3) aTEde &A1 ATEId.
()x*-4x=0 (2)x*+7x -30=0

1
(3)x2—Z= (4)x*-4x-1=0

k=3 6.(1) 18 (2) 50
(Dk=12fFark=-12(2)k=6

EEd 2.6

99y 2.10912 3. IXIT TG 10 9 38T T 15.
ToReN= 31Te= 9 10 99 9 fogerd 3Te= 99 15 98

10 U1 6. WTST= TE&AT 6 3 Ycdeh WiedTe (i e 100 T,

6 Teret /ama 8. Terem 6 Tea® & figa 12 feag.
qTsTeh = 9, MR = 51 10. AB = 73}, CD = 15 @i, AD = BC = 5 §#ft.

HhIut IPIEE 2
(1)B(2)A(3)C(4)B(5)B(6)D(7)C(8)C
(1) = (3) SEraHTRT 3TTEd.



3. (1)-15(2)1(3)21

4. k=3 5.()Xx*-100=0(2)x*-2x-44=03)x*-7x =0
6. (1)Iqa g&ATTEE.  (2) 9rdd 9 TEHM. (3) aTEqe 9 gHH.
oy L R G Ly, -

(4) _SZ\E, S5-V5 (5) Heb arad e e, (6) (2 + V7)), (2-7)

8. m=14 9.x—5x+6—0 10. x* - 4pgx - (p* - q*)* =0
11. AWRSEe 100 93 9 gohesiaes 150 T,

12. 12 3Tfor/24 fha 12 amfor - 24 13. faeameat=h @& 60
14. &d 45 1. @7l 100 Y, Sradesar 991 15 H.

15. HigdT FSMES! 3 T8 9 &M FSHES! 6 AT,

3. TSRO St
WEEd 3.1

1. (1)3mg,d=2 (2)311%.61’:% (3) 312, d = 4 (4) L.
(5)3TR, d = -4 (6) 318, d = 0 (7)em8,d=+2  (8)¥m,d=35

2. (1)10,15,20,25,...  (2)-3,-3,-3,-3,... (3)-7,-6.5,-6,-5.5, ..
(4) -1.25,1.75, 4.75, 7.75, . . .(5) 6, 3,0, -3 . .. (6) =19, =23, =27, -31

3. (Da=5.d=-4 (2)a=06,d=03 (3)a:127,d:8(4)a:%,d:%

TaEd 3.2
1. (1)d=7 2)d=3 3)a=-3,d=-5 (4)a=70,d=-
2. 3IMR. 121 3.104 4.115 5. -121 6. 180
7. 55 8.55d 9. 60 10. 1

TaEd 3.3
. 1215 2.15252  3.30450 5. 5040
5. 2380 6. 60 7.4,9,14 fhar 14, 9, 4 8.-3,1,5,9

TEE 3.4
1. 70455%03 2. Ut g 1000 93, Jeed gl 560 T3, 3.1,92,000 393
4. 48,1242 5. -20°, -25°,-30°,-35°,-40°,-45° 6. 325

HhIUT I9TEE 3

1. (1)B(2)C@B)BM4)D5)B((6)C(7)C(8)A(9)A(10)B
2. 40 3.1,6,11,... 4.-195 5.16, -21 6. -1 7.6, 10
8. 8 9. 67,69, 71 10.3, 7, 11, ..... 147. 14. 2000 F93.
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»

1.
2. Y foe 28,800 %. HSwES 3150 . THSITEST 3150 ®.

4. st

e 4.1
CGST 6%, SGST 6% 2. SGST 9%, GST 18%
CGSTRX 7849 SGSTX 784
I e TTEehTelT 691.48 FTAMT fHeda.
WosUATd Il S shiars fehra T 1500 et CGST ¥ 135 SGST 135
(1) SGST =M< 14% (2) wHIaad GST =&t 28%
(3) TE=H s fRua 40,000 . (4) GST =t Tt ek 11,200 %.
(5) CGST 5600 =. (6) SGST 5600 %.
THIeAl o o WefH 48,640 w1 fHesd 9 fewmer CGST 5320 %

SGST 5320 =.

TEEd 4.2
AT LISFHAT 22,000 . T SATHS 3TTR.
T AT 12,500 = $TE o shise firedar. e < Sfiwgdt T 2250.
ST TreTTSee & SUES! 300 %. AT Shgel < L 150 &, o TIT= ¢ L 150 &.
TR STCEET ¢ SHTES 400 %. AT shgr ¢ L 200 &. T TATET ¢ L 200°%.
o SfwEdt % 100, CGST % 50, UTGST R 50. 5. CGST = SGST =% 900

aEd 4.3
(1) STSRATE 100 ¥9¥ (2) @il fohmd 75 &9 (3) 1aved 5 &9,
25% 3. 37,040 39 4. 800 31"
AT X 5.83% 6. U A TefTe TaaUh BRICR 37Tz,

A 4.4

200.60 T

2. 999 77

ST
TSRS

ST
&

QTE=
Torma

TATATET
W0.2%

TATATR
CGST 9%

TATAT
SGST 9%

ST TR
fehmra

100 B| 45

%4500

X9

X 0.81

X 0.81

% 4510.62

75 S| %200

15000

X 30

X2.70

X2.70

X14964.60

100 21374 forepat.

5. dIeT 8560 T,

TEhIUT TPTEIE 4A
(1)C(2)B(3)D(4)B(5)A(6)B
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3. T997.50 4. 12,500 5. T 4250 ITCTT R T 250

6. ITCZ 1550 shemm st T 5030, <F THSITEST 5030 T9.

7. T fohAd 3 75,000, g L T 4500, TSI L T 4500

8.(1) 3Th SATITT=AT e STehTd HISTEN 16200 T ; THSITEST 16200 9.
feRtenTes STAT=IT=AT ShisfsrehTa HSUddt 19,800 9 ; TESITAS 19,800 .

(2) 3T =ATIRY: g L (CGST) 2700 9 (SGST) 2700,

fertentes =MaRY: @ X (CGST) 3600 9 (SGST) 3600

9. (1) 3TUT YeaTHI fecie shieistentd HiSHTE T 1960, THSTES T 1960
(2) THETAT AT UTEHTE STTeherel] HSATH T 2352  THSuHd T 2352
(3) IHSTAT A=A < HISTHST T 392 F ¢ UEHSUE T 392

10.
| 2 disfiued (3) | S wEsiwEd ) | 3 SwmdR)
3IcITEH 300 300 600
forawer 360-300 =60 60 120
Rl = | 390-360 = 30 30 60
TR L 390 390 780
(2) 37dq: TTgehtd df T&q_ 7280 =M1 He3d.
(3) Icuresh o faraies B2B, fordtes q fertenies samarl B2B, feenles =  urgsh B2C
FehIvl U9TETE 4B
1. (1)B (2)B  (3)A (4) C (5) A
2. T130.39 3.22.2% 4. 21,000 &3 firadia.
5. 500 23T¢ Tiresdiat. 6. TR 1058.52 *9 7. Ol B ShIUT 9T ST,
8. 1000 9319 fiesdid. 9. 118 T
10. (1) 1,20,000 39 (2) 360 39 (3) 64.80 T (4) 120424.80 TH.
11. 1% 5%
5. AUl
WEEd 5.1
1. (1)8(2)7(3)52(4) 11
e 5.2
1. (1)S={1H, 1T, 2H, 2T, 3H, 3T, 4H, 4T, 5H, 5T, 6H, 6T}  n(S) = 12
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(2) S =123, 25, 32, 35, 52, 53} n(S) =6
2. S = {dd, 9T, I, fueest, T, i) n(S) =6
3. S = {dean, MEr, Iehar, FUaR, THaR, TR} n(S) = 6
4. ([ BB, |(2)[ 66, 13)[ BG, |[ BG, |[ BG, || BG

12 2 2

(4) S={BB,BG,BG,BG,BG,GG,}

B,BG,BG,BG,BG,GG,
W 5.3
1. (1)S={1,2,3,4,5,6} n(S) =6

A={2,4,6}n(A)=3, B={1,3,5})n(B)=3, C={2,3,5} n(C)=3

(2) S={(1,1),...,(1,6),(2,1), ...,(2,6),(3,1),...,(3,6),

(4,1),...,(4,6),(5,1),...,(56),(6,1),...,(6,6)} n(S) =236

A={(1,5)(2,4)(3,3)(4,2)(5,1)(6,6)} n(A)=6
B=1{(4,6)(5,5)(5,6) (6,4) (6,5) (6,6)} n(B)=6
C={(1,1)(2,2)(3,3) (4,4)(5,5)(6,6)} n(C)=6

(3) S = {HHH, HHT, HTT, HTH, THT, TTH, THH, TTT} n(S) = 8
A = {HHH, HHT, HTH, THH} n(A) =4
B=A{TTT} n(B) =1
C = {HHH, HHT, THH} n(C)=3

(4) S ={10, 12, 13, 14, 15, 20, 21, 23, 24, 25, 30, 31, 32, 34, 35, 40, 41, 42, 43,
45, 50, 51, 52, 53, 54}y  n(S) =25
A = {10, 12, 14, 20, 24, 30, 32, 34, 40, 42, 50, 52, 54}  n(A) = 13
B={12, 15,21, 24, 30, 42, 45, 51, 54} n(B) =9
C={51,52,53,54} n(C)=4

(5) S = {MM, MM,, MF, MF,, MM, MF, MF, MF, MF, FF}
n(S) = 10
A={MF,MF,MF,MF,MF,MF F1Fz} n(A) =7

71 722 Y Ty 2 Y T ?
B={MF,MF,MF,MF,MF,MF} n(B)=6
C={MM,MM,MM} n(C)=3

(6) S = {H1, H2, H3, H4, H5, H6 T1, T2, T3, T4, T5, T6}  n(S) = 12
A ={H1,H3,H5} n(A)=3
B = {H2, H4, H6, T2, T4, T6} n(B) =6

C={} n(C) =0
T 5.4
3 1 1 5
L (1) 5,(2) 5 2.y @0 3) 5
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11.

14.

(1)
(5)

(1)

3.
14.

16.

1
(1) =) 3 Wi s @5

HehUT T9TEIE — 5
1 6
(DB (2)B (3)C (4)A (5A  2.9¢m=d 3.(1) 11 () 1q
5 2 1 4 1 1 1
% 5.(1) 5 (2) 3 (3) 9 6. > 7. (1) 3 (2) p
1 1 1 1 1 3
(5 @ 9. 55 10.(H)g (2)57 By @1
5 1 1 2 2 2
(1)3(2)3(3)1(4)0 12.(1)3 (2)5 (3)5 13.ﬁ
13 3 3 1 11
m 15. (D7, @7 O3 16. 3¢
6. QiR
TEE 6.1
4369F  (2)521.43%. (3)2.82 X (4) 35310 3
985 93 fehaT 987.5 T4, (6) 3070 %. fhaT 3066.67 F93.
TEEd 6.2
11.4d™ (2) 184.4 T 3Te 184 319 (3) 74.558 =~ 75981 (4) 52.75 =~ 53 fea
TEEH 6.3
4.33 et 2. 72 = 3. 9.94 &ftex 4.12.31 =
qUaEd 6.5

(1) 60-70 (2) 20-30990-100 (3)55 (4)80a90 (5)15

TEEd 6.6

(1) 2000 (2) 1000 (3) 25%
(1) 12000 T (2) 3000 T (3) 2000 9= (4) 1000 F7.

HhIvl TP 6
(D (2)A (3)B (4)C (5C (6)C
52,500 ®9 3. 65,400 39 4. 4250 T9
72,400 T9F 6. 223.13 feprft. 7. 32 70 8.397.06 U1
(1) %R - 108°, el - 43°, 78 - 29°, & - 36°, gamh! - 144°
(2) STET=I TR T - 3000
(1) foRehe STEEUM - 225, (2) FeaTd AR - 175 (3) 3T Wea JEESUR — 200.
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